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ÔþŠš×Ž˛Þ¦š 
ÔþŠš×Ž˛Þ¦š

ÔþŠš×Ž˛Þ¦š= O

N Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ =Q
NKN Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=−þČ¹ÞšÞ¦Č=ð=¹¦ýŁþÝ˛ý===K==K== Q
NKO ÌþČ¹ÞšÞ¦š=ð=¹¦ýŁþÝ˛ý= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== R

O ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš =S
OKN Ì×¦ýšÞšÞ¦š=−þ=Þ˛žÞ˛₣šÞ¦ć= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== S
OKO ‚šðÝ˛×˛¾¦Č=þ=¹þþ²Łš²¹²Ł¦¦=„Ô=K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== S
OKP Ïˇİšý=−þ¹²˛Łð¦= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== S
OKQ Òš¼Þ¦₣š¹ð¦š=¼˛×˛ð²š×¦¹²¦ð¦= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== T
OKR Ì×¦ýšÞ¦ýþ¹²ş=Þ˛¹²þČğšÐ=¦Þ¹²×³ð¾¦¦=ð=½³Þð¾¦þÞ˛ÝşÞŞý=ýþŠ³ÝČý=

Eðþý−Ýšð²³ćğ¦ýF===K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== U
OKS Ëþý−Ýšð²³ćğ¦š== K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K== U

P ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ =V
PKN ‡Şˇþ×=−×˛Ł¦ÝşÞþłþ=−þÝþŽšÞ¦Č=−×¦=ýþÞ²˛Žš==K==K==K==K==K==K==K==K==K==K==K== V

PKNKN ÍþÞ²˛Ž=Ł=×š½š×šÞ²Þþý=−þýšğšÞ¦¦=K==K==K==K==K==K==K==K==K==K==K==K==K== V
PKNKO ÍþÞ²˛Ž=Þ˛=þ²þ−¦²šÝşÞþý=ðþ²Ýš= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K NM

PKO ‡¦ŠŞ=ýþÞ²˛Ž˛==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K NM
PKP ÍþÞ²˛Ž=¦=−þŠðÝć₣šÞ¦š= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K NN
PKQ Ò¹²˛ÞþŁð˛=¦=¹ÞČ²¦š=−³Ýş²˛=³−×˛ŁÝšÞ¦Č= =K==K==K==K==K==K==K==K==K==K==K==K==K==K NP

Q Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č =NQ
QKN Ïˇžþ×=³−×˛ŁÝšÞ¦Č==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K NQ
QKO ‡ŁšŠšÞ¦š=Ł=¹š×Ł¦¹Þþš=ýšÞć===K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K NR
QKP Ïˇžþ×=ýšÞć=¹š×Ł¦¹˛=K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K NT

R ‡ðÝć₣šÞ¦š =NV
RKN Ïˇğ¦š=−×¦Þ¾¦−Ş=ŁŁþŠ˛=Ł=Ćð¹−Ý³˛²˛¾¦ć=K==K==K==K==K==K==K==K==K==K==K==K==K==K NV
RKO ‡˛ŽÞŞš=−˛×˛ýš²×Ş=ŁŁþŠ˛=Ł=Ćð¹−Ý³˛²˛¾¦ć= =K==K==K==K==K==K==K==K==K==K==K==K OM
RKP flŞ¹²×ŞÐ=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć=Eð×˛²ðþš=ýšÞćF= K==K==K==K==K==K==K==K==K==K ON
RKQ ÌþŠ×þˇÞŞÐ=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OP
RKR Ìš×šŠ˛₣˛=þˇþ×³ŠþŁ˛Þ¦Č= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OP
RKS ‡ŞŁþŠ=¦ž=Ćð¹−Ý³˛²˛¾¦¦L‡ŞðÝć₣šÞ¦š= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OQ
RKT Òð˛ž˛Þ¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦===K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OQ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>2



ÔþŠš×Ž˛Þ¦š 
S Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=³−×˛ŁÝšÞ¦Č=³¹²˛ÞþŁð˛ý¦F =OR
SKN ‚˛ÞÞŞš=³¹²˛ÞþŁð¦==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OR

SKNKN ‡¦Š=žŠ˛Þ¦Č=EŠšý−½¦×þŁ˛Þ¦š=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞF= ==K==K OS
SKNKO Í¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛= K==K==K==K==K==K==K==K==K==K==K==K OT

SKO ‚˛ÞÞŞš=ðþ²Ý˛= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OU
SKP Ì˛×˛ýš²×Ş=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛== =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K OV

SKPKN Ï−×šŠšÝšÞ¦š=−×þł×˛ýýÞþłþ=þˇš¹−š₣šÞ¦Č=ŠÝČ=−³Ýş²˛=
³−×˛ŁÝšÞ¦ČLŠ¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č= =K==K==K==K==K==K==K==K==K==K PR

SKPKO ‡¦Š=×šł³Ý¦×þŁ˛Þ¦Č=Ež˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛LŁÝ¦ČÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦F= ==K==K==K==K==K==K==K PR

SKPKP Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K PS
SKPKQ ‡¦ŠŞ=−þÞ¦ŽšÞ¦Č=EÞþ₣Þþš=−þÞ¦ŽšÞ¦šF=K==K==K==K==K==K==K==K==K==K==K==K PU
SKPKR Â˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QM

SKQ ·þ×Č₣˛Č=ŁþŠ˛= K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QO
SKR =Ì˛×˛ýš²×Ş=łšÝ¦þðþÝÝšð²þ×˛NF= ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QR
SKS Ë˛Ý¦ˇ×þŁð˛=o`PR= =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QS
SKT ËþÞ²˛ð²ÞŞš=Š˛ÞÞŞš==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QT

T ‚¦˛łÞþ¹²¦ð˛ =QU
TKN Ú³Þð¾¦þÞ˛ÝşÞŞÐ=²š¹²==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QU
TKO ÂÞ˛₣šÞ¦š=Þ˛=ýþÞ¦²þ×š====K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K QV
TKP ÔþþˇğšÞ¦š=þˇ=þĞ¦ˇðš=K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K RM
TKQ Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K RN
TKR ‡š×¹¦¦===K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K RN

U Òš¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦š =RO

V Ôˇ×þ¹ =RQ

NM Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ =RR

fiÝ½˛Ł¦²ÞŞÐ=³ð˛ž˛²šÝş= SQ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>3



Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ1 
N Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ

NKN Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=−þČ¹ÞšÞ¦Č=ð=
¹¦ýŁþÝ˛ý

ÍþÞ²˛Ž=¦=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć

‚ÝČ=þˇš¹−š₣šÞ¦Č=ˇšž³−×š₣ÞþÐ=×˛ˇþ²Ş=¹þˇÝćŠ˛Ð²š=³ð˛ž˛Þ¦Č=¦Þ¹²×³ð¾¦¦K

ÍþÞ²˛Ž=¦=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć=ŠþÝŽÞŞ=−×þŁþŠ¦²ş=²þÝşðþ=
ðŁ˛Ý¦½¦¾¦×þŁ˛ÞÞŞš=¹−š¾¦˛Ý¦¹²ŞK=

Ì×¦ýšÞšÞ¦š

Î˛¹²þČğ¦Ð=−×¦ˇþ×=¦¹−þÝşžþŁ˛²ş=²þÝşðþ=−þ=Þ˛žÞ˛₣šÞ¦ć=¦=Ł=¹þ₣š²˛Þ¦¦=¹=
−š×š₣¦¹ÝšÞÞŞý¦=¹¦¹²šý˛ý¦=×šł³Ý¦×þŁ˛Þ¦ČK

=Îš=¦¹−þÝşžþŁ˛²ş=Þ˛¹²þČğ¦Ð=−×¦ˇþ×=Ł=¹¦¹²šý˛¼=×šł³Ý¦×þŁ˛Þ¦Č=¹=
³¹²×þÐ¹²Łþý=³−×˛ŁÝšÞ¦Č=r_^�ePK

Ì×¦=ýþÞ²˛Žš=¦=×˛ˇþ²š=³¹²˛ÞþŁð¦=¹þˇÝćŠ˛Ð²š=Þ˛¾¦þÞ˛ÝşÞŞš=Þþ×ýŞ=¦=
−×˛Ł¦Ý˛>

Ì×þ₣¦²˛Ð²š=¦=¹þˇÝćŠ˛Ð²š=¹ÝšŠ³ćğ¦š=³ð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=
ˇšžþ−˛¹Þþ¹²¦=¦=−×˛Ł¦Ý˛=−þŁšŠšÞ¦ČW

Ï−˛¹Þþ¹²ş=ŠÝČ=Ž¦žÞ¦=¦ž�ž˛=ŁþžýþŽÞþłþ=−þ×˛ŽšÞ¦Č=ĆÝšð²×¦₣š¹ð¦ý=²þðþý

Ìþ×³₣¦²š=ŁŞ−þÝÞšÞ¦š=ĆÝšð²×¦₣š¹ð¦¼=−þŠðÝć₣šÞ¦Ð=²þÝşðþ=¹−š¾¦˛Ý¦¹²˛ý�
ĆÝšð²×¦ð˛ýK=ÔþˇÝćŠ˛Ð²š=¹¼šý³=¹þšŠ¦ÞšÞ¦Ð>

Ìš×šŠ=ýþÞ²˛ŽþýW=þ²ðÝć₣¦²š=−þŠ˛₣³=Þ˛−×ČŽšÞ¦Č=EOPM=‡=−š×šýK=²þð˛F=Þ˛=Ł¹š¼=
½˛ž˛¼K=Â˛ğ¦²¦²š=þ²=Þš−×šŠÞ˛ýš×šÞÞþłþ=−þŁ²þ×Þþłþ=ŁðÝć₣šÞ¦ČK

Îš=³¹²˛Þ˛ŁÝ¦Ł˛²ş=Š˛ÞÞŞÐ=−×¦ˇþ×=Łþ=ŁÝ˛ŽÞŞ¼=−þýšğšÞ¦Č¼K

Î¦=Ł=ðþšý=¹Ý³₣˛š=Þš=−þŠðÝć₣˛²ş=Þ˛¹²þČğ¦Ð=−×¦ˇþ×=ð=¹š²¦=OPM=sK=

Ì×šŠ³−×šŽŠšÞ¦šW=Â˛ýþ×þžð¦

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=ŁŞðÝć₣šÞ˛I=²þ=−×¦=þ²×¦¾˛²šÝşÞŞ¼=²šý−š×˛²³×˛¼=
þÞ˛=ýþŽš²=ž˛ý÷×žÞ³²şW

‡¹šłŠ˛=Šš×Ž¦²š=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³=ŁðÝć₣÷ÞÞþÐK

‡ðÝć₣¦²ş=ž˛ğ¦²³=þ²=ž˛ýš×ž˛Þ¦ČK

Ì×¦=ŁþžÞ¦ðÞþŁšÞ¦¦=Þš¦¹−×˛ŁÞþ¹²¦W=ÎšýšŠÝšÞÞþ=³¹²×˛Þ¦²ş=Þš¦¹−×˛ŁÞþ¹²şK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>4



Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=¦=¹¦ýŁþÝŞ1 
NKO ÌþČ¹ÞšÞ¦š=ð=¹¦ýŁþÝ˛ý

‡ŞŠšÝšÞÞþš=¹ÝþŁþ=−×šŠ³−×šŽŠ˛š²=þˇ=þ−˛¹Þþ¹²¦=¦=šš=¹²š−šÞ¦=²ČŽš¹²¦=Ł=¹Ý³₣˛š=
ÞšŁŞ−þÝÞšÞ¦Č=×šðþýšÞŠ³šýŞ¼=ýš×þ−×¦Č²¦Ð=ŠÝČ=−×šŠþ²Ł×˛ğšÞ¦Č=³ğš×ˇ˛K

– Ï¹²þ×þŽÞþ=þžÞ˛₣˛š²I=₣²þ=ŁþžýþŽÞþ=ÞšˇþÝşĞþš=−þŁ×šŽŠšÞ¦š=
þˇþ×³ŠþŁ˛Þ¦ČK

– Ì×šŠ³−×šŽŠšÞ¦š=þžÞ˛₣˛š²I=₣²þ=ŁþžýþŽÞŞ=Ýšłð¦š=²×˛ŁýŞK

– Ï−˛¹Þþ¹²ş=þžÞ˛₣˛š²I=₣²þ=ŁþžýþŽÞŞ=²ČŽšÝŞš=³Łš₣şČK=‡=þ¹þˇþ=²ČŽšÝŞ¼=
¹Ý³₣˛Č¼=¹³ğš¹²Ł³š²=³ł×þž˛=ŠÝČ=Ž¦žÞ¦K

Òð˛ž˛Þ¦Č=¹þŠš×Ž˛²=Ł˛ŽÞ³ć=¦Þ½þ×ý˛¾¦ć=ŠÝČ=²š¼=¹Ý³₣˛šŁI=ðþłŠ˛=þ²¹³²¹²Ł³š²=
³ł×þž˛=Ž¦žÞ¦=₣šÝþŁšð˛=¦Ý¦=ý˛²š×¦˛ÝşÞþłþ=³ğš×ˇ˛K

Òšð¹²þŁŞš=¹þþˇğšÞ¦Č=Þ˛=Š¦¹−ÝššW=ÌþÞČ²¦ČI=¦ýšćğ¦š=
Þš−þ¹×šŠ¹²ŁšÞÞþš=þ²ÞþĞšÞ¦š=ð=¹þþˇğšÞ¦Čý=Þ˛=Š¦¹−ÝššI=
þ²þˇ×˛Ž˛ć²¹Č=Ł=²šð¹²š=ŁŞŠšÝšÞÞŞý¦=Ž¦×ÞŞý=Ğ×¦½²þýK

Ì×¦ýš×W=Í„Î¸=ÏÌ„ÓfiÒÏÓfi

‚šÐ¹²Ł¦ČW=þ²ŠšÝşÞŞš=Ğ˛ł¦=ý˛×ð¦×³ć²¹Č=Ł=¹−¦¹ðš=¹¦ýŁþÝþý=²þ₣ð¦K==

Î˛−×¦ýš×W= Î˛Žý¦²š =ðÞþ−ð³K==

„¹Ý¦=ŠšÐ¹²Ł¦Č=¹þ¹²þČ²=¦ž=ŠŁ³¼=¦=ˇþÝšš=Ğ˛łþŁ=¦=¦¼=−þ×ČŠþð=¦ýšš²=
þ−×šŠšÝČćğšš=žÞ˛₣šÞ¦šI=þÞ¦=−×þÞ³ýš×þŁ˛ÞŞ=ENKI=OKI=KKKFK

Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦=Ł=²šð¹²š=ŁŞŠšÝšÞŞ=×˛ýðþÐ=¦=
þˇþžÞ˛₣˛ć²¹Č=−×šŠ³−×šŽŠ˛ćğ¦ý=žÞ˛ðþý=Ł=²×š³łþÝşÞ¦ðš

Òð˛ž˛Þ¦Č=Ł=²šð¹²š=þˇþžÞ˛₣˛ć²¹Č=−×¦ŁšŠšÞÞŞý=×ČŠþý=¹¦ýŁþÝþýK=ÏÞ¦=
ŁŞŠšÝČć²¹Č=Ł=²šð¹²š=łþ×¦žþÞ²˛ÝşÞŞý¦=Ý¦Þ¦Čý¦K

‚ÝČ=−×¦ýšÞšÞ¦Č=³ð˛ž˛Þ¦Ð=¦Þ¹²×³ð¾¦¦W=Ł=łÝ˛Łš QKO=?‡ŁšŠšÞ¦š=Ł=
ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č?=−þŠ×þˇÞþ=þ−¦¹˛ÞŞ=Ğ˛ł¦=³−×˛ŁÝšÞ¦ČI=¹=−þýþğşć=
ðþ²þ×Ş¼=‡Ş=ýþŽš²š=−×¦ýšÞ¦²ş=ÝćˇŞš=³¹²˛ÞþŁð¦=Ł=ýšÞć=þˇ¹Ý³ŽK
‡=¹ÝšŠ³ćğ¦¼=×˛žŠšÝ˛¼=¹þŠš×Ž¦²¹Č=ð×˛²ðþš=þ−¦¹˛Þ¦š=³−×˛ŁÝšÞ¦ČK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>5



ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš2 
O ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš

OKN Ì×¦ýšÞšÞ¦š=−þ=Þ˛žÞ˛₣šÞ¦ć

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=ýþŽš²=ˇŞ²ş=¦¹−þÝşžþŁ˛Þ=¦¹ðÝć₣¦²šÝşÞþ=ŠÝČ=²þłþI=
₣²þˇŞ=þˇ¹Ý³Ž¦Ł˛²ş=þ²þ−¦²šÝşÞŞš=³¹²˛ÞþŁð¦=½¦×ýŞ=_ìÇÉêìë=Ł=þŠÞþ�=¦=
ýÞþłþðŁ˛×²¦×ÞŞ¼=Šþý˛¼=¦=³−×˛ŁÝČ²ş=¦ý¦K

Ï²þ−¦²šÝşÞŞÐ=ðþ²÷Ý=ŠþÝŽšÞ=ˇŞ²ş=þˇþ×³ŠþŁ˛Þ=bjp=EbåÉêÖáÉ�j~å~ÖÉãÉåí�
póëíÉã=�=¹¦¹²šýþÐ=³−×˛ŁÝšÞ¦Č=ĆÞš×ł¦šÐF=¦Ý¦=r_^NKñ=E³Þ¦Łš×¹˛ÝşÞŞý=
þˇþł×šŁ˛²šÝşÞŞý=˛Ł²þý˛²þýFKK=

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=ÞšÝşžČ=¦¹−þÝşžþŁ˛²ş=Łýš¹²š=¹=¹¦¹²šý˛ý¦=³−×˛ŁÝšÞ¦Č=
içÖ~ã~íáÅ=OMMMLPMMMLQMMMK

ÍŞ=×šðþýšÞŠ³šý=¦¹−þÝşžþŁ˛²ş=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³=Ł¹šłŠ˛=¹=−³Ýş²þý=
³−×˛ŁÝšÞ¦Č=Eˇšž=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=ŁþžýþŽÞ˛=Ćð¹−Ý³˛²˛¾¦Č=²þÝşðþ=Ł=
₣×šžŁŞ₣˛ÐÞþý=×šŽ¦ýšFK

Ì×¦=¦¹−þÝşžþŁ˛Þ¦¦=ýþŠ³ÝšÐ=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č=o`OMI=¦žłþ²þŁÝšÞÞŞ¼=
Šþ=OMMR=łþŠ˛=ŁðÝć₣¦²šÝşÞþI=ýþŽÞþ=−þŠðÝć₣¦²ş=²þÝşðþ=ŠŁ˛=ýþŠ³ÝČK=Ì×¦=
ŁþžÞ¦ðÞþŁšÞ¦¦=Łþ−×þ¹þŁ=−þ=Ć²þý³=−þŁþŠ³=þˇ×˛ğ˛Ð²š¹ş=Ł=ýš¹²Þþš=
−×šŠ¹²˛Ł¦²šÝş¹²Łþ=½¦×ýŞ=_ìÇÉêìëK

OKO ‚šðÝ˛×˛¾¦Č=þ=¹þþ²Łš²¹²Ł¦¦=„Ô

OKP Ïˇİšý=−þ¹²˛Łð¦

– Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR

– ÊÞ¹²×³ð¾¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦

– ÊÞ¹²×³ð¾¦Č=−þ=ýþÞ²˛Ž³=¦=¹š×Ł¦¹Þþý³=þˇ¹Ý³Ž¦Ł˛Þ¦ć

– Î˛¹²šÞÞŞÐ=Šš×Ž˛²šÝşI=ð×š−÷ŽÞŞÐ=ý˛²š×¦˛Ý

˚²þ=þˇþ×³ŠþŁ˛Þ¦š=−þ=¹ŁþšÐ=ðþÞ¹²×³ð¾¦¦=¦=×˛ˇþ₣¦ý=
¼˛×˛ð²š×¦¹²¦ð˛ý=¹þþ²Łš²¹²Ł³š²=šŁ×þ−šÐ¹ð¦ý=Þþ×ý˛ý=¦=
Šþ−þÝÞ¦²šÝşÞŞý=Þ˛¾¦þÞ˛ÝşÞŞý=²×šˇþŁ˛Þ¦ČýK=Ôþþ²Łš²¹²Ł¦š=
−þŠ²Łš×ŽŠšÞþ=žÞ˛ðþý=`bK=‚šðÝ˛×˛¾¦ć=þ=¹þþ²Łš²¹²Ł¦¦=
þˇþ×³ŠþŁ˛Þ¦Č=ýþŽÞþ=Þ˛Ð²¦=Ł=ÊÞ²š×Þš²š=−þ=˛Š×š¹³=ïïïKÄìÇÉêìëKÇÉL
âçåÑç=˛=²˛ðŽš=ýþŽÞþ=−þÝ³₣¦²ş=Ł=½¦Ý¦˛Ý˛¼=½¦×ýŞ=fl³Šš×³¹K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>6



ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš2 
OKQ Òš¼Þ¦₣š¹ð¦š=¼˛×˛ð²š×¦¹²¦ð¦

Û˛×˛ð²š×¦¹²¦ð¦=²šý−š×˛²³×Þþłþ=Š˛²₣¦ð˛
Ì×¦=¦žýš×šÞ¦¦=¹=−þýþğşć=²šý−š×˛²³×ÞŞ¼=Š˛²₣¦ðþŁ=³₣²¦²š=¹ÝšŠ³ćğ¦š=
³¹ÝþŁ¦ČW

– Ìš×šŠ=¦žýš×šÞ¦šý=þˇš¹²þ₣¦²ş=³¹²˛ÞþŁð³K

– Êžýš×¦²ş=¹þ−×þ²¦ŁÝšÞ¦š=Þ˛=ðþÞ¾˛¼=ð˛ˇšÝČK

– ÂÞ˛₣šÞ¦Č=¹þ−×þ²¦ŁÝšÞ¦Č=−×šŠ¹²˛ŁÝČć²=¹þˇþÐ=¹×šŠÞ¦š=žÞ˛₣šÞ¦Č=¦=
−×¦ýšÞ¦ýŞ=¹=þ−×šŠšÝ÷ÞÞþÐ=−þł×šĞÞþ¹²şćK

„ŠK=¦žý o`PR

Ì¦²˛ćğšš=Þ˛−×ČŽšÞ¦š=₣š×šž=¹¦¹²šý³=Ğ¦Þ s NS=‡=−þ¹²K=²þð˛

Ìþ²×šˇÝČšý˛Č=ýþğÞþ¹²ş t MIP

Ìþ²×šˇÝČšý˛Č=ýþğÞþ¹²ş=¹=½þÞþŁŞý=
þ¹ŁšğšÞ¦šý

t MIS

Ó˛žýš×Ş=EĞ¦×¦Þ˛LŁŞ¹þ²˛LłÝ³ˇ¦Þ˛F ýý NRMLVMLPO

‡š¹ ł OPP

Ó˛ˇþ₣˛Č=²šý−š×˛²³×˛ Œ` þ²=M=Šþ=HRM

Òšý−š×˛²³×˛=¼×˛ÞšÞ¦Č Œ` þ²=M=Šþ=HTM

Ï²Þþ¹¦²šÝşÞ˛Č=ŁÝ˛ŽÞþ¹²ş=ŁþžŠ³¼˛ B þ²=M=Šþ=VM

ÂÞ˛ð�`b

Ò˛ˇK=N Òš¼Þ¦₣š¹ð¦š=¼˛×˛ð²š×¦¹²¦ð¦=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=o`PR

‚˛²₣¦ð=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×Ş

‚˛²₣¦ð=²šý−š×˛²³×Ş=ðþ²Ý˛=¦=−þŠ˛ćğšÐ=Ý¦Þ¦¦

Š˛²₣¦ð=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ

Œ` âΩ Œ` âΩ Œ` âΩ
-OM VSKPRU NM NVKUTO SM OKQVM

-NR TOKRNM NS NRKSVV SR OKMUQ

-NM RRKMRQ OM NOKQUU TM NKTRP

-R QOKNSO OR NMKMMN TR NKQUN

œM POKRRS PM UKMSM UM NKORS

R ORKPPV PR SKRPR UR NKMTM

NM NVKUTO QM RKPPN VM MKVNR

NR NRKSVV QR QKPTO VR MKTUS

OM NOKQUU RM PKSMS NMM MKSTT

OR NMKMMN RR OKVUV

PM UKMSM

Ò˛ˇK=O ÂÞ˛₣šÞ¦Č=¹þ−×þ²¦ŁÝšÞ¦Č=²šý−š×˛²³×ÞŞ¼=Š˛²₣¦ðþŁ=²þÝşðþ=ŠÝČ=bjp
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>7



ÊÞ½þ×ý˛¾¦Č=þ=ðþ²Ýš2 
OKR Ì×¦ýšÞ¦ýþ¹²ş=Þ˛¹²þČğšÐ=¦Þ¹²×³ð¾¦¦=ð=
½³Þð¾¦þÞ˛ÝşÞŞý=ýþŠ³ÝČý=Eðþý−Ýšð²³ćğ¦ýF

ÌþÝþŽšÞ¦Č=Ć²þÐ=¦Þ¹²×³ð¾¦¦=ŠšÐ¹²Ł¦²šÝşÞŞ=²˛ðŽš=ŠÝČ=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Ł=
¹þšŠ¦ÞšÞ¦¦=¹=ýþŠ³Ýšý=¹ýš¹¦²šÝČ=jjNM=¦=ýþŠ³Ýšý=ł¦Š×˛ŁÝ¦₣š¹ðþÐ=¹²×šÝð¦=
tjNMK=

„¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=þ¹Þ˛ğšÞ˛=Š×³ł¦ý¦=½³Þð¾¦þÞ˛ÝşÞŞý¦=ýþŠ³ÝČý¦=
EÞ˛−×KI=ýþŠ³Ýšý=łšÝ¦þðþÝÝšð²þ×˛=pjNMFI=²þ=Šþ−þÝÞ¦²šÝşÞŞš=ŁþžýþŽÞþ¹²¦=−þ=
¦¼=³¹²˛ÞþŁðš=ýþŽÞþ=Þ˛Ð²¦=Ł=¹þþ²Łš²¹²Ł³ćğ¦¼=ýšÞćK=Ï−¦¹˛Þ¦Č=−×¦ŁšŠšÞŞ=Ł=
þ²ŠšÝşÞŞ¼=¦Þ¹²×³ð¾¦Č¼K

OKS Ëþý−Ýšð²³ćğ¦š=

Òþ₣ÞŞš=Š˛ÞÞŞš=−þ=−×¦łþŠÞŞý=ðþý−Ýšð²³ćğ¦ý=‡Ş=Þ˛ÐŠ÷²š=Ł=ð˛²˛ÝþłšK

– ÍþŠ³Ýş=¹ýš¹¦²šÝČ=jjNMN=ŠÝČ=³−×˛ŁÝšÞ¦Č==²×÷¼¼þŠþŁŞý=ðÝ˛−˛Þþý=
¹ýš¹¦²šÝČK=Ó³ðþŁþŠ¹²Łþ=ð=o`PR=ŁðÝć₣˛š²=þ−¦¹˛Þ¦š=ýþŠ³ÝČ=jjNMK

– ÍþŠ³Ýş=ł¦Š×˛ŁÝ¦₣š¹ðþÐ=¹²×šÝð¦=tjNMN=ŠÝČ=³−×˛ŁÝšÞ¦Č=ł¦Š×˛ŁÝ¦₣š¹ðþÐ=
¹²×šÝðþÐ=

– ÍþŠ³Ýş=łšÝ¦þðþÝÝšð²þ×˛=¦=−×þ₣¦š=ýþŠ³Ý¦=bjp=EÞ˛−×KI=ýþŠ³Ýş=−þŠðÝć₣šÞ¦Č=
^pjNMFN

– ‚¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦šN=EÞ˛−×KI=o`OMLo`OMocF=Ł=ð˛ŽŠþý=¹Ý³₣˛š=Þ³ŽÞþ=
ŠÝČ=³−×˛ŁÝšÞ¦Č=þŠÞ¦ý=þ²þ−¦²šÝşÞŞý=ðþÞ²³×þý=

– ‚˛²₣¦ð=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞI=ŁÞšĞÞ¦Ð=Š˛²₣¦ð=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦

NK ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=ýþŠ³Ý¦=¦¹−þÝşžþŁ˛²ş=ÞšŁþžýþŽÞþK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>8



ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ3 
P ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ

PKN ‡Şˇþ×=−×˛Ł¦ÝşÞþłþ=−þÝþŽšÞ¦Č=−×¦=ýþÞ²˛Žš

PKNKN ÍþÞ²˛Ž=Ł=×š½š×šÞ²Þþý=−þýšğšÞ¦¦

Ì×¦=×šł³Ý¦×þŁ˛Þ¦¦=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=³₣²¦²š=
¹ÝšŠ³ćğ¦š=³¹ÝþŁ¦ČW

– ÌþÝþŽšÞ¦š=−×¦=ýþÞ²˛Žš=Þ˛=ŁÞ³²×šÞÞšÐ=¹²šÞš=E×¦¹³Þþð NF

– ÔþˇÝćŠ˛Ð²š=×˛¹¹²þČÞ¦š=þ²=ŠŁš×¦=E¦žˇšł˛Ð²š=¹ðŁþžÞČðþŁFK

– Ï¹²˛Łş²š=¹ŁþˇþŠÞþš=−×þ¹²×˛Þ¹²Łþ=E×¦¹³Þþð NI=ž˛Ğ²×¦¼þŁ˛ÞÞ˛Č=−þŁš×¼Þþ¹²şF=
−þŠ=−³Ýş²þý=³−×˛ŁÝšÞ¦Č=EŠÝČ=−×˛Ł¦ÝşÞþłþ=¦žýš×šÞ¦Č=²šý−š×˛²³×ŞFK

– Óš½š×šÞ²Þþš=EZ=ýþÞ²˛ŽÞþšF=−þýšğšÞ¦š=ŠþÝŽÞþ=−þ=ŁþžýþŽÞþ¹²¦=
þ²þˇ×˛Ž˛²ş=¹¦²³˛¾¦ć=ŠÝČ=Ł¹šÐ=ðŁ˛×²¦×ŞK=Ê¹²þ₣Þ¦ð¦=−þ¹²þ×þÞÞšłþ=²š−Ý˛=
E¹þÝÞš₣ÞŞš=Ý³₣¦=¦=−×þ₣¦š=¦¹²þ₣Þ¦ð¦I=²˛ð¦š=ð˛ð=þ²ð×Ş²ŞÐ=ð˛ý¦ÞF=Ł=
×š½š×šÞ²Þþý=−þýšğšÞ¦¦=ŁÝ¦Čć²=Þ˛=½³Þð¾¦¦=×šł³Ý¦×þŁ˛Þ¦ČK=flÝ˛łþŠ˛×Č=
Ć²þý³=Ł=−þýšğšÞ¦Č¼=̌ šž=−þ¹²þ×þÞÞ¦¼=¦¹²þ₣Þ¦ðþŁ=²š−Ý˛=ýþŽš²=̌ Ş²ş=¹Ý¦Ğðþý=
¼þÝþŠÞþK=

– ËÝ˛−˛ÞŞ=²š×ýþ¹²˛²þŁ=Ł=þ²þ−¦²šÝşÞŞ¼=−×¦ˇþ×˛¼=Ł=×š½š×šÞ²Þþý=−þýšğšÞ¦¦=
ŠþÝŽÞŞ=ˇŞ²ş=Ł¹šłŠ˛=−þÝÞþ¹²şć=þ²ð×Ş²ŞI=₣²þˇŞ=þˇš=¹¦¹²šýŞ=
²šý−š×˛²³×Þþłþ=×šł³Ý¦×þŁ˛Þ¦Č=Þš=ŁÝ¦ČÝ¦=Š×³ł=Þ˛=Š×³Žð³K

„¹Ý¦=−þŠ¼þŠČğšłþ=ðþÞ²×þÝşÞþłþ=−þýšğšÞ¦Č=Þš²I=²þ=ýŞ=×šðþýšÞŠ³šý=
−š×šÐ²¦=Þ˛=×šł³Ý¦×þŁ˛Þ¦š=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=−þłþŠÞŞ¼=³¹ÝþŁ¦Ð=EŠÝČ=
Ć²þłþ=Þšþˇ¼þŠ¦ý=Š˛²₣¦ð=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞFK=ÊÝ¦=³¹²˛ÞþŁ¦²š=
Š˛²₣¦ð=ŠÝČ=Þ˛×³ŽÞþłþ=−þýšğšÞ¦Č=Ł=−þýšğšÞ¦¦=¹=Þ˛¦ˇþÝşĞšÐ=
−þ²×šˇÞþ¹²şć=Ł=þ²þ−ÝšÞ¦¦=EÞ˛−×KI=Ł=Ž¦ÝþÐ=ðþýÞ˛²šFK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>9



ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ3 
Ó¦¹K=N Í¦Þ¦ý˛ÝşÞŞš=¦Þ²š×Ł˛ÝŞ=ŠÝČ=ýþÞ²˛Ž˛=Ł=×š½š×šÞ²Þþý=−þýšğšÞ¦¦=

PKNKO ÍþÞ²˛Ž=Þ˛=þ²þ−¦²šÝşÞþý=ðþ²Ýš

Ì×¦=Þ˛Ý¦₣¦¦=þ²þ−¦²šÝşÞŞ¼=ðþ²ÝþŁI=þˇþ×³ŠþŁ˛ÞÞŞ¼=¹¦¹²šýþÐ=³−×˛ŁÝšÞ¦Č=
ĆÞš×ł¦šÐ=bjpI=ŁþžýþŽšÞ=ýþÞ²˛Ž=Þš−þ¹×šŠ¹²ŁšÞÞþ=Þ˛=þ²þ−¦²šÝşÞþý=ðþ²ÝšK

‚˛²₣¦ð=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=ŠÝČ=×šł³Ý¦×þŁ˛Þ¦Č=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=
−þłþŠÞŞ¼=³¹ÝþŁ¦Ð=Þš=Ł¼þŠ¦²=Ł=¹²˛ÞŠ˛×²ÞŞÐ=ðþý−Ýšð²=−þ¹²˛Łð¦I=þŠÞ˛ðþ=ýþŽš²=
ˇŞ²ş=ž˛ð˛ž˛Þ=ð˛ð=ðþý−Ýšð²³ćğššK

PKO ‡¦ŠŞ=ýþÞ²˛Ž˛
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=ýþŽš²=ˇŞ²ş=³¹²˛ÞþŁÝšÞ=²×šýČ=×˛žÝ¦₣ÞŞý¦=¹−þ¹þˇ˛ý¦W

– ‡=ð˛₣š¹²Łš=šŠ¦Þ¹²ŁšÞÞþłþ=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Ł=¹¦¹²šýš=Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛FW=−³Ýş²=³−×˛ŁÝšÞ¦Č=ýþÞ²¦×³š²¹Č=Ł=Ž¦Ýþý=−þýšğšÞ¦¦=
E×š½š×šÞ²Þþý=−þýšğšÞ¦¦F=¦Ý¦=Þ˛=þ²þ−¦²šÝşÞþý=ðþ²ÝšK=
Ì×¦ýš×W=ðþ²²šŠŽ=Þ˛=þŠÞ³=¹šýşć=¹=þŠÞ¦ý=þ²þ−¦²šÝşÞŞý=ðþÞ²³×þýK

– ‡=ð˛₣š¹²Łš=šŠ¦Þ¹²ŁšÞÞþłþ=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Ł=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðš=¹=
ŠŁ³ýČ=¦=ˇþÝšš=þ²þ−¦²šÝşÞŞý¦=ðþÞ²³×˛ý¦N=E×¦¹³Þþð OI=NFK=
Ì×¦ýš×ŞW=−þŠþł×šŁ=−þÝ˛=Þ˛=þŠÞþý=¦ž=Ć²˛ŽšÐI=×˛Š¦˛²þ×Ş=Þ˛=Š×³łþý=Ć²˛Žš=
¦Ý¦=ðŁ˛×²¦×˛=Ł=ðþýˇ¦Þ˛¾¦¦=¹=þ²ŠšÝşÞþÐ=Ž¦ÝþÐ=šŠ¦Þ¦¾šÐ=¦Ý¦=¹=−×˛ð²¦₣ÞŞý=
−þýšğšÞ¦šýK

– ‡=¹þ₣š²˛Þ¦¦=¹=Š¦¹²˛Þ¾¦þÞÞŞý=³−×˛ŁÝšÞ¦šý=EÞ˛−×KI=o`OMLo`OMocI=×¦¹K OI=OFK=
‡=Š˛ÞÞþý=¹Ý³₣˛š=×š₣ş=¦Š÷²=Ł¹šłŠ˛=þ=ŠŁ³¼=×˛žŠšÝ÷ÞÞŞ¼=þ²þ−¦²šÝşÞŞ¼=
ðþÞ²³×˛¼K=ÍþŠ³Ý¦=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦Č=Þš=ýþł³²=¦¹−þÝşžþŁ˛²ş¹Č=Ł=
þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñK

NK ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=þ²¹³²¹²Ł³š²K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>10



ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ3 
Ì×¦ýš×ŞW=−þŠþł×šŁ=−þÝ˛=Þ˛=þŠÞþý=¦ž=Ć²˛ŽšÐI=ˇ˛²˛×šČ=Þ˛=Š×³łþý=Ć²˛Žš=¦Ý¦=
ðŁ˛×²¦×˛=Ł=ðþýˇ¦Þ˛¾¦¦=¹=þ²ŠšÝşÞþÐ=Ž¦ÝþÐ=šŠ¦Þ¦¾šÐ=¦Ý¦=¹=−×˛ð²¦₣ÞŞý=
−þýšğšÞ¦šýK

Ó¦¹K=O ‡þžýþŽÞþ¹²¦=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦=¹=ŠŁ³ýČ=þ²þ−¦²šÝşÞŞý¦=
ðþÞ²³×˛ý¦

N Ïˇ˛=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×˛=×šł³Ý¦×³ć²¹Č=¹=þŠÞþłþ=−³Ýş²˛=³−×˛ŁÝšÞ¦ČK
O Ë˛ŽŠŞÐ=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=þˇþ×³ŠþŁ˛Þ=¹þˇ¹²ŁšÞÞŞý=−³Ýş²þý=

³−×˛ŁÝšÞ¦Č=¦Ý¦=Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČK

PKP ÍþÞ²˛Ž=¦=−þŠðÝć₣šÞ¦š

Î˛¹²šÞÞŞÐ=Šš×Ž˛²šÝş=ýþŽš²=ˇŞ²ş=ž˛ð×š−Ý÷Þ=Þš−þ¹×šŠ¹²ŁšÞÞþ=Þ˛=
þĞ²³ð˛²³×šÞÞþÐ=¹²šÞš=¦Ý¦=Ł=ðþ×þˇðš=−þŠ=Ğ²³ð˛²³×ðþÐK=

Ì×¦=ýþÞ²˛Žš=Ł=ðþ×þˇðš=−þŠ=Ğ²³ð˛²³×ðþÐ=þˇ×˛²¦²š=ŁÞ¦ý˛Þ¦šW

– ‡þžŠ³¼I=ŁŞ¼þŠČğ¦Ð=¦ž=ðþ×þˇð¦=−þŠ=Ğ²³ð˛²³×ðþÐI=Þš=ŠþÝŽšÞ=¦¹ð˛Ž˛²ş=
×šž³Ýş²˛²Ş=¦žýš×šÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=E−×¦=
Þšþˇ¼þŠ¦ýþ¹²¦=×þžš²ð³=−þŠ=Ğ²³ð˛²³×ðþÐ=ž˛−þÝÞ¦²ş=¦žþÝ¦×³ćğ¦ý=
ý˛²š×¦˛ÝþýFK

– Ê¹−þÝşž³Ð²š=łþ×¦žþÞ²˛ÝşÞŞš=¦Ý¦=Łš×²¦ð˛ÝşÞŞš=ð×š−÷ŽÞŞš=þ²Łš×¹²¦Č
E×¦¹³Þþð PI=QFK

Ò¹²˛ÞþŁ¦²š=Þ˛¹²šÞÞŞš=Šš×Ž˛²šÝ¦=E×¦¹³Þþð PI=¹ÝšŁ˛FK

Ê¹−þÝşž³Ð²š=Þ˛¹²šÞÞŞš=Šš×Ž˛²šÝ¦=¦¹ðÝć₣¦²šÝşÞþ=¹=×šžşˇþŁŞý¦=
ž˛Ž¦ý˛ý¦K

„¹Ý¦=³Žš=¦ýšć²¹Č=Þ˛¹²šÞÞŞš=Šš×Ž˛²šÝ¦=̌ šž=ž˛Ž¦ýþŁI=ž˛ýšÞ¦²š=¦¼K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>11



ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ3 
‚Ł³Ž¦ÝşÞŞÐ=ð˛ˇšÝş=Ğ¦ÞŞ=¹¦¹²šýŞ=³−×˛ŁÝšÞ¦Č=ĆÞš×ł¦šÐ=EbjpF=−þŠðÝć₣¦²š=
ð=ðÝšýý˛ý=ð˛ˇšÝČ=?o`?=E×¦¹³Þþð PI=RFK

– Ò¦−=−×þŁþŠ˛W=O=ñ=MITR=ýýO=EMIR=¥=NIR=ýýOFI=ý˛ð¹¦ý˛ÝşÞ˛Č=ŠÝ¦Þ˛=NMM ý
– ÌþÝČ×Þþ¹²ş=Ž¦Ý=ýþŽš²=ˇŞ²ş=ÝćˇþÐK
– Îš=−×þðÝ˛ŠŞŁ˛Ð²š=−×þŁþŠ˛=−˛×˛ÝÝšÝşÞþ=ð=¹š²šŁŞý=−×þŁþŠ˛ýK

Ó¦¹K=P ÍþÞ²˛Ž=Þ˛¹²šÞÞþłþ=Šš×Ž˛²šÝČ=E¹ÝšŁ˛F=¦=ĆÝšð²×¦₣š¹ðþš=−þŠðÝć₣šÞ¦š=
E¹−×˛Ł˛F

N Ï²Łš×¹²¦šI=−×þ¹Łš×ÝšÞÞþš=Ł=¹²šÞš
O Ł¦Þ²Ş=¦ž=ðþý−Ýšð²˛=−þ¹²˛Łð¦=ŠÝČ=ýþÞ²˛Ž˛=Þ˛=Ğ²³ð˛²³×ð³
P Łš×²¦ð˛ÝşÞŞš=þ²Łš×¹²¦Č=ŠÝČ=ð×š−ÝšÞ¦Č=ŠÝČ=ýþÞ²˛Ž˛=Þ˛=ðþ×þˇðš=−þŠ=Ğ²³ð˛²³×ðþÐ
Q łþ×¦žþÞ²˛ÝşÞŞš=þ²Łš×¹²¦Č=ŠÝČ=ð×š−ÝšÞ¦Č=ŠÝČ=ýþÞ²˛Ž˛=Þ˛=ðþ×þˇðš=−þŠ=Ğ²³ð˛²³×ðþÐ
R ÌþŠðÝć₣šÞ¦š=?o`?=ð=bjp=Eþ²þ−¦²šÝşÞŞÐ=ðþ²÷ÝF
S ÌþŠðÝć₣šÞ¦š=?buq?=ŠÝČ=Þ˛×³ŽÞþłþ=²šý−š×˛²³×Þþłþ=Š˛²₣¦ð˛=¦Ý¦=ŠÝČ=−š×šýŞ₣ð¦

„¹Ý¦=o`PR=ž˛ŠšÐ¹²Ł³š²¹Č=ˇšž=Þ˛×³ŽÞþłþ=Š˛²₣¦ð˛=ŠÝČ=−þýšğšÞ¦ČI=Þ˛=
ðÝšýý˛¼=ð˛ˇšÝČ=?buq?=E×¦¹³Þþð PI=SF=Þšþˇ¼þŠ¦ý˛=−š×šýŞ₣ð˛=E¦¹¼þŠÞþš=
¹þ¹²þČÞ¦š=−×¦=−þ¹²˛ŁðšFK

„¹Ý¦=o`PR=ž˛ŠšÐ¹²Ł³š²¹Č=¹=Þ˛×³ŽÞŞý=Š˛²₣¦ðþý=ŠÝČ=−þýšğšÞ¦ČI=¹ÝšŠ³š²=
³Š˛Ý¦²ş=−š×šýŞ₣ð³I=³¹²˛ÞþŁÝšÞÞ³ć=−þ=³ýþÝ₣˛Þ¦ć=Þ˛=?buq?=¦=Ł=Ć²þý=ýš¹²š=
³¹²˛ÞþŁ¦²ş=Þ˛×³ŽÞŞÐ=Š˛²₣¦ð=ŠÝČ=−þýšğšÞ¦ČK

PKQ Ò¹²˛ÞþŁð˛=¦=¹ÞČ²¦š=−³Ýş²˛=³−×˛ŁÝšÞ¦Č

Ò¹²˛ÞþŁð˛=−³Ýş²˛=³−×˛ŁÝšÞ¦Č

Ò¹²˛ÞþŁ¦²ş=−³Ýş²=³−×˛ŁÝšÞ¦Č=¹Łš×¼³=Ł=ýþÞ²˛ŽÞ³ć=−Ý˛¹²¦Þ³=−þ=Þ˛−×˛ŁÝšÞ¦ć=
¹²×šÝþð=E×¦¹³Þþð QI=^NFK
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Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>12



ÍþÞ²˛Ž=²×³ˇþ−×þŁþŠþŁ3 
Î˛Ž˛²ş=Þ˛=−³Ýş²=³−×˛ŁÝšÞ¦Č=ŁÞ¦ž³=Šþ=ğšÝ₣ð˛=E×¦¹³Þþð QI=^OFK

ÔÞČ²¦š=−³Ýş²˛=³−×˛ŁÝšÞ¦Č

ËÞþ−ð³=ŁÞ¦ž³=ýþÞ²˛ŽÞþÐ=−Ý˛¹²¦ÞŞ=ŁŠ˛Ł¦²ş=Ł=Þ˛−×˛ŁÝšÞ¦¦=¹²×šÝð¦=
E×¦¹³Þþð QI=_NF=¦=þŠÞþŁ×šýšÞÞþ=¹ÞČ²ş=−³Ýş²=³−×˛ŁÝšÞ¦Č=ŠŁ¦ŽšÞ¦šý=Ł−š×÷Š=
E×¦¹³Þþð QI=_OFK

ÔÞČ²ş=−³Ýş²=³−×˛ŁÝšÞ¦Č=ŠŁ¦ŽšÞ¦šý=ŁŁš×¼=E×¦¹³Þþð QI=_PFK

Ó¦¹K=Q Ò¹²˛ÞþŁð˛=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=E¹ÝšŁ˛F=¦=¹ÞČ²¦š=šłþ=E¹−×˛Ł˛F

1
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Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>13



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č4 
Q Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č

QKN Ïˇžþ×=³−×˛ŁÝšÞ¦Č=
ÌþČ¹ÞšÞ¦š=ð=×¦¹³Þð³W

N Ë×ŞĞð˛I=ŠÝČ=þ²ð×Ş²¦Č=−þ²ČÞ³²ş=ž˛=
ŁŞšýð³=¹ÝšŁ˛

O ‚¦¹−ÝšÐ

P Ó³₣ð˛=−š×šðÝć₣šÞ¦Č=ŠÝČ=
¦žýšÞšÞ¦Č=−˛×˛ýš²×þŁ=¦=
²šý−š×˛²³×ŞI=˛=²˛ðŽš=ŠÝČ=
−š×šýšğšÞ¦Ð=−þ=ýšÞć

Q ËÞþ−ð¦=þ¹ÞþŁÞŞ¼=½³Þð¾¦ÐW „¹Ý¦=¹Łš²þŠ¦þŠ=łþ×¦²I=KKK

?^rq?=E˛Ł²þý˛²¦₣š¹ð¦Ð=×šŽ¦ýF KKK=˛ð²¦ŁÞ˛=−×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č=E˛Ł²þý˛²¦₣š¹ðþš=
−š×šðÝć₣šÞ¦š=ýšŽŠ³=ŠÞšŁÞþÐ=¦=Þþ₣ÞþÐ=²šý−š×˛²³×þÐ=Ł=
−þýšğšÞ¦¦FK

?‚ÞšŁÞþÐ=×šŽ¦ý?=E×³₣ÞþÐF KKK=þ²þ−ÝšÞ¦š=×˛ˇþ²˛š²=¹=³¹²˛ÞþŁÝšÞÞþÐ=ŠÞšŁÞþÐ=
²šý−š×˛²³×þÐ=Ł=−þýšğšÞ¦¦K=‡ðÝć₣šÞ˛=−×þł×˛ýý˛=
−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛FK

?Îþ₣ÞþÐ=×šŽ¦ý?=E×³₣ÞþÐF KKK==þ²þ−ÝšÞ¦š=×˛ˇþ²˛š²=¹=³¹²˛ÞþŁÝšÞÞþÐ=Þþ₣ÞþÐ=
²šý−š×˛²³×þÐ=Ł=−þýšğšÞ¦¦K=‡ðÝć₣šÞ˛=ž˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦ČK=Ì×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=ŁþŠŞ=þ²ðÝć₣šÞþ=
Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛FK

= ?·þ×Č₣˛Č=ŁþŠ˛? KKK=²šý−š×˛²³×˛=łþ×Č₣šÐ=ŁþŠŞ=¹²˛Ý˛=Þ¦Žš=ž˛Š˛ÞÞþłþ=
žÞ˛₣šÞ¦ČK=Ì×¦=Þ˛Ž˛²¦¦=Þ˛=ðÞþ−ð³=ýþŽÞþ=¹ÞþŁ˛=Þ˛ł×š²ş=
ŁþŠ³=E−×¦=Ć²þý=¹Łš²þŠ¦þŠ=ˇ³Šš²=ý¦ł˛²şFK==NF

NF ÔŁš²þŠ¦þŠ=ýþŽÞþ=²˛ðŽš=þ²ðÝć₣¦²şK=Ì×¦=¦¹−þÝşžþŁ˛Þ¦¦=ðþ²ÝþŁ=¹=r_^NKñ=¹Łš²þŠ¦þŠ=Łþþˇğš=Þš=łþ×¦²K

R ËÞþ−ð¦=Šþ−þÝÞ¦²šÝşÞŞ¼=½³Þð¾¦ÐW Ú³Þð¾¦ČW

?ÍšÞćLlh? Ï²ð×Ş²ş=ýšÞć=³−×˛ŁÝšÞ¦Č=¦=−þŠ²Łš×ŽŠšÞ¦š=ŁŞˇþ×˛K=
Ì×¦=þŠÞþŁ×šýšÞÞþý=Ł×˛ğšÞ¦¦=×³₣ð¦=³−×˛ŁÝšÞ¦ČW=
¦žýšÞšÞ¦š=³¹²˛ÞþŁð¦K

?‡×šýČ? Ò¹²˛ÞþŁð˛=Ł×šýšÞ¦K

?‚˛²˛? Ò¹²˛ÞþŁð˛=Š˛²ŞK

= ?þł×˛Þ¦₣¦²šÝş? Ò¹²˛ÞþŁð˛=ðþýÞ˛²ÞþÐ=²šý−š×˛²³×ŞK

?ÊÞ½þ×ý˛¾¦Č? Ï²ð×Ş²ş=ýšÞć=¦Þ½þ×ý˛¾¦¦=Ež˛−×þ¹=žÞ˛₣šÞ¦ÐFK

= ?Î˛ž˛Š? Î˛=þŠ¦Þ=Ğ˛ł=¦Ý¦=−³Þð²=ýšÞć=Þ˛ž˛ŠK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>14



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č4 
QKO ‡ŁšŠšÞ¦š=Ł=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č
Ô=−þýþğşć=Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝=‡Ş=ýþŽš²š=³¹²˛Þ˛ŁÝ¦Ł˛²ş=−˛×˛ýš²×Ş=
³¹²˛ÞþŁð¦K=Ìþý¦ýþ=Ć²þłþ=ýšÞć=ŁðÝć₣˛š²=½³Þð¾¦¦=ŠÝČ=Š¦˛łÞþ¹²¦ð¦I=ŠÝČ=
þˇ¹Ý³Ž¦Ł˛Þ¦Č=¦=ŠÝČ=¹ˇ×þ¹˛K=Ô−þ¹þˇ=ŠšÐ¹²Ł¦Č=−×¦=³−×˛ŁÝšÞ¦¦=Ł¹šłŠ˛=
þŠ¦Þ˛ðþŁW

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK ÏŠÞþŁ×šýšÞÞþ=Þ˛Ž˛²ş=ðÞþ−ð¦ =H= =H= =ŠÝČ=þ²ð×Ş²¦Č=ýšÞć=Í„Î¸=
ÏflÔÈÒ‰Ê‡fiÎÊ˝K

PK ÌþŁš×Þ¦²š= ₣²þˇŞ=¦žýšÞ¦²ş=ŁŞˇ×˛ÞÞŞÐ=−˛×˛ýš²×=Eþ²ýš₣šÞÞŞÐ=BFK

QK Î˛Žý¦²š=ðÞþ−ð³ I=₣²þˇŞ=ŁŞˇ×˛²şK

RK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³= =EžÞ˛₣šÞ¦š=ý¦ł˛š²FI=−þŁš×Þ³²ş=×³₣ð³=
³−×˛ŁÝšÞ¦Č== =ŠÝČ=¦žýšÞšÞ¦Č=žÞ˛₣šÞ¦ČK
Ï²−³¹²¦²ş=ðÞþ−ð³W=¦žýšÞšÞ¦š=žÞ˛₣šÞ¦Č=¹þ¼×˛Þ¦²¹Č=Ł=−˛ýČ²¦K

SK Î˛Ž˛²ş=ðÞþ−ð³ I=₣²þˇŞ=Łš×Þ³²ş¹Č=Þ˛=Ğ˛ł=Þ˛ž˛ŠK

=-=¦Ý¦=-

Îš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=ðÞþ−ð³= =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³=ŠÝČ=−þŁ²þ×Þþłþ=
þ²þˇ×˛ŽšÞ¦Č=¹²˛ÞŠ˛×²Þþłþ=¦ÞŠ¦ð˛²þ×˛K

Ì×¦ýš×W=³¹²˛ÞþŁ¦²ş=−³Þð²=Òš−Ýþ¦žþÝČ¾¦Č=žŠ˛Þ¦Č=EŁ×šýČ=¦¹−˛×šÞ¦ČFK

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

NK Ï²ð×Ş²ş=ð×ŞĞð³=E−þ²ČÞ³²ş=ž˛=ŁŞšýð³=¹ÝšŁ˛FK

OK ÏŠÞþŁ×šýšÞÞþ=Þ˛Ž˛²ş=ðÞþ−ð¦ =H= =H= =ŠÝČ=
þ²ð×Ş²¦Č=ýšÞć=Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝K

Ò˛ˇK=P ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý=EÌ×¦ýš×F

Пт 02.12.2005 10:20h
Темп.нар.возд      -1°C

21.5°C

МЕНЮ ОБСЛУЖИВАНИЯ

BКратк. меню
Установки
Диагностика
Тех.обслуживание
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>15



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č4 
PK ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=Ò¹²˛ÞþŁð¦==Eý˛×ð¦×þŁ˛Þ=
¹=−þýþğşć=BFK=

QK Î˛Žý¦²š=ðÞþ−ð³= I=₣²þˇŞ=−þŠ²Łš×Š¦²ş=ŁŞˇþ×K

Ï²ð×þš²¹Č=ýšÞć=Ô„Ó‡ÊÔyÒÔÒfiÎÏ‡ËÊK

RK ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=Ì˛×˛ýš²×Ş=ðþ²Ý˛==
Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć=BFK

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=−š×š¼þŠ˛=ð=−³Þð²³=Ì˛×˛ýš²×Ş=
ðþ²Ý˛K

SK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³= =EžÞ˛₣šÞ¦š=ý¦ł˛š²FI=
−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č== =ŠÝČ=¦žýšÞšÞ¦Č=
žÞ˛₣šÞ¦ČK

TK Ï²−³¹²¦²ş =ðÞþ−ð³K

ÂÞ˛₣šÞ¦š=−š×š¹²˛Þš²=ý¦ł˛²şK=ÊžýšÞ÷ÞÞþš=žÞ˛₣šÞ¦š=
¹þ¼×˛ÞšÞþK

UK „¹Ý¦=‡Ş=ŁŞ−þÝÞ¦Ý¦=Ć²þ=ŠšÐ¹²Ł¦š=²þÝşðþ=ŠÝČ=−×þˇŞW=
³ˇšŠ¦²š¹şI=₣²þ=¹þ¼×˛Þ¦Ý˛¹ş=¦¹¼þŠÞ˛Č=³¹²˛ÞþŁð˛K

‚ÝČ=Ć²þłþ=−×¦=Þšþˇ¼þŠ¦ýþ¹²¦=−þŁ²þ×¦²š=Ğ˛ł¦=S=¦=TK

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

Ò˛ˇK=P ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý=EÌ×¦ýš×F

МЕНЮ ОБСЛУЖИВАНИЯ

Кратк. меню
Установки
Диагностика
Тех.обслуживание

B

СЕРВИС\УСТАНОВКИ

BПраметры установки
Параметры котла
ГВС
Отопит. контур 1

УСТАНОВКИ\КОТЕЛ
Укажите тип задания. 

Средний

УСТАНОВКИ\КОТЕЛ
Укажите тип задания. 

Средний

УСТАНОВКИ\КОТЕЛ
Укажите тип задания. 

Легкий

УСТАНОВКИ\КОТЕЛ
Укажите тип задания. 

Средний
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>16



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č4 
QKP Ïˇžþ×=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č

ÍšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=−þŠ×˛žŠšÝČš²¹Č=Þ˛=¹ÝšŠ³ćğ¦š=ýšÞć=¦=−þŠýšÞćW

VK Î˛Ž˛²ş=ðÞþ−ð³ I=₣²þˇŞ=Łš×Þ³²ş¹Č=Þ˛=Ğ˛ł=Þ˛ž˛ŠK

-¦Ý¦-

‚ÝČ=ž˛Łš×ĞšÞ¦Č=³¹²˛ÞþŁð¦W=Þš¹ðþÝşðþ=×˛ž=Þ˛Ž˛²ş=
ðÞþ−ð³ =¦Ý¦=ž˛ð×Ş²ş=ð×ŞĞð³K=

ÌþČŁÝČš²¹Č=¹²˛ÞŠ˛×²Þ˛Č=¦Þ½þ×ý˛¾¦ČK

Ô=−þýþğşć=Š˛ÞÞþłþ=¹−þ¹þˇ˛=ŠšÐ¹²Ł¦Č=‡Ş=ýþŽš²š=ŁŞ−þÝÞ¦²ş=Ł¹š=³¹²˛ÞþŁð¦=Ł=
Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝K

ÍšÞć ÌþŠýšÞć ÔþŠš×Ž˛Þ¦šLÚ³Þð¾¦Č Ô²×K

Ë×˛²ðþš=ýšÞć Þ˛¦ˇþÝšš=Ł˛ŽÞŞš=−˛×˛ýš²×Ş=Ł=ýšÞć=
Ò¹²˛ÞþŁð¦=ŠÝČ=ðþÞ½¦ł³×¦×þŁ˛Þ¦Č=
þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦=EÞ˛−×KI=₣¦¹Ýþ=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=
³¹²˛ÞþŁÝšÞÞŞš=ýþŠ³Ý¦F

ON

Ò¹²˛ÞþŁð¦=
EŁ¹š=
−˛×˛ýš²×ŞF

Ì˛×˛ýš²×Ş=
³¹²˛ÞþŁð¦NF

Ì˛×˛ýš²×ŞW=ČžŞðI=₣¦¹Ýþ=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁI=
³¹²˛ÞþŁÝšÞÞŞš=ýþŠ³Ý¦I=
²š−Ýþ¦žþÝČ¾¦Č=žŠ˛Þ¦ČI=ý¦Þ¦ý˛ÝşÞ˛Č=
²šý−š×˛²³×˛=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛

OR

Ì˛×˛ýš²×Ş=ðþ²Ý˛ Ì˛×˛ýš²×ŞW=Ł×šýČ=ŁŞˇšł˛=Þ˛¹þ¹˛=¦=
ýþŠ³ÝČ¾¦Č

OU

Ì˛×˛ýš²×Ş=
þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛NF

Ì˛×˛ýš²×Ş=³¹²˛ÞþŁÝšÞÞŞ¼=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ

OV

·þ×Č₣˛Č=ŁþŠ˛ Ì˛×˛ýš²×Ş=łþ×Č₣šÐ=ŁþŠŞ QO

Ì˛×˛ýš²×Ş=
łšÝ¦þðþÝÝšð²þ×˛NF

š¹Ý¦=łšÝ¦þðþÝÝšð²þ×=³¹²˛ÞþŁÝšÞW=¹ýK=
Šþð³ýšÞ²˛¾¦ć=−þ=łšÝ¦þðþÝÝšð²þ×³

QR

Ë˛Ý¦ˇ×þŁð˛=o`PR Ì˛×˛ýš²×ŞW=ð˛Ý¦ˇ×þŁð˛=
þ²þˇ×˛Ž˛šýþÐ=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=
Ł=−þýšğšÞ¦¦

QS

ËþÞ²˛ð²Þ˛Č=
¦Þ½þ×ý˛¾¦Č

‡Łš¹²¦=Þ˛žŁ˛Þ¦š=¦=Þþýš×=²šÝš½þÞ˛=
þ²þ−¦²šÝşÞþłþ=−×šŠ−×¦Č²¦Č

QT

Ò˛ˇK=Q Î˛Ł¦ł˛²þ×=−þ=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

Ò˛ˇK=P ‡Ş=ýþŽš²š=¦¹−þÝşžþŁ˛²ş=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=¹ÝšŠ³ćğ¦ý=þˇ×˛žþý=EÌ×¦ýš×F
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>17



Ï¹ÞþŁÞŞš=−×¦Þ¾¦−Ş=³−×˛ŁÝšÞ¦Č4 
‚¦˛łÞþ¹²¦ð˛ Ú³Þð¾¦þÞ˛ÝşÞŞÐ=
²š¹²OFNF

ŁŞ−þÝÞ¦²ş=²š¹²þŁþš=³−×˛ŁÝšÞ¦š=
þ²ŠšÝşÞŞý¦=ðþý−þÞšÞ²˛ý¦

QU

ÂÞ˛₣šÞ¦š=ýþÞ¦²þ×˛ Ï²þˇ×˛ŽšÞ¦š=Þþý¦Þ˛ÝşÞŞ¼=¦=
ŠšÐ¹²Ł¦²šÝşÞŞ¼=žÞ˛₣šÞ¦Ð

QV

Ô¦łÞ˛Ý=þĞ¦ˇð¦ Ï²þˇ×˛ž¦²ş=Å¦łÞ˛Ý=þĞ¦ˇþð RM

Ï²þ−¦²šÝşÞ˛Č=
ð×¦Ł˛Č

ł×˛½¦₣š¹ðþš=¦žþˇ×˛ŽšÞ¦š=
³¹²˛ÞþŁÝšÞÞþÐ=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐ

RN

‡š×¹¦¦ Ï²þˇ×˛ŽšÞ¦š=Łš×¹¦Ð=−×þł×˛ýýÞþłþ=
þˇš¹−š₣šÞ¦Č

RN

Òš¼Kþˇ¹Ý³Ž¦-
Ł˛Þ¦šOFNF

ÊÞ²š×Ł˛Ý=
þˇ¹Ý³Ž¦Ł˛Þ¦Č

Ò¹²˛ÞþŁð˛=¹×þðþŁ=−×þŁšŠšÞ¦Č=
²š¼Þ¦₣š¹ðþłþ=þˇ¹Ý³Ž¦Ł˛Þ¦Č=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=₣˛¹þŁ=×˛ˇþ²Ş=
³¹²˛ÞþŁð¦=¦Ý¦=−þ=Š˛²š

RO

Òšð³ğ¦š=¹þþˇğšÞ¦Č Ï²þˇ×˛ŽšÞ¦š=¹þþˇğšÞ¦Ð=þ=
²š¼Þ¦₣š¹ðþý=þˇ¹Ý³Ž¦Ł˛Þ¦¦

RO

Ôˇ×þ¹=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦Č

Ôˇ×þ¹=¹þþˇğšÞ¦Ð=þ=²š¼Þ¦₣š¹ðþý=
þˇ¹Ý³Ž¦Ł˛Þ¦¦

RO

Ôˇ×þ¹OFNF Â˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛

RQ

Ô−¦¹þð=þĞ¦ˇþð RQ

ÔþþˇğšÞ¦š=þ=
²š¼Þ¦₣š¹ðþý=
þˇ¹Ý³Ž¦Ł˛Þ¦¦

RQ

ı˛¹Ş=×˛ˇþ²Ş RQ

NF ‡þžýþŽÞþ=¹=þł×˛Þ¦₣šÞ¦Čý¦=Þ˛=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×˛¼=¹=a_^K
OF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

ÍšÞć ÌþŠýšÞć ÔþŠš×Ž˛Þ¦šLÚ³Þð¾¦Č Ô²×K

Ò˛ˇK=Q Î˛Ł¦ł˛²þ×=−þ=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>18



‡ðÝć₣šÞ¦š5 
R ‡ðÝć₣šÞ¦š

RKN Ïˇğ¦š=−×¦Þ¾¦−Ş=ŁŁþŠ˛=Ł=Ćð¹−Ý³˛²˛¾¦ć

Ò−×˛ŁÝšÞ¦š Óšž³Ýş²˛²

NK ‡ðÝć₣¦²ş=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³K

‡þ=Ł×šýČ=³¹²˛ÞþŁð¦=¹þšŠ¦ÞšÞ¦Č=ýšŽŠ³=o`PR=¦=bjp=
¦Ý¦=r_^NKu=Š¦¹−ÝšÐ=þ²þˇ×˛Ž˛š²=¹þþˇğšÞ¦šI=
−×¦ŁšŠ÷ÞÞþš=×ČŠþýW

„¹Ý¦=Š¦¹−ÝšÐ=þ²þˇ×˛Ž˛š²=Š×³łþš=¹þþˇğšÞ¦šI=
¹Łš×ş²š¹ş=¹=łÝ˛ŁþÐ NMI=¹²×˛Þ¦¾˛ RRK

OK Ò¹²˛ÞþŁð˛=ČžŞð˛W

Ï²ð×Ş²ş=ð×ŞĞð³K=ÒŠš×Ž¦Ł˛²ş=Þ˛Ž˛²þÐ=ðÞþ−ð³ =¦=
×³₣ðþÐ=³−×˛ŁÝšÞ¦Č=³¹²˛ÞþŁ¦²ş=ČžŞðK

PK Ò¹²˛ÞþŁð˛=Š˛²Ş=¦=Ł×šýšÞ¦W

ÒŠš×Ž¦Ł˛²ş=Þ˛Ž˛²þÐ=ðÞþ−ð³ =¦=¹=−þýþğşć=×³₣ð¦=
³−×˛ŁÝšÞ¦Č=³¹²˛Þ˛ŁÝ¦Ł˛²ş=ý¦ł˛ćğšš=žÞ˛₣šÞ¦šK=
Ï²−³¹²¦²ş=ðÞþ−ð³K

ÒŠš×Ž¦Ł˛²ş=Þ˛Ž˛²þÐ=ðÞþ−ð³ =¦=¹=−þýþğşć=×³₣ð¦=
³−×˛ŁÝšÞ¦Č=³¹²˛Þ˛ŁÝ¦Ł˛²ş=ý¦ł˛ćğšš=žÞ˛₣šÞ¦šK=
Ï²−³¹²¦²ş=ðÞþ−ð³K

Ì×¦=þ²¹³²¹²Ł¦¦=Þ˛−×ČŽšÞ¦Č=Ł=¹š²¦=Š˛²˛=¦=Ł×šýČ=
¹þ¼×˛ÞČć²¹Č=Ł=²š₣šÞ¦¦=U=₣˛¹þŁK=‡¹š=þ¹²˛ÝşÞŞš=
³¹²˛ÞþŁð¦=¹þ¼×˛ÞČć²¹Č=ˇþÝšš=ŠÝ¦²šÝşÞþš=Ł×šýČK

QK ÏŠÞþŁ×šýšÞÞþ=Þ˛Ž˛²ş=ðÞþ−ð¦ =H= =H= =ŠÝČ=
þ²ð×Ş²¦Č=ýšÞć=Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝K

Ò˛ˇK=R Ïˇğ¦š=−×¦Þ¾¦−Ş=ŁŁþŠ˛=Ł=Ćð¹−Ý³˛²˛¾¦ć

Ì×¦=Þšþˇ¼þŠ¦ýþ¹²¦=‡Ş=ýþŽš²š=¦žýšÞ¦²ş=ðþÞ²×˛¹²Þþ¹²ş=Š¦¹−ÝšČW

ÊžýšÞšÞ¦š=ðþÞ²×˛¹²˛W=Þ˛Ž˛²ş=¦=³Šš×Ž¦Ł˛²ş=ðÞþ−ð¦ =¦ =¦=
þŠÞþŁ×šýšÞÞþ=−þŁþ×˛₣¦Ł˛²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= K

Версия RC35
Подключение к: EMS
Соединение

Подождите, пожалуйста

Открыть крышку для
установки языка с по-
мощью кнопки ОК.

Установленный язык:
Русский язык

УСТАНОВИТЬ ДАТУ

Установка года

01.01.2000

МЕНЮ ОБСЛУЖИВАНИЯ

BКратк. меню
Установки
Диагностика
Тех.обслуживание
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>19



‡ðÝć₣šÞ¦š5 
RKO ‡˛ŽÞŞš=−˛×˛ýš²×Ş=ŁŁþŠ˛=Ł=Ćð¹−Ý³˛²˛¾¦ć

‡¹šłŠ˛=−×þŁþŠ¦²š=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć=²˛ð¦ý=þˇ×˛žþýI=₣²þˇŞ=þˇ˛=−˛×²Þ÷×˛=
ˇŞÝ¦=ŠþŁþÝşÞŞI=˛=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=×˛ˇþ²˛Ý˛=Ł=¹þþ²Łš²¹²Ł¦¦=¹=
Þ˛žÞ˛₣šÞ¦šý=¦=ˇšž=Þ˛×šð˛Þ¦ÐK=‚ÝČ=³ŠþŁÝš²Łþ×÷ÞÞþ¹²¦=−þÝşžþŁ˛²šÝČ=
³¹²˛ÞþŁð¦=−þ=Þ˛Ğšý³=þ−Ş²³=þ₣šÞş=Ł˛ŽÞŞ=¹ÝšŠ³ćğ¦š=−˛×˛ýš²×ŞK

‡ŞČ¹Þ¦²š=²×šˇþŁ˛Þ¦Č=¦=−þŽšÝ˛Þ¦Č=−þÝşžþŁ˛²šÝČ=³¹²˛ÞþŁð¦=þ²Þþ¹¦²šÝşÞþ=KKK

‡Şˇ×˛ÞÞŞš=³¹²˛ÞþŁð¦=ŁÞš¹²¦=Ł=Ì×þ²þðþÝ=³¹²˛ÞþŁð¦=EŁ=ðþÞ¾š=×³ðþŁþŠ¹²Ł˛=
−þ=Ćð¹−Ý³˛²˛¾¦¦FK

‡þžýþŽÞþ¹²¦=³¹²˛ÞþŁð¦
ž˛ŁþŠ¹ð¦š=³¹²˛ÞþŁð¦=þ²ýš₣šÞŞ=
Ž¦×ÞŞý=Ğ×¦½²þý=

jšÞć=
þˇ¹Ý³ŽK y=
Ò¹²˛ÞþŁð¦ y

KKK=ŁŞˇ×˛ÞÞþłþ=Ł¦Š˛=
−þÞ¦ŽšÞ¦Č=E−þÞ¦ŽšÞ¦š=Ł=
Þþ₣Þþš=Ł×šýČF

ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛I=−þÞ¦ŽšÞÞþš=
ĆÞš×łþ−þ²×šˇÝšÞ¦šI=×šŽ¦ý=
−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦I=þ²ðÝć₣šÞþ

Ï²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=ñI=
¹²×˛Þ¦¾˛ PN

KKK=ŽšÝ˛šýþÐ=½³Þð¾¦¦=
×šł³Ý¦×þŁ˛Þ¦Č

ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛I=²šý−š×˛²³×Ş=
Ł=−þýšğšÞ¦¦

Ï²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=ñI=
¹²×˛Þ¦¾˛ PR

KKK=−×˛Ł¦ÝşÞþÐ=þ²þ−¦²šÝşÞþÐ=
ð×¦ŁþÐ

−þ=−˛×˛ýš²×˛ýW=×˛¹₣÷²Þ˛Č=
²šý−š×˛²³×˛I=ý¦Þ¦ý˛ÝşÞ˛Č=
Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛I=¹ýšğšÞ¦š=
¦=Þþý¦Þ˛ÝşÞþš=žÞ˛₣šÞ¦š=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦

Ï²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=ñI=
¹²×˛Þ¦¾˛ PM

KKK=−×˛Ł¦ÝşÞþÐ=²š−Ýþ¦žþÝČ¾¦¦=
žŠ˛Þ¦Č=EÞ˛×³ŽÞ˛Č=
²šý−š×˛²³×˛=¦¹−˛×šÞ¦ÐF

Ý÷łð˛ČI=¹×šŠÞČČI=¼þ×þĞ˛Č ‚˛ÞÞŞš=
³¹²˛ÞþŁð¦I=
¹²×˛Þ¦¾˛ OS

KKK=₣˛¹²þ²Ş=−š×šðÝć₣šÞ¦Ð=
¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛NF

NF ˚²˛=½³Þð¾¦Č=Þš=×š˛Ý¦žþŁ˛Þ˛=Ł=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^K

−×þŠþÝŽ¦²šÝşÞþš=Ł×šýČI=N=×˛žI=O=
×˛ž˛I=P=×˛ž˛I=Q=×˛ž˛I=R=×˛žI=S=×˛ž=Ł=
₣˛¹=−þ=P ý¦Þ³²Ş

łþ×Č₣˛Č=ŁþŠ˛I=
¹²×˛Þ¦¾˛=QP

KKK=−×¦þ×¦²š²Þþłþ=
−×¦łþ²þŁÝšÞ¦Č=łþ×Č₣šÐ=ŁþŠŞ

Š˛I=Þš² Ï²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=ñI=
¹²×˛Þ¦¾˛ PO

KKK=Ì×þł×˛ýý˛=−š×šðÝć₣šÞ¦Č=
EŁ×šýČF

Ô²˛ÞŠ˛×²Þ˛Č=−×þł×˛ýý˛=ÔšýşČI=
¹þˇ¹²ŁšÞÞ˛Č=−×þł×˛ýý˛

Ï²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=ñI=
¹²×˛Þ¦¾˛ PQ

Ò˛ˇK=S ‡˛ŽÞŞš=−˛×˛ýš²×Ş=ŁŁþŠ˛=Ł=Ćð¹−Ý³˛²˛¾¦ć
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>20



‡ðÝć₣šÞ¦š5 
RKP flŞ¹²×ŞÐ=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć=Eð×˛²ðþš=ýšÞćF

Î˛Žý¦²š=Þ˛=ðÞþ−ð³= =I=₣²þˇŞ=þ²ð×Ş²ş=ýšÞć=
Ë×˛²ðçÉ=ýšÞć

ËÓK=Í„Î¸y Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛
Â˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛=ŁŞŠšÝšÞ=
Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

ÏÔÎK=ÒÔÒK Ë˛ðþÐ=ČžŞð=
¦¹−þÝşžþŁ˛²ş\

Îšýš¾ð¦Ð=KKK=

·Ê‚ÓK=ÔÒÓ„ÈËfi Ò¹²˛ÞþŁ¦Ý¦=Ý¦=‡Ş=
ýþŠ³Ýş=
ł¦Š×˛ŁÝ¦₣š¹ðþÐ=
¹²×šÝð¦\

Š˛I=Þš² NF

ÒÔÒfiÎÏ‡Ëfi Ò¹²˛ÞþŁ¦Ý¦=Ý¦=
ðþÞ²³×=N=E−×ČýþÐ=
þ²þ−K=ðþÞ²³×F\

‚˛I=Þš²

ËÏÈÊı„ÔÒ‡Ï=
ÔÍ„ÔÊÒ„È„Á

ÔðþÝşðþ=³¹²˛ÞþŁÝšÞþ=
þ²þ−K=ðþÞ²³×þŁ=Åç=
¹ýš¹¦²šÝČý¦\

M
M Šþ=P

Ò¹²˛ÞþŁ¦²ş=˛Š×š¹=Þ˛=
ðþŠ¦×³ćğšý==
Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
hlOFKNF

lqlÌK=hleqK=N

E¦=Š×³ł¦š=þ²þ−K=
ðþÞ²³×ŞF

Ë˛ðþý³=ĆÝšýšÞ²³=
³−×˛ŁÝšÞ¦Č=−þŠðÝć₣K=
ðþÞ²³×=N\

o`OMLo`OMocI=
o`PR

ÏÒÔÒÒÔÒ‡Ò„Ò

Ì×¦¹Łþ¦²ş=−³Ýş²=
³−×˛ŁÝšÞ¦ČL
þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×I=
¹ýK=¹²×K PRK=
Ïˇğ¦š=Š˛ÞÞŞš=
þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛I=¹ýK=¹²×K OVK=
Î˛¹²×þ¦²ş=Š×³ł¦š=
þ²þ−¦²šÝşÞŞš=ðþÞ²³×ŞI=
ð˛ð=þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×=NK

Ë˛ð=³−×˛ŁÝČ²ş=
ðþÞ²³×þý\

Â˛Ł¦¹¦²=þ²=
²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛I

Â˛Ł¦¹¦²=þ²=
ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş

Ë˛ð˛Č=þ²þ−¦²šÝşÞ˛Č=
¹¦¹²šý~=³=ðþÞ²³×~\

Ó˛Š¦˛²þ×I=
ðþÞŁšð²þ×I=−þÝ

Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛ČI=
¹ýK=¹²×K PS

Ò˛ˇK=T Î˛Ł¦ł˛²þ×=−þ=ð×˛²ðþý³=ýšÞć

МЕНЮ ОБСЛУЖИВАНИЯ

BКратк. меню
Установки
Диагностика
Тех.обслуживание
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>21
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·ÏÓ˝ıfi˝=‡Ï‚fi Ò¹²˛ÞþŁ¦Ý¦=·‡Ô\ ‚˛I=Þš²

ıš×šž=₣²þ=ŠþÝŽÞ˛=
þ¹³ğš¹²ŁÝČ²ş¹Č=
−þŠłþ²þŁð˛=·‡Ô\

P�¼þŠK=−š×šðÝK=
ŁšÞ²¦Ýş

Î˛¹þ¹=Þ˛ðþ−¦²šÝČ

‡=þ²þ−¦²šÝşÞŞ¼=
ðþ²Ý˛¼=¹a_^=Ł¹šłŠ˛=
¹²þ¦²=Þ˛=²×š¼¼þŠþŁþý=
−š×šðÝć₣˛ćğšý=
ŁšÞ²¦ÝÉK

‚þ=ð˛ðþÐ=
²šý−š×˛²³×Ş=Þšþˇ¼þ-
Š¦ýþ=Þ˛ł×š²ş=·‡Ô\

SM Œ`

PM Šþ=UM Œ`

‚ÝČ=−þÝ³₣šÞ¦Č=
ŁþžýþŽÞþ¹²¦=
¦žýšÞšÞ¦Č=łþ×Č₣šÐ=
ŁþŠŞI=³¹²˛ÞþŁ¦²ş=
×³₣ð³=³−×˛ŁÝšÞ¦Č=Þ˛=
−³Ýş²š=³−×˛ŁÝšÞ¦Č=Ł=
−þÝþŽšÞ¦š==^ìíK

ÍÏ‚ÒÈ˙=
·„ÈÊÏËÏÈK

Ò¹²˛ÞþŁ¦Ý¦=Ý¦=
ýþŠ³Ýş=łšÝ¦þðþÝ-
Ýšð²þ×˛\

Š˛I=Þš² NF

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

Ì×þŁš×ş²š=¹=−þýþğşć=₣šð�Ý¦¹²˛I=¹ýK=¹²×K OMI=ˇŞÝ¦=ŁŞ−þÝÞšÞŞ=
³¹−šĞÞþ=Š×³ł¦š=³¹²˛ÞþŁð¦K

ËÓK=Í„Î¸y Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛
Â˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛=ŁŞŠšÝšÞ=
Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=T Î˛Ł¦ł˛²þ×=−þ=ð×˛²ðþý³=ýšÞć
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>22



‡ðÝć₣šÞ¦š5 
RKQ ÌþŠ×þˇÞŞÐ=ŁŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ć

Ì×þŁš×¦²şI=¹þþ²Łš²¹²Ł³ć²=Ý¦=ž˛ŁþŠ¹ð¦š=³¹²˛ÞþŁð¦=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=y=
³¹²˛ÞþŁð¦=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðšK

‡þžýKI=ž˛−¦¹˛²ş=¦žýšÞšÞÞŞš=³¹²˛ÞþŁð¦K

RKR Ìš×šŠ˛₣˛=þˇþ×³ŠþŁ˛Þ¦Č

Ì×þŁš×¦²şI=₣²þˇŞ=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=ðþ²Ý˛=_`NMN=þˇš=×³₣ð¦=ˇŞÝ¦=
³¹²˛ÞþŁÝšÞŞ=Ł=−þÝþŽšÞ¦š=?^ìí?I=₣²þˇŞ=ýþŽÞþ=ˇŞÝþ=×šł³Ý¦×þŁ˛²ş=
²šý−š×˛²³×³=łþ×Č₣šÐ=ŁþŠŞ=¦==²šý−š×˛²³×³=−þŠ˛ćğšÐ=Ý¦Þ¦¦=Þ˛=−³Ýş²š==o`PRK

ÏˇİČ¹Þ¦²š=ž˛ð˛ž₣¦ð³=−×¦Þ¾¦−=ŠšÐ¹²Ł¦Č=¦=³−×˛ŁÝšÞ¦š=−×¦ˇþ×þýK

Ì×þ¦Þ½þ×ý¦×þŁ˛²ş=ž˛ð˛ž₣¦ð˛=þ=ŁŞˇ×˛ÞÞŞ¼=³¹²˛ÞþŁð˛¼=EÌ×þ²þðþÝ=
³¹²˛ÞþŁð¦=Ł=ðþÞ¾š=×³ðþŁþŠ¹²Ł˛=−þ=Ćð¹−Ý³˛²˛¾¦¦FK

NK ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=þ²¹³²¹²Ł³š²=_`NMK=Ì×þŁš×¦²ş=½Þð¾¦ćI=¹ýK=
²š¼Þ¦₣š¹ð³ć=Šþð³ýšÞ²˛¾¦ć=Þ˛=þ²þ−¦²šÝşÞŞÐ=ðþ²šÝK

ÍŞ=×šðþýšÞŠ³šý=−š×šŠ˛²ş=Ć²³=¦Þ¹²×³ð¾¦ć=−þ=ýþÞ²˛Ž³=¦=¹š×Ł¦¹Þþý³=
þˇ¹Ý³Ž¦Ł˛Þ¦ć=ž˛ð˛ž₣¦ð˛ý=ŠÝČ=¼×˛ÞšÞ¦Č=šš=þðþÝþ=þ²þ−¦²šÝşÞþÐ=
³¹²˛ÞþŁð¦K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>23



‡ðÝć₣šÞ¦š5 
RKS ‡ŞŁþŠ=¦ž=Ćð¹−Ý³˛²˛¾¦¦L‡ŞðÝć₣šÞ¦š

˚Ýšð²×þ−¦²˛Þ¦š=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=o`PR=þ¹³ğš¹²ŁÝČš²¹Č=þ²=þ²þ−¦²šÝşÞþÐ=
³¹²˛ÞþŁð¦=¦=þ¹²˛÷²¹Č=−þ¹²þČÞÞþ=ŁðÝć₣÷ÞÞŞýK=ÏÞþ=ŁŞðÝć₣˛š²¹Č=²þÝşðþ=Ł=²þý=
¹Ý³₣˛šI=š¹Ý¦=þ²ðÝć₣˛š²¹Č=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛I=Þ˛−×¦ýš×I=ŠÝČ=−×þŁšŠšÞ¦Č=
²š¼Þ¦₣š¹ðþłþ=þˇ¹Ý³Ž¦Ł˛Þ¦ČK

‚ÝČ=ŁðÝć₣šÞ¦Č=¦Ý¦=ŁŞðÝć₣šÞ¦Č=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦W=−š×šŁšŠ¦²š=
−³¹ðþŁþÐ=ŁŞðÝć₣˛²šÝş=Þ˛=ðþ²Ýš=Ł=−þÝþŽšÞ¦š=N=E‡ËÈF=¦Ý¦=M=E‡˘ËÈFK

RKT Òð˛ž˛Þ¦Č=−þ=Ćð¹−Ý³˛²˛¾¦¦

Ò₣˛¹²Þ¦ð¦=Ğ¦ÞŞ=bjp�_ìë

Î˛=þŠÞþÐ=Ğ¦Þš=²þÝşðþ=þŠ¦Þ=³₣˛¹²Þ¦ð=ýþŽš²=ŁŞ−þÝÞČ²ş=×˛¹₣š²=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛K=Î˛=þŠÞþÐ=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁðš=ýþŽš²=ˇŞ²ş=³¹²˛ÞþŁÝšÞ=²þÝşðþ=
þŠ¦Þ=o`PRK=Ì×¦=ŽšÝ˛Þ¦¦=Šþ−þÝÞ¦²šÝşÞþ=¦ýš²ş=ðþýÞ˛²ÞŞš=×šł³ÝČ²þ×Ş=
EÞ˛−×¦ýš×I=o`OMFI=Þ³ŽÞþ=¦¼=³¹²˛ÞþŁ¦²ş=ð˛ð=Š¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š=N=¹=
˛Š×š¹þý=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=E¹²×K OVFK

Òš×ýþ¹²˛²¦₣š¹ð¦š=ŁšÞ²¦Ý¦=Ł=ðþÞ²×þÝşÞþý=−þýšğšÞ¦¦

Òš×ýþ¹²˛²¦₣š¹ð¦š=ŁšÞ²¦Ý¦=Þ˛=þ²þ−¦²šÝşÞŞ¼=−×¦ˇþ×˛¼=ŁO==ðþÞ²×þÝşÞþý=
−þýšğšÞ¦¦=−×¦=Þ˛Ý¦₣¦¦=ðþýÞ˛²Þþłþ=×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛Þ˛ŁÝ¦Ł˛²ş=Þš=
²×šˇ³š²¹ČK=„¹Ý¦=Ł=ðþÞ²×þÝşÞþý=−þýšğšÞ¦¦=¦ýšć²¹Č=²š×ýþ¹²˛²¦₣š¹ð¦š=
ŁšÞ²¦Ý¦I=²þ=þÞ¦=ŠþÝŽÞŞ=ˇŞ²ş=−þÝÞþ¹²şć=þ²ð×Ş²ŞK

Ë×˛²ðþŁ×šýšÞÞþš=ŁðÝć₣šÞ¦š=Þ˛¹þ¹þŁP

Ì×¦=Ł¹š¼=×šŽ¦ý˛¼=×˛ˇþ²Ş=ŠÝČ=−×šŠþ²Ł×˛ğšÞ¦Č=−þŁ×šŽŠšÞ¦Ð=Þ˛¹þ¹þŁ=−þ=
¹×šŠ˛ý=Ł=NOWMM=Ł¹š=Þ˛¹þ¹Ş=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=ŁðÝć₣˛ć²¹Č=Þ˛=NM=¹šð³ÞŠ=¦=
−þ²þý=þ−Č²ş=ŁŞðÝć₣˛ć²¹ČK=Â˛²šý=¹ýš¹¦²šÝ¦=¹×˛ˇ˛²ŞŁ˛ć²=Þ˛=?ÏÒËÓ˘ÒÊ„?=¦=
₣š×šž=NM=¹šð³ÞŠ=Þ˛=?ÂfiËÓ˘ÒÊ„?K=Ìþ¹Ýš=Ć²þłþ=Ł¹š=Þ˛¹þ¹Ş=¦=¹ýš¹¦²šÝ¦=
−×þŠþÝŽ˛ć²=ŁŞ−þÝÞČ²ş=¹Łþ¦=þˇŞ₣ÞŞš=×šł³Ý¦×þŁþ₣ÞŞš=½³Þð¾¦¦K

Ìþ¹Ýš=þ²ðÝć₣šÞ¦Č=¦Ý¦=−×¦=þ²¹³²¹²Ł¦¦=Þ˛−×ČŽšÞ¦Č=Ł=¹š²¦=Š˛²˛=¦=
Ł×šýČ=¹þ¼×˛ÞČć²¹Č=Ł=²š₣šÞ¦š=Šþ=U=₣˛¹þŁK=‡¹š=þ¹²˛ÝşÞŞš=³¹²˛ÞþŁð¦=
¹þ¼×˛ÞČć²¹Č=ˇþÝšš=ŠÝ¦²šÝşÞþš=Ł×šýČK

NK ˚²˛=½³Þð¾¦Č=Þš=×š˛Ý¦žþŁ˛Þ˛=Ł=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=a_^K
OK ÌþýšğšÞ¦šI=Ł=ðþ²þ×þý=³¹²˛ÞþŁÝšÞ=o`PR=¦Ý¦=o`OMLo`OMoc
PK ÌþýšğšÞ¦šI=Ł=ðþ²þ×þý=³¹²˛ÞþŁÝšÞ=o`PR=¦Ý¦=o`OMLo`OMoc
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>24



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
S Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=
³¹²˛ÞþŁð˛ý¦F

SKN Ì˛×˛ýš²×Ş=³¹²˛ÞþŁð¦

ÏŠÞþŁ×šýšÞÞþ=Þ˛Ž˛²ş=ðÞþ−ð¦ =H= =H= =ŠÝČ=
þ²ð×Ş²¦Č=ýšÞć=Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝K

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=Ò¹²˛ÞþŁð¦=Eý˛×ð¦×þŁ˛Þ=
¹=−þýþğşć FK

Î˛Žý¦²š=Þ˛=ðÞþ−ð³ I=₣²þˇŞ=þ²ð×Ş²ş=ýšÞć==
ÏflÔÈÒ‰Ê‡fiÎÊ˝=L=ÒÔÒfiÎÏ‡ËÊK

ÔÝšŠ¦²š=ž˛=²šýI=₣²þˇŞ=¦ÞŠ¦ð˛¾¦Č=þ²ŠšÝşÞŞ¼=−³Þð²þŁ=ýšÞć=ž˛Ł¦¹šÝ˛=
þ²=³¹²˛ÞþŁð¦K=

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=ŁŞˇþ×˛=Ì˛×˛ýš²×Ş=
³¹²˛ÞþŁð¦K
Ï²ð×ŞŁ˛š²¹Č=ýšÞć=ÎfiÔÒÓÏÁËfi=y=ÒÔÒfiÎÏ‡ËfiK

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ë˛ðþÐ=ČžŞð=
¦¹−þÝşžþŁ˛²ş\

m³¹¹ð¦ÐI=KKK

Ò¹²˛ÞþŁ¦Ý¦=Ý¦=‡Ş=
ýþŠ³Ýş=ŠÝČ=
ł¦Š×˛ŁÝ¦₣š¹ðþÐ=
¹²×šÝð¦\

Š˛I=Þš² NF

Ò¹²˛ÞþŁ¦Ý¦=Ý¦=ðþÞ²³×=N=
E−×ČýþÐ=þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×F\

‚˛I=Þš²

ÔðþÝşðþ=³¹²˛ÞþŁÝšÞþ=
þ²þ−K=ðþÞ²³×þŁ=Åç=
¹ýš¹¦²šÝÉý\

M=
M Šþ=P

Ò¹²˛ÞþŁ¦²ş=˛Š×š¹=Þ˛=
ðþŠ¦×³ćğšý==Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛=hl=OFK
NF

Ò¹²˛ÞþŁ¦Ý¦=Ý¦=ýþŠ³Ýş=
łšÝK³¹²˛ÞþŁð¦\

Š˛I=Þš² NF

Ò˛ˇK=U Î˛Ł¦ł˛²þ×=ýšÞć=Ò¹²˛ÞþŁð˛ y=Ì˛×˛ýš²×Ş=³¹²˛ÞþŁð¦

МЕНЮ ОБСЛУЖИВАНИЯ

Кратк. меню
Установки
Диагностика
Тех.обслуживание

B

СЕРВИС\УСТАНОВКИ

BПраметры установки
Параметры котла
ГВС
Отопит. контур 1
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>25



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKNKN Ò¦−=žŠ˛Þ¦Č=EŠšý−½¦×þŁ˛Þ¦š=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞF

‡=×šž³Ýş²˛²š=²š−Ýþšýðþ¹²¦=¦=¹Łþšý³=¼˛×˛ð²š×¦¹²¦₣š¹ðþý³=²š×ý¦₣š¹ðþý³=
¹þ−×þ²¦ŁÝšÞ¦ć=žŠ˛Þ¦š=ž˛Šš×Ž¦Ł˛š²=ŁþžŠšÐ¹²Ł¦š=ðþÝšˇ˛Þ¦Ð=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×Ş=Þ˛=ŁÞ³²×šÞÞ¦š=−þýšğšÞ¦ČK=ÌþĆ²þý³=−×¦=×˛¹₣š²š=−þ²×šˇÞþ¹²¦=
²š−Ý˛=Ł=−þýšğšÞ¦Č¼=×šĞ˛ćğšš=žÞ˛₣šÞ¦š=¦ýšš²=Þš=²þÝşðþ=˛ð²³˛ÝşÞ˛Č=
Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛I=Þþ=¦=²˛ð=Þ˛žŞŁ˛šý˛Č=Ššý−½¦×þŁ˛ÞÞ˛Č=Þ˛×³ŽÞ˛Č=
²šý−š×˛²³×˛K=

Ô=−þýþğşć=−˛×˛ýš²×˛=Òš−Ýþ¦žþÝČ¾¦Č=žŠ˛Þ¦Č=³¹²˛Þ˛ŁÝ¦Ł˛š²¹Č=
Ššý−½¦×þŁ˛Þ¦šI=¹=−þýþğşć=ðþ²þ×þłþ=×šł¦¹²×¦×³ć²¹Č=ðþÝšˇ˛Þ¦Č=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×ŞK=Ô=šłþ=−þýþğşć=ýþŽÞþ=−×¦¹−þ¹þˇ¦²ş=×šł³Ý¦×þŁð³=ð=
¼˛×˛ð²š×¦¹²¦₣š¹ð¦ý=−˛×˛ýš²×˛ý=žŠ˛Þ¦ČK

Ìþ¹²þČÞÞ³ć=Ł×šýšÞ¦=Ššý−½¦×þŁ˛Þ¦Č=ŠÝČ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=¹¦¹²šý˛=
³−×˛ŁÝšÞ¦Č=×˛¹¹₣¦²ŞŁ˛š²=Þ˛=þ¹ÞþŁš= V=³ð˛ž˛ÞÞþłþ=Ł=²˛ˇÝ¦¾š=½˛ð²þ×˛=ŠÝČ=
³ð˛ž˛ÞÞþÐ=²š−Ýþ¦žþÝČ¾¦¦=žŠ˛Þ¦Č=¦=ŁÞ³²×šÞÞšłþ=ý³Ýş²¦−Ý¦ð˛²þ×˛I=²˛ð=
Þ˛žŞŁ˛šýþłþ=Ł×šýšÞ¦=×˛ˇþ²Ş=EZ=S ý¦Þ³²FK=Ìþ¹²þČÞÞ˛Č=Ł×šýšÞ¦=
×˛¹¹₣¦²ŞŁ˛š²¹Č=¹ÝðŠ³ćğ¦ý=þˇ×˛žþýW=½˛ð²þ×=ñ=Ł×šýČ=×˛ˇþ²Ş=Z=−þ¹²þČÞÞ˛Č=
Ł×šýšÞ¦=Ššý−½¦×þŁ˛Þ¦Č=Ł=₣˛¹˛¼K

Ï²ðÝć₣¦²ş=
¹Šš×Ž¦Ł˛Þ¦š=Þ˛×³ŽK=
²šý−š×˛²³×Ş\

Š˛I=Þš² Ì×¦=ŁŞˇþ×š=‚˛=¹ÝšŠ³ćğ¦Ð=
−˛×˛ýš²×=²š−Ýþ¦žþÝČ¾¦¦=
žŠ˛Þ¦Č=ł˛¹Þš²K

Òð˛Ž¦²š=²¦−=ž˛Š˛Þ¦ČK Èšłð˛ČI=¹×šŠÞČČI=²ČŽšÝ˛Č Òš−Ýþ¦žþÝČ¾¦Č=žŠ˛Þ¦Č=
E²š−Ýþšýðþ¹²şFI=¹ýK=¹²×K OSK

Í¦Þ¦ý˛ÝşÞ˛Č=
²šý−š×˛²³×˛=þð×K=¹×šŠŞ=
Ł=Ł˛Ğšý=×šł¦þÞš\

-NM Œ`=
-PM Œ` Šþ=M Œ`

¹ýK=¹²×˛Þ¦¾³ OTK

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

Ì˛×˛ýš²×=Òš−Ýþ-
¦žþÝČ¾¦Č=žŠ˛Þ¦Č Ê¹−þÝÞšÞ¦š Ú˛ð²þ×

Èšłð˛Č Þ˛−×¦ýš×I=¹ˇþ×ÞŞš=¦Ý¦=ğ¦²þŁŞš=Šþý˛ NM

Ô×šŠÞČČ Þ˛−×¦ýš×I=Šþý=¦ž=−³¹²þ²šÝŞ¼=ˇÝþðþŁ=Ež˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛F

PM

qČŽšÝ˛Č Þ˛−×¦ýš×I=ð¦×−¦₣Þþš=žŠ˛Þ¦š RM

Ò˛ˇK=V Ó˛¹₣š²=−þ¹²þČÞÞþÐ=Ł×šýšÞ¦=Ššý−½¦×þŁ˛Þ¦Č

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=U Î˛Ł¦ł˛²þ×=ýšÞć=Ò¹²˛ÞþŁð˛ y=Ì˛×˛ýš²×Ş=³¹²˛ÞþŁð¦
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>26



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Ì×¦ýš×W

Ó¦¹K=R Î˛=¹¦ÝşÞþ=³−×þğšÞÞþý=−×¦ýš×š=−þð˛ž˛ÞþI=ð˛ð=Ššý−½¦×þŁ˛ÞÞ˛Č=
Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=¦žýšÞČš²¹Č=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×ŞI=Þþ=Þš=Šþ¹²¦ł˛š²=šš=Ćš¹²×šý˛ÝşÞŞ¼=žÞ˛₣šÞ¦ÐK

N ²šð³ğ˛Č=²šý−š×˛²³×˛=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛
O Ššý−½¦×þŁ˛ÞÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛

SKNKO Í¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛

Í¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=ČŁÝČš²¹Č=¹×šŠÞ¦ý=žÞ˛₣šÞ¦šý=¦ž=¹˛ýŞ¼=
Þ¦žð¦¼²šý−š×˛²³×=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=ž˛=−þ¹ÝšŠÞ¦š=łþŠŞI=þÞ˛=³₣¦²ŞŁ˛š²¹Č=−×¦=
×˛¹₣š²š=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K=˚²þ=žÞ˛₣šÞ¦š=³₣¦²ŞŁ˛š²¹Č=Ł=×˛¹₣š²š=
Þšþˇ¼þŠ¦ýþÐ=²š−Ýþ−þ²×šˇÞþ¹²¦=ð˛ŽŠþłþ=žŠ˛Þ¦ČK

Ì×¦=ž˛ŁþŠ¹ð¦¼=³¹²˛ÞþŁð˛¼=¦žýšÞšÞ¦Č=Þ˛×³ŽÞŞ¼=²šý−š×˛²³×=
ŁþžŠšÐ¹²Ł³ć²=Þ˛=×šł³Ý¦×þŁð³I=ž˛Ł¦¹Čğ³ć=þ²=Þ˛×³ŽÞŞ¼=²šý−š×˛²³×I=
ý˛ð¹¦ý³ý=¹=ž˛Šš×ŽðþÐ=Þ˛=²×¦=₣˛¹˛=EPM=ñ=S ý¦Þ³²=Z=NUM ý¦Þ³²FK=

ËþÞ²×þÝş=×˛¹¹₣¦²˛ÞÞþÐ=Ššý−½¦×þŁ˛ÞÞþÐ=¦=˛ð²³˛ÝşÞþÐ=
²šý−š×˛²¾×ŞW=Ï²ð×Ş²ş=ýšÞć=‚¦˛łÞþ¹²¦ð˛=y=ÂÞ˛₣šÞ¦š=Þ˛=
ýþÞ¦²þ×š=y=Ëþ²šÝL·þ×šÝð˛K=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>27



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKO Ì˛×˛ýš²×Ş=ðþ²Ý˛

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=Ì˛×˛ýš²×Ş=ðþ²Ý˛=
Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć FK

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=−š×š¼þŠ˛=ð=−³Þð²³=
Ì˛×˛ýš²×Ş=ðþ²Ý˛K
Ï²ð×ŞŁ˛š²¹Č=ýšÞć=ÒÔÒfiÎÏ‡Ëfi=y=ËÏÒ„ÈK

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ì×þŠþÝŽ¦²šÝşÞþ¹²ş=
×˛ˇþ²Ş=Þ˛¹þ¹˛=ðþ²Ý˛=
−þ¹Ýš=ŁŞðÝK=łþ×šÝð¦\

R ý¦Þ³²

Šš˛ð²¦Ł¦×þŁ˛ÞþI=þ²=N=Šþ=
SM ý¦Þ³²

Ò¹²˛ÞþŁð˛=ŁþžýþŽÞ˛=²þÝşðþ=
−×¦=Þ˛Ý¦₣¦¦=þ²þ−¦²šÝşÞþłþ=
ðþ²Ý˛=¹=ŁÞ³²×šÞÞ¦ý=Þ˛¹þ¹þýK
NF

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

Ë˛ð³ć=Þ˛¹²×þÐð³=
Þšþˇ¼þŠ¦ýþ=ŁŞˇ×˛²ş=
ŠÝČ=ýþŠ³Ý¦×³ćğšłþ=
Þ˛¹þ¹˛\

O=
þ²=M=Šþ=U

ð×¦Ł˛Č=¼˛×˛ð²š×¦¹²¦ð=Þ˛¹þ¹˛=
ðþ²Ý˛I=ž˛Ł¦¹¦²=þ²=hfjL_fj

– MW=š¹Ý¦=³¹²˛ÞþŁÝšÞ˛=
ł¦Š×˛ŁÝ¦₣š¹ð˛Č=¹²×šÝð˛K

– N-UW=¹ýK=Šþð³ýšÞ²˛¾¦ć=Þ˛=
þ²þ−¦²šÝşÞŞÐ=ðþ²÷Ý

NF=OF

OF Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=³¹²˛ÞþŁð¦

Ò˛ˇK=NM Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛=yÌ˛×˛ýš²×Ş=ðþ²Ý˛

СЕРВИС\УСТАНОВКИ

B
Праметры установки
Параметры котла
ГВС
Отопит. контур 1
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>28



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKP Ì˛×˛ýš²×Ş=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=

˚²˛=łÝ˛Ł˛=þ−¦¹ŞŁ˛š²=³¹²˛ÞþŁð³=Ł¹š¼=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=Þ˛=−×¦ýš×š=
þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=NK

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N=

Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć=BFK

Î˛Ž˛²ş=ðÞþ−ð³ =ŠÝČ=ŁŞˇþ×˛=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛ NK
Ï²ð×þš²¹Č=ýšÞć=ÒÔÒfiÎÏ‡Ëfi=y=ÏÒÏÌÊÒK=ËÏÎÒÒÓ=NK

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

^ð²¦Ł¦×þŁ˛²ş=
þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N\

‚˛I=Þš²

Ë˛ðþý³=ĆÝšýšÞ²³=
³−×˛ŁÝšÞ¦Č=−þŠðÝć₣K=
ðþÞ²³×=N\

o`OMLo`OMocI=o`PRI=
Þ¦ð˛ðþÐ

¹ýK=¹²×˛Þ¦¾³ PRK

Ì×¦=r_^NKñ=áëí=o`OM=ŁŞˇþ×=
þ²¹³²¹²Ł³š²K

Ì×¦=ŁŞˇþ×š=Î¦ð˛ðþÐ=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=
³¹²˛Þ˛ŁÝ¦Ł˛š²¹Č=Þ˛=ž˛Ł¦¹¦²=þ²=
²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛==¦=ł˛¹Þš²K

Ë˛ð=³−×˛ŁÝČ²ş=
ðþÞ²³×þý=N\

ž˛Ł¦¹¦²=þ²=
²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛I=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦

ÓšŽ¦ý=ž˛Ł¦¹¦²=þ²=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=
ýþŽš²=ˇŞ²ş=³¹²˛ÞþŁÝšÞ=²þÝşðþ=
Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=¹þþ²Þš¹÷Þ=¹=
o`OM=¦Ý¦=o`PRK

Ì×¦=ŁŞˇþ×š=−³Þð²˛=ž˛Ł¦¹¦²=þ²=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=
¦¹−þÝşž³š²¹Č=×šł³Ý¦×þŁ˛Þ¦š=
²šý−š×˛²³×Ş=−þŠ˛ćğšÐ=Ý¦Þ¦¦K

Ò˛ˇK=NN Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N

СЕРВИС\УСТАНОВКИ

B

Праметры установки
Параметры котла
ГВС
Отопит. контур 1
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>29



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Ë˛ð˛Č=þ²þ−¦²šÝşÞ˛Č=
¹¦¹²šý˛=³=ðþÞ²³×˛=N\

Ó˛Š¦˛²þ×I=ðþÞŁšð²þ×I=
−þÝŞ

Ì×¦=³¹²˛ÞþŁðš=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=hlN=Þ˛=þ−¾¦ć=ÌþÝŞ=
²þÝşðþ=š¹Ý¦=ðþ²÷Ý=
ðþÞŠšÞ¹˛¾¦þÞÞþłþ=²¦−˛=¦=Þš=
³¹²˛ÞþŁÝšÞ=¹ýš¹¦²šÝş=Ł=
þ²þ−¦²šÝşÞþý=ðþÞ²³×šK

Ì×¦=−þŠþł×šŁš=−þÝþŁ=
þˇČž˛²šÝşÞþ=¦¹−þÝşž³Ð²š=
ž˛ğ¦²ÞŞÐ=²š×ýþ¹²˛²K

Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č

qšý−K=ł×K=E-NMŒ`F TR Œ`=E×˛Š¦˛²þ×I=
ðþÞŁšð²þ×F
QR Œ`=E−þŠþł×šŁ=−þÝ˛F
PM Œ`=Šþ=VM Œ`

‡=¹ðþˇð˛¼=¹²þ¦²=³¹²˛ÞþŁð˛=
ý¦Þ¦ý˛ÝşÞþÐ=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=E¹ýK=¹²×K OVFK=
Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=E¹ýK=
¹²×˛Þ¦¾³ PSFK

Í˛ð¹K=²šý−š×˛²³×˛=
−þŠ˛ćğK=ý˛ł¦¹²×

Ó˛Š¦˛²þ×I=ðþÞŁšð²þ×W=
TR Œ`=
PM Œ`=Šþ=VM Œ`

−þÝW=RM Œ`
PM Œ`=Šþ=SM Œ`

Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=E¹ýK=
¹²×˛Þ¦¾³ PSFK

Â˛Š˛Ð²š=ý˛ð¹=²šý−K=
−þŠ˛ćğK=ý˛ł¦¹²×W

Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
−þýšğšÞ¦Č=E¹ýK=¹²×˛Þ¦¾³ PSFK

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NN Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>30



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Í¦ÞK=²šý−š×˛²³×˛=
−þŠ˛ćğK=ý˛ł¦¹²×

R Œ`=
R Œ`=Šþ=TM Œ`=

Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=E¹ýK=
¹²×˛Þ¦¾³ PSFK

Â˛Š˛Ð²š=ý¦ÞK=²šý−K=
−þŠ˛ćğK=ý˛ł¦¹²×W

Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
−þýšğšÞ¦Č=E¹ýK=¹²×˛Þ¦¾³ PSFK

ËþýÞK=í-¹ýšğšÞ¦š MKMh=
þ² -RKMh=Šþ=HRKMh

ÔŠŁ¦ł=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐK

Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=E¹ýK=
¹²×˛Þ¦¾³ PSFK

Â˛Š˛Ð²š=ý˛ð¹K=žÞ˛₣šÞ¦š=
ŁÝ¦ČÞ¦Č=ðþýÞ˛²ŞW=

Ph
þ²=Mh=Šþ=NMh

Ò¹²˛ÞþŁð˛=ŠšÐ¹²Ł¦²šÝşÞ˛=
²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=Ł¦Š=
×šł³Ý¦×þŁ˛Þ¦Č=³¹²˛ÞþŁÝšÞ=Þ˛=
þ−¾¦ć=ž˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=E¹ýK=
¹²×˛Þ¦¾³ PRFK

Ë˛ðþš=¹Þ¦ŽšÞ¦š=
Þšþˇ¼þŠ¦ýþ=−×¦ýšÞ¦²ş\

ÓšŽ¦ý=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛I=
×šŽ¦ý=−þÞ¦ŽšÞÞþłþ=
ĆÞš×łþ−þ²×šˇÝšÞ¦ČI=
×šŽ¦ý=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=E²þÝşðþ=−×¦=
¹þ−þ¹²˛ŁÝšÞ¦¦=o`PR=
¦Ý¦=o`OM=þ²þ−K=
ðþÞ²³×³FI=þ²ðÝć₣šÞþ

Îþ₣Þþš=−þÞ¦ŽšÞ¦š=
²šý−š×˛²³×Ş=
E¹ýK=¹²×˛Þ¦¾³ PUF

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NN Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>31



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Ë˛ð˛Č=Þ˛×³ŽÞK=²šý−K=
ŠþÝŽÞ˛=−×¦ýK=ŠÝČ=
×šŽ¦ý˛=ÅÞ¦ŽšÞ¦Č\

R Œ`
-OM Œ`=Šþ=HNM Œ`

Òšý−š×˛²³×ÞŞÐ=−þ×þł=ŠÝČ=
×šŽ¦ý˛=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛=E¹ýK=¹²×˛Þ¦¾³ PUFK=
Ò¹²˛ÞþŁð˛=ŁþžýþŽÞ˛=²þÝşðþ=Ł=
²þý=¹Ý³₣˛šI=š¹Ý¦=Ł=ð˛₣š¹²Łš=
×šŽ¦ý˛=−þÞ¦ŽšÞ¦Č=³¹²˛ÞþŁÝšÞ==
ÓšŽ¦ý=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛K=

Â˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č

Ë˛ð˛Č=²šý−š×˛²³×~=
ŠþÝŽÞ˛=ˇŞ²ş=
×šĞ˛ćğšÐ=ŠÝČ=ž˛ğ¦²Ş=
þ²=ž˛ýš×ž˛Þ¦Č\

²šý−š×˛²³×˛=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛I=
²šý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦I=ˇšž=ž˛ğ¦²Ş=
þ²=ž˛ýš×ž˛Þ¦Č

Ò¹²˛ÞþŁð˛=Òšý−š×˛²³×˛=
ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=
ŁŞ¹²˛ŁÝČš²¹Č=²þÝşðþ=Ł=²þý=
¹Ý³₣˛šI=š¹Ý¦=þ²þ−¦²šÝşÞþý³=
ðþÞ²³×³=¹þ−þ¹²˛ŁÝšÞŞ=o`OM=
¦Ý¦=o`PR=E¹ýK=¹²×˛Þ¦¾³ QMFK

Ë˛ð³ć=²šý−š×˛²³×³=
ŠÝČ=ž˛ğ¦²Ş=þ²=ž˛ýš×žK=
Þ³ŽÞþ=¦¹−þÝşžþŁ˛²ş\=

R Œ`=
-OM Œ`=Šþ=HNM Œ`

‡=ž˛Ł¦¹¦ýþ¹²¦=þ²=²šý−š×˛²³×Ş=
ŁþžŠ³¼˛=¹Þ˛×³Ž¦=E¹ýK=
¹²×˛Þ¦¾³ QMFK

Ì×¦=ð˛ðþÐ=²šý−š×˛²³×š=
þð×³ŽK=¹×šŠŞ=Þ³ŽÞþ=
−×šð×˛²¦²ş=×K¹Þ¦ŽšÞK\

Ï²=
- PM Œ`=Šþ=HNM Œ`

ÌþÞ¦ŽšÞ¦š=Ł=¹þþ²Łš²¹²Ł¦¦=¹=
afk=NOUPN=E¹ýK=¹²×˛Þ¦¾³ QMFK

fið²¦Ł¦¦×þŁ˛²ş=−×¦þ×¦²š²=
·‡Ô\

Š˛I=Þš²

Ôýš¹¦²šÝşNF

Êýšš²¹Č=Ý¦=
¹ýš¹¦²šÝş\

‚˛I=Þš² Ò¹²˛ÞþŁð˛=²þÝşðþ=ŠÝČ=
þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=
Þ˛₣¦Þ˛Č=¹þ=OK
NF

Ë˛ðþš=Ł×šýČ=×˛ˇþ²Ş=³=
¹ýš¹¦²šÝČ\

NOM=¹šðK
þ²=NM=Šþ=SMM=¹šðK

NF

Ë˛ðþš=−þŁŞĞšÞ¦š=
Þšþˇ¼þŠ¦ýþ=
¦¹−þÝşžþŁ~²ş=ŠÝČ=
ðþ²Ý˛\

Rh
þ²=M=Šþ=QMh

NF

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NN Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>32



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Ô³Ğð˛=−þÝ˛NF

Ì×þŁš¹²¦=¹³Ğð³\= ‚˛=Þš² Ò¹²˛ÞþŁð˛=ŁþžýþŽÞ˛=²þÝşðþ=Ł=
²þý=¹Ý³₣˛šI=š¹Ý¦=¦ýšš²¹Č=
−þŠþł×šŁ=−þÝ˛K=‡þ=Ł×šýČ=¹³Ğð¦=
−þÝ˛=−×¦łþ²þŁÝšÞ¦š=łþ×Č₣šÐ=
ŁþŠŞ=Þš=×˛ž×šĞ˛š²¹ČK
NF

‡=ð˛ðþÐ=ŠšÞş=
Þšþˇ¼þŠ¦ýþ=−þŁŞĞ˛²ş=
²šý−K=−þŠ˛₣¦\

Ó˛ž=Ł=ŠšÞşI=þ²=
¦Þ²š×Ł˛Ý˛=Ó˛ž=Ł=ŠŁ˛=ŠÞČ=
Šþ=¦Þ²š×Ł˛Ý˛=Ó˛ž=Ł=−Č²ş=
ŠÞšÐ

NF

Î˛=¹ðþÝşðþ=ł×˛Š³¹þŁ=
ŠþÝŽÞ˛=ð˛ŽŠŞÐ=×˛ž=
−þŁŞĞ˛²ş¹Č=²šý−š×˛²K=
−þŠ˛ćğK=ý˛ł¦¹²×\=

R Œ`
þ²=M=Šþ=NMh

NF

Ë˛ðþš=žÞ˛₣šÞ¦š=ý˛ð¹K=
²šý−š×˛²K=−þŠ˛₣¦=
Þšþˇ¼þŠ¦ýþ=Šþ¹²¦₣ş\

QR Œ`=
OR Œ`=Šþ=SM Œ`

NF

ÔðþÝşðþ=ŠÞšÐ=ŠþÝŽÞ˛=
³Šš×Ž¦Ł˛²ş¹Č=ý˛ð¹K=
²šý−š×˛²³×˛=−þŠ˛₣¦\

Q=ŠÞČ
þ²=M=Šþ=OM=ŠÞšÐ

NF

‡=ð˛ðþÐ=ŠšÞş=
Þšþˇ¼þŠ¦ýþ=−þÞ¦Ž~²ş=
²šý−š×˛²³×³=−þŠ˛₣¦\

Îš−þ¹×šŠ¹²ŁšÞÞþ=−×¦=
þˇŞ₣ÞþÐ=Ćð¹−Ý³˛²˛¾¦¦I=
ð˛ŽŠŞÐ=ŠšÞşI=þ²=
¦Þ²š×Ł˛Ý˛=Ó˛ž=Ł=ŠŁ˛=ŠÞČ=
Šþ=¦Þ²š×Ł˛Ý˛=Ó˛ž=Ł=−Č²ş=
ŠÞšÐ

NF

Î˛=¹ðþÝşðþ=ł×˛Š³¹þŁ=
Þšþˇ¼þŠ¦ýþ=−þÞ¦Ž~²ş=
²šý−š×˛²³×³=−þŠ˛₣¦\=

R Œ`
þ²=M=Šþ=OMh

Ò¹²˛ÞþŁð˛=ŁþžýþŽÞ˛=²þÝşðþ=Ł=
²þý=¹Ý³₣˛šI=š¹Ý¦=−×¦=
¹þð×˛ğšÞ¦¦=²šý−š×˛²³×Ş=
−×šŠŁ˛×¦²šÝşÞþÐ=−þŠ˛₣¦=Þš=
³¹²˛ÞþŁÝšÞ˛=Ì×ČýþÐ=Þþ×ýK=
×šŽ¦ý=Ćð¹−Ý³˛²˛¾¦ČK
NF

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NN Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>33



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
=

ÊžýšÞ¦²ş=−×þł×˛ýý³\ Š˛I=Þš² Ì×¦=ŁŞˇþ×š=Ł˛×¦˛Þ²˛=‚˛=
¹¦¹²šý˛=−š×šðÝć₣¦²¹Č=Ł=
−×þł×˛ýý³=−š×šðÝć₣šÞ¦Č=
þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

Ì×þŁš¹²¦=þ−²¦ý¦ž˛¾¦ć=
−×þł×˛ýýŞ\

Š˛I=Þš² fiŁ²þý˛²¦₣š¹ð˛Č=−þŠłþÞð˛=
ýþýšÞ²þŁ=ŁðÝć₣šÞ¦Č=¦=
þ²ðÝć₣šÞ¦Č=ž˛Ł¦¹¦²=þ²=
Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞI=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=¦=
²š−Ýþ¦žþÝČ¾¦¦=žŠ˛Þ¦Č=
E¹−þ¹þˇÞþ¹²ş=
²š−Ýþ˛ðð³ý³ÝČ¾¦¦FK

Ë˛ðþÉ=ÅÞ¦ŽšÞ¦É=
Þšþˇ¼þŠ¦ýþ=−×¦ýšÞ¦²ş\

ÓšŽ¦ý=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛I=
−þÞ¦ŽšÞÞþš=
ĆÞš×łþ−þ²×šˇÝšÞ¦šI=
×šŽ¦ý=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦I=þ²ðÝć₣÷Þ

¹ýK=¹²×˛Þ¦¾³ PUK

Ò¹²˛ÞþŁð˛=ËþýÞ˛²ÞŞÐ=×šŽ¦ý=
¹ÝšŠ³š²=¦¹−þÝşžþŁ˛²ş=²þÝşðþ=Ł=
²þý=¹Ý³₣˛šI=š¹Ý¦=¹=
þ²þ−¦²šÝşÞŞý=ðþÞ²³×þý=
¹þ−þ¹²˛ŁÝšÞþ=Š¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦š=EÞ˛−×KI=o`OMFK

Ì×¦=ŁŞˇþ×š=³¹²˛ÞþŁð¦=Åþð×K=
×šŽ¦ý=¦¹−þÝşž³š²¹Č=þˇŞ₣Þ˛Č=
²šý−š×˛²³×˛=ŠÝČ=Þþ₣Þþłþ=
×šŽ¦ý˛K

Ë˛ð³ć=³¹²˛ÞþŁð³=
Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=
Þšþˇ¼þŠ¦ýþ=−×¦ýšÞ¦²ş\

R Œ`
þ² -OM Œ`=Šþ=HNM Œ`

Òšý−š×˛²³×ÞŞÐ=−þ×þł=ŠÝČ=
×šŽ¦ý˛=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛=E¹ýK=¹²×˛Þ¦¾³FK PUFK=
Ò¹²˛ÞþŁð˛=ŁþžýþŽÞ˛=²þÝşðþ=Ł=
²þý=¹Ý³₣˛šI=š¹Ý¦=Ł=ð˛₣š¹²Łš=
−þÞ¦ŽšÞ¦Č=Ł=×šŽ¦ýš=Ï²−³¹ð=
³¹²˛ÞþŁÝšÞ=ÓšŽ¦ý=−þ¹²þČÞÞþÐ=
²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛K=

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NN Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>34



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKPKN Ï−×šŠšÝšÞ¦š=−×þł×˛ýýÞþłþ=þˇš¹−š₣šÞ¦Č=ŠÝČ=−³Ýş²˛=³−×˛ŁÝšÞ¦ČL
Š¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČN

Ì×¦ýš×W=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=¹=þ²þ−¦²šÝşÞŞý¦=ðþÞ²³×˛ý¦=N=¦=O=
E¹²×˛Þ¦¾˛ NMF

SKPKO ‡¦Š=×šł³Ý¦×þŁ˛Þ¦Č=Ež˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛L
ŁÝ¦ČÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦F

‡=³¹²×þÐ¹²Łš=×šł³Ý¦×þŁ˛Þ¦Č=¹š×¦¦=içÖ~ã~íáÅ=þ²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č=þ−×šŠšÝČš²=
²šý−š×˛²³×³=łþ×Č₣šÐ=ŁþŠŞ=Ł=þ²þ−¦²šÝşÞþý=ðþ²ÝšK=ÍþŽÞþ=ŁŞˇ×˛²şI=̌ ³Šš²=Ý¦=Þ˛=
Ć²³=þ²þ−¦²šÝşÞ³ć=ð×¦Ł³ć=ŁÝ¦Č²ş=¦¹ðÝć₣¦²šÝşÞþ=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛I=¦Ý¦=
−×¦=š÷=þ−×šŠšÝšÞ¦¦=ˇ³Šš²=³₣¦²ŞŁ˛²ş¹Č=ŁþžŠšÐ¹²Ł¦š=¹ýš¹¦=−˛×˛ýš²×þŁ=
Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=¦=²šý−š×˛²³×Ş=−þýšğšÞ¦ČK

– Â˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛W=Ì×¦=¦žýšÞšÞ¦¦=−þÞ¦ŽšÞÞþÐ=
Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=Ł=¹þ₣š²˛Þ¦¦=¹=ŁŞˇ×˛ÞÞý¦=³¹²˛ÞþŁð˛ý¦=Þþý¦Þ˛ÝşÞþłþ=
žÞ˛₣šÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦I=¹ýšğšÞ¦ČI=×˛¹₣÷²ÞþÐ=²šý−š×˛²³×Ş=¦=
ý¦Þ¦ý˛ÝşÞþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=−×¦=Š˛ÞÞþÐ=³¹²˛ÞþŁðš=×šł³Ý¦×³š²¹Č=
²šý−š×˛²³×˛=ðþ²Ý˛I=×˛¹¹₣¦²˛ÞÞ˛Č=Ł=¹¦¹²šýš=³−×˛ŁÝšÞ¦ČK=˚²˛=²šý−š×˛²³×˛=
−þžŠÞšš=−þŠ˛÷²¹Č=ŠÝČ=−þ¹²þČÞÞþÐ=Ćð¹−Ý³˛²˛¾¦¦=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=
þ²þ−ÝšÞ¦Č=Ł=×˛Š¦˛²þ×Ş=¦Ý¦=Ł=ðþÞ²³×=ŠÝČ=þˇþł×šŁ˛=−þÝ˛K=
Îšðþ²þ×Şš=¹¦²³˛¾¦¦I=ðþ²þ×Şš=−×¦=Š˛ÞÞþÐ=³¹²˛ÞþŁðš=ýþł³²=−×¦Łš¹²¦=ð=
ŁŞðÝć₣šÞ¦ć=¾¦×ð³ÝČ¾¦þÞÞþłþ=Þ˛¹þ¹˛=þ²þ−ÝšÞ¦ČI=Ć²þ=Ýš²Þ¦Ð=×šŽ¦ýI=Þþ₣Þþš=
−þÞ¦ŽšÞ¦š=²šý−š×˛²³×Ş=EŁ=ž˛Ł¦¹¦ýþ¹²¦=þ²=ŁŞˇ×˛ÞÞþłþ=²¦−˛=−þÞ¦ŽšÞ¦ČF=¦Ý¦=
Ćð¹−Ý³˛²˛¾¦Č=¹=łþ×Č₣šÐ=ŁþŠþÐ=E²þÝşðþ=−×¦=−×¦þ×¦²š²š=łþ×Č₣šÐ=ŁþŠŞFK

NK ˚²˛=½³Þð¾¦Č=Þš=×š˛Ý¦žþŁ˛Þ˛=Ł=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^K

‡˛×¦˛Þ²

Ò¹²˛ÞþŁð˛W=Ë˛ðþÐ=−³Ýş²=
³−×˛ŁÝšÞ¦Č=þ−×šŠšÝ÷Þ=ŠÝČ=
Š˛ÞÞþłþ=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛\ Ú˛ð²¦₣š¹ð˛Č=¹¦²³˛¾¦Č

^ hl=N=Z=o`PRI=hl=O=Z=o`PR
E¹ýK=×¦¹³Þþð OI=N=Þ˛=¹²×˛Þ¦¾˛ NNF

þŠ¦Þ˛ðþŁŞš=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=
ŠÝČ=hl N=¦=hl O

_ hl=N=Z=o`PRI=hl=O=Z=þ²¹³²¹²Ł³š²
E¹ýK=×¦¹³Þþð OI=N=Þ˛=¹²×˛Þ¦¾˛ NNF

²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=ŠÝČ=hl N=¦=
hl O=³¹²˛Þ˛ŁÝ¦Ł˛ć²¹Č=þ²ŠšÝşÞþ

` hl=N=Z=o`OMI=hl=O=Z=o`PR
E¹ýK=×¦¹³Þþð OI=O=Þ˛=¹²×˛Þ¦¾˛ NNF

²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=ŠÝČ=hl N=¦=
hl O=³¹²˛Þ˛ŁÝ¦Ł˛ć²¹Č=þ²ŠšÝşÞþX=
³¹²˛ÞþŁ¦²ş=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼=
ŠÝČ=hl N=Þ˛=o`OM

Ò˛ˇK=NO Ò¹²˛ÞþŁð˛=²šý−š×˛²³×=Ł=−þýšğšÞ¦Č¼=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=−³Ýş²˛=³−×˛ŁÝšÞ¦Č
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>35



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
– Â˛Ł¦¹¦²=þ²=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=Å=ŁþžŠšÐ¹²Ł¦šý=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛FW=˚²˛=½þ×ý˛=
×šł³Ý¦×þŁ˛Þ¦Č=½³Þð¾¦þÞ¦×³š²=²þ₣Þþ=²˛ðŽšI=ð˛ð=¦=×šł³Ý¦×þŁ˛Þ¦šI=
ž˛Ł¦¹Čğšš=−þÝÞþ¹²şć=þ²=−þłþŠÞŞ¼=³¹ÝþŁ¦Ð=¹=²þÐ=×˛žÞ¦¾šÐI=₣²þ=−˛×˛ýš²×=
ý˛ð¹¦ý˛ÝşÞþš=ŁþžŠšÐ¹²Ł¦š=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=þ−×šŠšÝČš²I=
þð˛žŞŁ˛š²=Ý¦=²šý−š×˛²³×˛=Ł=−þýšğšÞ¦¦=ŁþžŠšÐ¹²Ł¦š=Þ˛=þ²þ−¦²šÝşÞ³ć=
ð×¦Ł³ć=¦=Ł=ð˛ðþÐ=ýš×š=Ć²þ=ŁþžŠšÐ¹²Ł¦š=×š˛Ý¦ž³š²¹ČK=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=¦Ý¦=Š¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š=ŠþÝŽÞŞ=ˇŞ²ş=
³¹²˛ÞþŁÝšÞŞ=Ł=×š½š×šÞ²Þþý=−þýšğšÞ¦¦I=₣²þˇŞ=Š˛ÞÞŞš=¦žýš×šÞ¦Č=
²šý−š×˛²³×Ş=ˇŞÝ¦=×š−×šžšÞ²˛²¦ŁÞŞý¦K
ıšý=ˇþÝşĞš=³¹²˛ÞþŁð˛=−˛×˛ýš²×þŁI=²šý=ˇþÝşĞš=ŠþÝČ=ŁþžŠšÐ¹²Ł¦Č=
²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=Þ˛=½þ×ý¦×þŁ˛Þ¦š=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐ=
Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=P ðšÝşŁ¦Þ˛FK=˚²þ=ð˛¹˛š²¹Č=−×šŁŞĞšÞ¦Č=¦Ý¦=
ÞšŠþ¹²¦ŽšÞ¦Č=Þþý¦Þ˛ÝşÞŞ¼=žÞ˛₣šÞ¦Ð=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦Č¼K=„¹Ý¦=
−˛×˛ýš²×=ý˛ð¹¦ý˛ÝşÞþš=ŁþžŠšÐ¹²Ł¦š=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=
³¹²˛ÞþŁÝšÞ=Þ˛=žÞ˛₣šÞ¦š=MI=×šł³Ý¦×þŁ˛Þ¦š=×˛ˇþ²˛š²=²þÝşðþ=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=
²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛K

SKPKP Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č

Ì˛×˛ýš²×W=×˛¹₣÷²Þ˛Č=²šý−š×˛²³×˛I=ý˛¹¦ý˛ÝşÞ˛Č=¦=ý¦Þ¦ý˛ÝşÞ˛Č=²šý−š×˛²³×˛=
−×šŠŁ˛×¦²šÝşÞþÐ=−þŠ˛₣¦=¦=¹ýšğšÞ¦š=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=
E−˛×˛ÝÝšÝşÞþš=¹ýšğšÞ¦šF

Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č=−×šŠ¹²˛ŁÝČš²=¹þˇþÐ=×šĞ˛ćğšš=ˇ˛žþŁþš=žÞ˛₣šÞ¦š=ŠÝČ=
ĆðþÞþýÞþÐ=¦=ðþý½þ×²ÞþÐ=Ćð¹−Ý³˛²˛¾¦¦=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦=−×¦=
×šł³Ý¦×þŁ˛Þ¦¦=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞK=Ô¦¹²šý˛=
×šł³Ý¦×þŁ˛Þ¦Č=içÖ~�ã~íáÅ=ŠÝČ=×˛¹₣÷²˛=Ć²þÐ=ð×¦ŁþÐ=²×šˇ³š²=³ð˛ž˛Þ¦Č=Þšðþ²þ×Ş¼=
−˛×˛ýš²×þŁ=¦=×˛¹¹₣¦²ŞŁ˛š²=¦ž=Þ¦¼=¹˛ýþ¹²þČ²šÝşÞþ=¹=−þýþğşć=
ý˛²šý˛²¦₣š¹ðþÐ=½þ×ý³ÝŞ=þ−²¦ý˛ÝşÞ³ć=þ²þ−¦²šÝşÞ³ć=ð×¦Ł³ćK

Ì×¦=Ć²þý=¹¦¹²šý˛=³₣¦²ŞŁ˛š²=¹Þ¦ŽšÞÞ³ć=Þ˛×³ŽÞ³ć=²šý−š×˛²³×³=¦=²šý−š×˛²³×³=
×šł³Ý¦×þŁ˛Þ¦Č=Ł=−þýšğšÞ¦¦K=Òšý−š×˛²³×˛=×šł³Ý¦×þŁ˛Þ¦Č=Ł=−þýšğšÞ¦¦=�=Ć²þ=
þ−Č²ş=Žš=ŁÞ³²×šÞÞšš=×˛¹₣÷²Þþš=žÞ˛₣šÞ¦šI=¹þ¹²þČğšš=¦ž=ŽšÝ˛²šÝşÞþÐ=
²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=EÞþý¦Þ˛ÝşÞþÐ=²šý−š×˛²³×Ş=−þýšğšÞ¦ČF=¦=
ŁþžŠšÐ¹²Ł¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦K=

Ì×¦=Ć²þý=−þÝşžþŁ˛²šÝş=−þÝ³₣˛š²=ŁþžýþŽÞþ¹²ş=ŁÝ¦Č²ş=Þ˛=þ²þ−¦²šÝşÞ³ć=
ð×¦Ł³ćI=¦žýšÞČČ=Þþý¦Þ˛ÝşÞ³ć=²šý−š×˛²³×³=Ł=−þýšğšÞ¦¦K

Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č=E×¦¹³Þþð SI=¹²×˛Þ¦¾˛ PUF=−þ=¹³²¦=þ−×šŠšÝš²¹Č=¹=−þýþğşć=
ý¦Þ¦ý˛ÝşÞþÐ=²šý−š×˛²³×Ş=¦=ðþÞš₣ÞþÐ=²šý−š×˛²³×Ş=ð×¦ŁþÐK=Í¦Þ¦ý˛ÝşÞ˛Č=
²šý−š×˛²³×˛=¹þþ²Łš²¹²Ł³š²=²šý−š×˛²³×š=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦I=×˛ŁÞþÐ=OM Œ`=
−×¦=−þÞ¦ŽšÞÞþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×šI=×˛ŁÞþÐ=OM Œ`=¦=−×¦=²šý−š×˛²³×š=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>36



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
−þŠ˛ćğšÐ=Ý¦Þ¦¦I=×˛ŁÞþÐ=OM Œ`K=Í¦Þ¦ý˛ÝşÞ˛Č=²šý−š×˛²³×˛=þ²þ−¦²šÝşÞþÐ=
ð×¦ŁþÐ=ŠþÝŽÞ˛=³¹²˛Þ˛ŁÝ¦Ł˛²ş¹Č=Ł=¹þþ²Łš²¹²Ł¦¦=¹=×˛¹₣÷²ÞþÐ=²šý−š×˛²³×þÐ=
þ²þ−¦²šÝşÞþÐ=¹¦¹²šýŞK=

‚ÝČ=Ł¦Š˛=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐ=E−þÞ¦ŽšÞ¦šL−þŁŞĞšÞ¦šF=þ−×šŠšÝČćğ¦ý¦=
ČŁÝČć²¹Č=þˇ˛=−˛×˛ýš²×˛=�ý¦Þ¦ý˛ÝşÞ˛Č=²šý−š×˛²³×˛=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=
E¹˛ý˛Č=Þ¦žð˛Č=²šý−š×˛²³×˛=ŁþžŠ³¼˛=¹Þ˛×³Ž¦I=þŽ¦Š˛šý˛Č=Ł=×šł¦þÞšI=
¹²×˛Þ¦¾˛ OTF=¦=×˛¹₣÷²Þ˛Č=²šý−š×˛²³×˛=E²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦I=
ðþ²þ×˛Č=ŠþÝŽÞ˛=ˇŞ²ş=Šþ¹²¦łÞ³²˛=−×¦=ý¦Þ¦ý˛ÝşÞþÐ=²šý−š×˛²³×š=Þ˛×³ŽÞþłþ=
ŁþžŠ³¼˛F=E×¦¹³Þþð SI=¹ÝšŁ˛FK

Ô=−þýþğşć=−˛×˛ýš²×˛=ý¦Þ¦ý˛ÝşÞ˛Č=²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=ýþŽÞþ=
þ−×šŠšÝ¦²ş=ý¦Þ¦ý˛ÝşÞþš=Þþý¦Þ˛ÝşÞþš=žÞ˛₣šÞ¦š=E×¦¹³Þþð SI=QFK=„¹Ý¦=
²šý−š×˛²³×˛=Þ¦Žš=Ć²þłþ=žÞ˛₣šÞ¦ČI=¹ÞþŁ˛=ŁðÝć₣˛š²¹Č=łþ×šÝð˛K=

Ì˛×˛ÝÝšÝşÞþš=¹ýšğšÞ¦š=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐ=ŁŁš×¼=¦Ý¦=ŁÞ¦ž=Šþ¹²¦ł˛š²¹Č=−×¦=
ŁŞ×˛ŁÞ¦Ł˛Þ¦¦=−˛×˛ýš²×þŁ=Ëþ××šð¾¦Č=žÞ˛₣šÞ¦Ð=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=¦L
¦Ý¦=³¹²˛ÞþŁð¦=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=E×¦¹³Þþð SI=¹−×˛Ł˛FK=Ò¹²˛ÞþŁð˛=
ðþ××šð¾¦¦=¦ýšš²=¹ýŞ¹ÝI=Þ˛−×¦ýš×I=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=¦žýš×šÞÞ˛Č=¹=−þýþğşć=
²š×ýþýš²×˛=²šý−š×˛²³×˛=Ł=−þýšğšÞ¦¦=þ²Ý¦₣˛š²¹Č=þ²=³¹²˛ÞþŁÝšÞÞþłþ=
Þþý¦Þ˛ÝşÞþłþ=žÞ˛₣šÞ¦ČK

Ï¹ş=ñ=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐI=¦žþˇ×˛Ž÷ÞÞþÐ=Ł=ł×˛½¦ðš=Þ˛=Š¦¹−ÝššI=
þ²Þþ¹¦²¹Č=ð=Š¦˛−˛žþÞ³=þ²=HOM Œ`=Šþ=-OM Œ`K
Ì×¦=³¹²˛ÞþŁðš=−˛×˛ýš²×˛=Ó˛¹₣÷²=ý¦Þ¦ý˛ÝşÞ˛Č=³¹²˛ÞþŁÝšÞÞ˛Č=
Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=þ²þˇ×˛Ž˛š²¹Č=Ł=Ł¦Šš=ð×³ł˛K=ÏŠÞ˛ðþ=
¦žþˇ×˛ŽšÞ¦š=Þš=Ł−þÝÞš=ðþ××šð²ÞþI=š¹Ý¦=ŁŁšŠ÷ÞÞ˛Č=ý¦Þ¦ý˛ÝşÞ˛Č=
Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=ýšÞšš=-OM Œ`=EŁ=Ć²þý=¹Ý³₣˛š=ð×³ł=Þš=Þ˛¼þŠ¦²¹Č=
Þ˛=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐFK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>37



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Ó¦¹K=S Ò¹²˛ÞþŁð˛=þ²þ−¦²šÝşÞþÐ=ð×¦ŁþÐK=ÔÝšŁ˛W=Ò¹²˛ÞþŁð˛=−þŁŞĞšÞ¦Č=¹=
−þýþğşć=×˛¹₣÷²ÞþÐ=²šý−š×˛²³×Ş=¦=ý¦Þ¦ý˛ÝşÞþÐ=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×ŞK=Ô−×˛Ł˛W=Ì˛×˛ÝÝšÝşÞþš=¹ýšğšÞ¦š=ŁþžýþŽÞþ=₣š×šž=
ðþ××šð¾¦ć=¦Ý¦=₣š×šž=Þþý¦Þ˛ÝşÞþš=žÞ˛₣šÞ¦š=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦

qý¦Þ^ Í¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛
q^ Ó˛¹₣÷²Þ˛Č=²šý−š×˛²³×˛=E²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦I=ðþ²þ×˛Č=ŠþÝŽÞ˛=ˇŞ²ş=Šþ¹²¦łÞ³²˛=

−×¦=ý¦Þ¦ý˛ÝşÞþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×šF
N Ò¹²˛ÞþŁð˛W=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=TR Œ`I=ý¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=-NM Œ`=

Eþ¹ÞþŁÞ˛Č=ð×¦Ł˛ČF
O Ò¹²˛ÞþŁð˛W=×˛¹₣÷²Þ˛Č=²šý−š×˛²³×˛=TR Œ`I=ý¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛ -OM Œ`
P Ò¹²˛ÞþŁð˛W=×˛¹₣÷²Þ˛Č=²šý−š×˛²³×˛=RM Œ`I=ý¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=-NM Œ`
Q Ò¹²˛ÞþŁð˛W=ý¦Þ¦ý˛ÝşÞ˛Č=²šý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦=PR Œ`
R Ò¹²˛ÞþŁð˛W=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=TR Œ`I=ý¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=-NM Œ`=

Eþ¹ÞþŁÞ˛Č=ð×¦Ł˛ČF
S Ì˛×˛ÝÝšÝşÞþš=¹ýšğšÞ¦š=þ¹ÞþŁÞþÐ=ð×¦ŁþÐ=−×¦=¦žýšÞšÞ¦¦=ðþ××šð¾¦¦=HP=¦Ý¦=³ŁšÝ¦₣šÞ¦š=

Þþý¦Þ˛ÝşÞþłþ=žÞ˛₣šÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦
T Ì˛×˛ÝÝšÝşÞþš=¹ýšğšÞ¦š=þ¹ÞþŁÞþÐ=ð×¦ŁþÐ=−×¦=¦žýšÞšÞ¦¦=ðþ××šð¾¦¦=-P=¦Ý¦=³ýšÞşĞšÞ¦š=

Þþý¦Þ˛ÝşÞþłþ=žÞ˛₣šÞ¦Č=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦

SKPKQ ‡¦ŠŞ=−þÞ¦ŽšÞ¦Č=EÞþ₣Þþš=−þÞ¦ŽšÞ¦šF

‚ÝČ=−þŠłþÞð¦=Þþ₣Þþłþ=−þÞ¦ŽšÞ¦Č=ð=×˛žÝ¦₣ÞŞý=−þ²×šˇÞþ¹²Čý=−þÝşžþŁ˛²šÝČ=
Šþ¹²³−ÞŞ=×˛žÝ¦₣ÞŞš=Ł¦ŠŞ=−þÞ¦ŽšÞ¦ČW

– ÓšŽ¦ý=−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦ČW=Ì×¦=−þ¹²þČÞÞþÐ=×˛ˇþ²š=
þ²þ−ÝšÞ¦Č=E¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=×˛ˇþ²˛š²=ˇšž=−š×š×ŞŁþŁF=−þýšğšÞ¦Č=Þ˛=
Þþ₣ş=þ¹²˛ć²¹Č=−×þł×š²Şý¦K=Î˛=Þþ₣ş=ýþŽÞþ=³¹²˛ÞþŁ¦²ş=Þþý¦Þ˛ÝşÞþš=
žÞ˛₣šÞ¦š=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦K=ÏÞþ=ˇ³Šš²=ð˛ð=ý¦Þ¦ý³ý=Þ˛=N=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>38



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
ËšÝşŁ¦Þ=Þ˛Žš=ŠÞšŁÞþÐ=Þþý¦Þ˛ÝşÞþÐ=²šý−š×˛²³×ŞK=‡=¹þþ²Łš²¹²Ł¦¦=¹=Š˛ÞÞŞý=
¦¹¼þŠÞŞý=žÞ˛₣šÞ¦šý=×˛¹¹₣¦²ŞŁ˛š²¹Č=þ²þ−¦²šÝşÞ˛Č=ð×¦Ł˛ČK
˚²˛=³¹²˛ÞþŁð˛=×šðþýšÞŠ³š²¹Č=ŠÝČ=þˇþł×šŁ˛=−þÝ˛K

– Ï²ðÝć₣šÞþW=ðþ²÷Ý=¦=¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=þ²þ−ÝšÞ¦Č=þ¹²˛ć²¹Č=
þ²ðÝć₣÷ÞÞŞý¦I=ž˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č=ŁðÝć₣šÞ˛K=Ù¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=
ž˛−³¹ð˛š²¹Č=²þÝşðþ=Ł=×šŽ¦ýš=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦ČK=
Îš=×šðþýšÞŠ³š²¹ČI=š¹Ý¦=¹³ğš¹²Ł³š²=þ−˛¹Þþ¹²ş=¹Ý¦Ğðþý=¹¦ÝşÞþłþ=
þ¼Ý˛ŽŠšÞ¦Č=žŠ˛Þ¦ČK

– ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦W=„¹Ý¦=
²šý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=Þš=Šþ¹²¦ł˛š²=þ−×šŠšÝ÷ÞÞþłþ=žÞ˛₣šÞ¦Č=
Þþ₣ÞþÐ=²šý−š×˛²³×Ş=EÞþý¦Þ˛ÝşÞþłþFI=þ²þ−ÝšÞ¦š=×˛ˇþ²˛š²=ð˛ð=−×¦=×šŽ¦ýš=
−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č=Eð˛ð=þ−¦¹˛Þþ=Ł=²¦−š=−þÞ¦ŽšÞ¦Č=¢ÓšŽ¦ý=
−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č±FK=„¹Ý¦=²šý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=
−×šŁŞĞ˛š²=þ−×šŠšÝ÷ÞÞþš=žÞ˛₣šÞ¦š=Þþ₣ÞþÐ=²šý−š×˛²³×Ş=ˇþÝšš=₣šý=Þ˛=N=
ËšÝşŁ¦ÞI=ðþ²÷Ý=¦=¾¦×ð³ÝČ¾¦þÞÞŞÐ=Þ˛¹þ¹=þ²þ−ÝšÞ¦Č=þ²ðÝć₣˛ć²¹Č=Eð˛ð=
þ−¦¹˛Þþ=Ł=²¦−š=−þÞ¦ŽšÞ¦Č=¢Ï²ðÝć₣šÞþ±FK=
˚²þ²=Ł¦Š=−þÞ¦ŽšÞ¦Č=ŁþžýþŽšÞ=²þÝşðþ=Ł=²þý=¹Ý³₣˛šI=š¹Ý¦=−³Ýş²=³−×˛ŁÝšÞ¦Č=
¦Ý¦=Š¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š=³¹²˛ÞþŁÝšÞŞ=Ł=−þýšğšÞ¦¦I=¦ýšćğšý=
ðÝć₣šŁþš=žÞ˛₣šÞ¦š=ŠÝČ=ðŁ˛×²¦×Ş=E×š½š×šÞ²Þþý=−þýšğšÞ¦¦F=¦Ý¦=
²šý−š×˛²³×˛=Ł=−þýšğšÞ¦¦=ðþÞ²×þÝ¦×³š²¹Č=¹=−þýþğşć=ŁÞšĞÞšłþ=Š˛²₣¦ð˛=
²šý−š×˛²³×ŞK

– ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛W=„¹Ý¦=−þÞ¦ŽšÞÞ˛Č=
²šý−š×˛²³×˛=¹Þ˛×³Ž¦=Þ¦Žš=žÞ˛₣šÞ¦Č=³¹²˛Þ˛ŁÝ¦Ł˛šýþłþ=−þ×þł˛=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×ŞI=¹¦¹²šý˛=þ²þ−ÝšÞ¦Č=½³Þð¾¦þÞ¦×³š²=ð˛ð=−×¦=×šŽ¦ýš=
−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č=Eð˛ð=þ−¦¹˛Þþ=Ł=²¦−š=−þÞ¦ŽšÞ¦Č=¢ÓšŽ¦ý=
−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č±FK=‡ŞĞš=Ć²þłþ=−þ×þł˛=¹¦¹²šý˛=þ²þ−ÝšÞ¦Č=
þ¹²˛÷²¹Č=þ²ðÝć₣÷ÞÞþÐ=Eð˛ð=þ−¦¹˛Þþ=Ł=²¦−š=−þÞ¦ŽšÞ¦Č=¢Ï²ðÝć₣šÞþ±FK=˚²þ²=
²¦−=−þÞ¦ŽšÞ¦Č=−×¦łþŠšÞ=ŠÝČ=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ=ˇšž=¹þˇ¹²ŁšÞÞþłþ=
−³Ýş²˛=³−×˛ŁÝšÞ¦ČLŠ¦¹²˛Þ¾¦þÞÞþłþ=³−×˛ŁÝšÞ¦ČK=‚˛ÞÞŞÐ=²¦−=−þÞ¦ŽšÞ¦Č=
Þ˛₣¦Þ˛Č=¹=þ−×šŠšÝ÷ÞÞþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=ž˛ğ¦ğ˛š²=þ²=¹Ý¦Ğðþý=
¹¦ÝşÞþłþ=þ¼Ý˛ŽŠšÞ¦Č=−þýšğšÞ¦ÐK
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>39



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKPKR Â˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č

Ú³Þð¾¦Č=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦Č=¦ýšš²=¹ÝšŠ³ćğ¦š=Ł˛×¦˛Þ²Ş=³¹²˛ÞþŁð¦W

– flšž=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦Č=Ež˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č=þ²ðÝć₣šÞ˛F

– Òšý−š×˛²³×˛=Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=EÞšþˇ¼þŠ¦ý=Š˛²₣¦ð=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛F=„¹Ý¦=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=Þš=Šþ¼þŠ¦²=Šþ=−þ×þł˛=
³¹²˛ÞþŁÝšÞÞþÐ=²šý−š×˛²³×Ş=ŠÝČ=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦ČI=˛Ł²þý˛²¦₣š¹ð¦=
ŁðÝć₣˛š²¹Č=Þ˛¹þ¹=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛K

– Òšý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=EŠ˛²₣¦ð=²šý−š×˛²³×Ş=o`PR=¦Ý¦=o`OMF=
„¹Ý¦=²šý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=−˛Š˛š²=Þ¦Žš=½¦ð¹¦×þŁ˛ÞÞþłþ=
žÞ˛₣šÞ¦ČI=×˛ŁÞþłþ=R Œ`I=˛Ł²þý˛²¦₣š¹ð¦=ŁðÝć₣˛š²¹Č=Þ˛¹þ¹=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛K=„¹Ý¦=²šý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=−þŠÞ¦ý˛š²¹Č=ŁŞĞš=T Œ`I=
Þ˛¹þ¹=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=˛Ł²þý˛²¦₣š¹ð¦=ŁŞðÝć₣˛š²¹ČK

Î˛₣¦Þ˛Č=¹=ð˛ðþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=³¹²˛ÞþŁð˛=ŠþÝŽÞ˛=−×š×Ł˛²ş=
−þÞ¦ŽšÞ¦š\

Ô²˛ÞŠ˛×²=afk bk NOUPN=²×šˇ³š²=ŠÝČ=¹þ¼×˛ÞšÞ¦Č=²š−ÝþŁþłþ=ðþý½þ×²˛I=₣²þˇŞ=
þˇþł×šŁ˛šýŞš=−þŁš×¼Þþ¹²¦=¦=¦¹²þ₣Þ¦ð¦=²š−Ý˛=ˇŞÝ¦=³¹²˛ÞþŁÝšÞŞ=Þ˛=
¹þþ²Łš²¹²Ł³ćğ³ć=ýþğÞþ¹²şI=š¹Ý¦=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=−×¦=Þþ₣Þþý=
−þÞ¦ŽšÞ¦¦=²šý−š×˛²³×Ş=þ¼Ý˛ŽŠ˛š²¹Č=Þ¦Žš=¹þþ²Łš²¹²Ł³ćğšłþ=žÞ˛₣šÞ¦ČK=

‡=−˛×˛ýš²×š=Î˛₣¦Þ˛Č=¹=ð˛ðþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=³¹²˛ÞþŁð˛=ŠþÝŽÞ˛=
−×š×Ł˛²ş=−þÞ¦ŽšÞ¦š\=ýþŽÞþ=³¹²˛ÞþŁ¦²ş=−þ×þł=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=

Ï`qlml‰ÎÏW=−þŁ×šŽŠšÞ¦š=³¹²˛ÞþŁð¦=−×¦=þ²×¦¾˛²šÝşÞŞ¼=
²šý−š×˛²³×˛¼

Ò¹²˛ÞþŁð¦=flšž=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦Č=¦=Òšý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=
−þýšğšÞ¦¦=Þš=−×šŠþ¹²˛ŁÝČć²=ž˛ğ¦²³=þ²=ž˛ýš×ž˛Þ¦Č=¦Ý¦=
−×šŠþ¹²˛ŁÝČć²=š÷=Ł=ÞšŠþ¹²˛²þ₣Þþý=þˇİ÷ýšK=Ì×¦=ŁŞˇþ×š=Š˛ÞÞŞ¼=
³¹²˛ÞþŁþð=Š¦¹−ÝšÐ=þ²þˇ×˛Ž˛š²=¹þþˇğšÞ¦š=þ=²þýI=₣²þ=ŁþžÞ¦ð˛š²=
þ−˛¹Þþ¹²ş=ž˛ýš×ž˛Þ¦ČK

‚ÝČ=Þ˛Š÷ŽÞþÐ=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦Č=¦¹−þÝşž³Ð²š=³¹²˛ÞþŁð³=
Î˛×³ŽÞ˛Č=²šý−š×˛²³×˛K

Î˛¹²×þÐð˛=Òšý−š×˛²³×˛=ŁþžŠ³¼˛=Ł=−þýšğšÞ¦¦=Þš=þˇš¹−š₣¦Ł˛š²=
˛ˇ¹þÝć²ÞþÐ=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦ČI=²˛ð=ð˛ðI=Þ˛−×¦ýš×I=ýþł³²=
ž˛ý÷×žÞ³²ş=²×³ˇþ−×þŁþŠŞI=−×þÝþŽšÞÞŞš=Ł=Þ˛×³ŽÞŞ¼=¹²šÞ˛¼I=¼þ²Č=
²šý−š×˛²³×˛=Ł=×š½š×šÞ²Þþý=−þýšğšÞ¦¦=¦ž�ž˛=−×¦²þð˛=−þ¹²þ×þÞÞšłþ=
²š−Ý˛=ýþŽš²=ˇŞ²ş=žÞ˛₣¦²šÝşÞþ=ŁŞĞš=R=Œ`K=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>40



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
Eþ²Þþ¹¦²šÝşÞþ=−þÞ¦ŽšÞÞþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞI=¹²×˛Þ¦¾˛ OSFK=

Ó¦¹³Þþð T=−þð˛žŞŁ˛š²I=ð˛ð=½³Þð¾¦þÞ¦×³š²=¹¦¹²šý˛=ž˛ğ¦²Ş=þ²=ž˛ýš×ž˛Þ¦Č=ˇšž=
¦=−×¦=Þ˛Ý¦₣¦¦=˛ð²¦Ł¦×þŁ˛ÞÞþłþ=−˛×˛ýš²×˛K=‡Şˇ×˛ÞÞŞš=³¹²˛ÞþŁð¦W=Â˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦Č=Ł=¹þþ²Łš²¹²Ł¦¦=¹=Þ˛×³ŽÞþÐ=²šý−š×˛²³×þÐX=²šý−š×˛²³×˛=ž˛ğ¦²Ş=
þ²=ž˛ýš×ž˛Þ¦Č=R Œ`K=

Ó¦¹K=T ‡Ý¦ČÞ¦š=−˛×˛ýš²×˛=?Î˛₣¦Þ˛Č=¹=ð˛ðþÐ=Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş=
³¹²˛ÞþŁð˛=ŠþÝŽÞ˛=−×š×Ł˛²ş=−þÞ¦ŽšÞ¦š\?K=ÔÝšŁ˛W=−˛×˛ýš²×=¦ýšš²=
žÞ˛₣šÞ¦š=?Ï²ðÝ?=Ež˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛FK=Ô−×˛Ł˛W=−˛×˛ýš²×=³¹²˛ÞþŁÝšÞ=
Þ˛=žÞ˛₣šÞ¦š=-NR Œ`K=

q^ Î˛×³ŽÞ˛Č=²šý−š×˛²³×˛
qs Òšý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦
N ‡¦Š=×šł³Ý¦×þŁ˛Þ¦Č=Ï²ðÝć₣šÞþ
O ÓšŽ¦ý=−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č=E³¹²˛ÞþŁð˛=Þþ₣ÞþÐ=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦F
P ÓšŽ¦ý=þ²þ−ÝšÞ¦Č=E³¹²˛ÞþŁð˛=ŠÞšŁÞþÐ=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦F

„¹Ý¦=Þ˛×³ŽÞ˛Č=²šý−š×˛²³×˛=Þš=Šþ¹²¦ł˛š²=žÞ˛₣šÞ¦ČI=×˛ŁÞþłþ=-NR Œ`I=þ²þ−ÝšÞ¦š=
−š×š¼þŠ¦²=¦ž=×šŽ¦ý˛=−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝšÞ¦Č=Ł=×šŽ¦ý=þ²þ−ÝšÞ¦Č=
E×¦¹³Þþð TI=PFK=flÝ˛łþŠ˛×Č=Ć²þý³=ýþł³²=ˇŞ²ş=¦¹−þÝşžþŁ˛ÞŞ=ýšÞşĞ¦š=
−þŁš×¼Þþ¹²¦=ŠÝČ=þ²þ−ÝšÞ¦ČK

TATA

T
V

5°C
T
V

5°C -15°C

1 321 2
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>41



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKQ ·þ×Č₣˛Č=ŁþŠ˛

‡eÊj^eÊbW=Ï−˛¹Þþ¹²ş=þĞ−˛×¦Ł˛Þ¦Č=łþ×Č₣šÐ=ŁþŠþÐ=Ł=ýš¹²˛¼=
ŁþŠþ×˛žˇþ×˛

„¹Ý¦=²šý−š×˛²³×Ş=łþ×Č₣šÐ=ŁþŠŞ=³¹²˛ÞþŁÝšÞŞ=ŁŞĞšI=₣šý=SM Œ`=¦=Łþ=
Ł×šýČ=²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦I=ŁþžÞ¦ð˛š²=þ−˛¹Þþ¹²ş=þĞ−˛×¦Ł˛Þ¦Č=
łþ×Č₣šÐ=ŁþŠþÐ=Ł=ýš¹²˛¼=ŁþŠþ×˛žˇþ×˛K

Ôð˛Ž¦²š=‡˛Ğšý³=ðÝ¦šÞ²³I=₣²þˇŞ=þÞ=þ²ð×ŞŁ˛Ý=ð×˛Þ=²þÝşðþ=¹þ=
¹ýšĞ˛ÞÞþÐ=²÷−ÝþÐ=ŁþŠþÐK=

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ˛=łþ×Č₣˛Č=ŁþŠ˛=Eý˛×ð¦×þŁ˛Þ˛=¹=

−þýþğşć=BFK

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=−š×š¼þŠ˛=ð=−³Þð²³=·þ×Č₣˛Č=
ŁþŠ˛=K
Ï²ð×þš²¹Č=ýšÞć==ÒÔÒfiÎÏ‡Ëfi=y=·ÏÓ˝ıfi˝=‡Ï‚fiK

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁ˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò¹²˛ÞþŁ¦Ý¦=Ý¦=‡Ş=·‡Ô\ ‚˛I=Þš² ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=a_^=
þ²ýšÞ¦²ş=³¹²˛ÞþŁð³=łþ×Č₣šÐ=
ŁþŠŞ=ÞšŁþžýþŽÞþK

Ïł×˛Þ¦₣šÞ¦š=ý˛ð¹K=
ŁþžýþŽÞþÐ=Þþý¦Þ˛ÝşÞþÐ=
²šý−š×˛²³×Ş=·‡Ô=ŠþW

SM Œ`=

þ²=SM Œ`=Šþ=UM Œ`

‚þ=ð˛ðþÐ=²šý−š×˛²³×Ş=
Þšþˇ¼þŠ¦ýþ=Þ˛ł×š²ş=·‡Ô\

SM Œ`=

þ²=PM Œ`=Šþ=UM Œ`

„¹Ý¦=þł×˛Þ¦₣šÞ¦š=³¹²˛ÞþŁÝšÞþ=
Þ˛=žÞ˛₣šÞ¦š=[SM Œ`I=Ł=ÍšÞć=
þ−š×˛²þ×˛=ýþŽÞþ=³¹²˛ÞþŁ¦²ş=
Š˛Žš=Ć²þ=ˇþÝšš=ŁŞ¹þðþš=
žÞ˛₣šÞ¦šK

ıš×šž=₣²þ=ŠþÝŽÞ˛=
þ¹³ğš¹²ŁÝČ²ş¹Č=
−þŠłþ²þŁð˛=·‡Ô\

Ò×÷¼¼þŠþŁþÐ=
−š×šðÝć₣˛ćğ¦Ð=
ŁšÞ²¦Ýş

Þ˛¹þ¹=Þ˛ðþ−¦²šÝČ

NF

Ò˛ˇK=NP Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛=y=·þ×Č₣˛Č=ŁþŠ˛

СЕРВИС\УСТАНОВКИ

B

Праметры установки
Параметры котла
ГВС
Отопит. контур 1
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>42



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
ÊžýšÞ¦²ş=−×þł×˛ýý³=
·‡Ô\

Š˛I=Þš² Ì×¦=ŁŞˇþ×š=Ł˛×¦˛Þ²˛==‚˛=
¹¦¹²šý˛=−š×šÐŠ÷²=ð=−×þł×˛ýýš=
−š×šðÝć₣šÞ¦Č=łþ×Č₣šÐ=ŁþŠŞK

Ù¦×ð³ÝČ¾¦ČNF

Ò¹²˛ÞþŁÝšÞ=Ý¦=
¾¦×ð³ÝČ¾¦þÞÞŞÐ=
Þ˛¹þ¹\

Š˛I=Þš² NF

ÔðþÝşðþ=×˛ž=Ł=₣˛¹=
ŠþÝŽšÞ=ŁðÝć₣˛²ş¹Č=
¾¦×ð³ÝČ¾¦þÞÞŞÐ=
Þ˛¹þ¹\

N=×˛ž=ž˛=P=ý¦Þ³²ŞI=
O=×˛ž˛=ž˛=P=ý¦Þ³²ŞI=
P=×˛ž˛=ž˛=P=ý¦Þ³²ŞI=
Q=×˛ž˛=ž˛=P=ý¦Þ³²ŞI=
R=×˛ž=ž˛=P=ý¦Þ³²ŞI=
S=×˛ž=ž˛=P=ý¦Þ³²ŞI=
Þ˛=ŠÝ¦²šÝşÞŞÐ=¹×þð

NF

‡ðÝć₣¦²ş=¾¦×ð³ÝČ¾¦ć ·×˛½¦₣š¹ðþš=−×šŠ¹²˛ŁÝšÞ¦š=
₣˛¹²þ²Ş=−š×šðÝć₣šÞ¦Ð=Ł=₣˛¹K
NF

ÊžýšÞ¦²ş=−×þł×˛ýý³=
¾¦×ð³ÝČ¾¦¦\

Š˛I=Þš² Ì×¦=ŁŞˇþ×š=Ł˛×¦˛Þ²˛=‚˛=
¹¦¹²šý˛=−š×šÐŠ÷²=ð=−×þł×˛ýýš=
−š×šðÝć₣šÞ¦Č=¾¦×ð³ÝČ¾¦¦K
NF

Òš×ý¦₣š¹ð˛Č=Ššž¦Þ½šð¾¦ČNF

Ì×þŁš¹²¦=²š×ý¦₣š¹ð³ć=
Ššž¦Þ½šð¾¦ć\

Š˛I=Þš² NF

Ì×¦=ð˛ðþÐ=²šý−š×˛²³×š=
Þšþˇ¼þŠ¦ýþ=−×þŁš¹²¦=
²š×ý¦₣š¹ð³ć=
Ššž¦Þ½šð¾¦ć\NF

TM Œ`=

þ²=SM Œ`=Šþ=UM Œ`

Ì×¦=²šý−š×˛²³×˛¼=ˇþÝšš=SM Œ`=
Łþ=Ł×šýČ=¦=−þ¹Ýš=−×þŁšŠšÞ¦Č=
²š×ý¦₣š¹ðþÐ=Ššž¦Þ½šð¾¦¦=
¹³ğš¹²Ł³š²=þ−˛¹Þþ¹²ş=
þĞ−˛×¦Ł˛Þ¦Č=łþ×Č₣šÐ=ŁþŠþÐ=Ł=
ýš¹²˛¼=ŁþŠþ×˛žˇþ×˛K=
NF

‡=ð˛ðþÐ=ŠšÞş=ÞšŠšÝ¦=
−×þŁš¹²¦=²š×ý¦₣š¹ð³ć=
Ššž¦Þ½šð¾¦ć\NF

ÌþÞšŠšÝşÞ¦ðI=Ł²þ×Þ¦ðI=
¹×šŠ˛I=₣š²Łš×łI=−Č²Þ¦¾˛I=
¹³ˇˇþ²˛I=Łþ¹ð×š¹šÞşšI=
šŽšŠÞšŁÞþ

NF

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁ˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NP Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛=y=·þ×Č₣˛Č=ŁþŠ˛
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>43



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
‡=ð˛ðþš=Ł×šýČ=Þ³ŽÞþ=
−×þŁš¹²¦=²š×ý¦₣š¹ð³ć=
Ššž¦Þ½šð¾¦ć\NF

NWMM
¹=MWMM=Šþ=OPWMM

ÍþŽÞþ=ŁŁš¹²¦=²þÝşðþ=²þ₣Þþš=
Ł×šýČ=Ł=₣˛¹˛¼K
NF

fið²¦Ł¦×þŁ˛²ş=¹Łš²þŠ¦þŠ=
iba=ðÞþ−ð¦=þŠÞþ×˛žþŁþÐ=
ž˛ł×³žð¦\

‚˛I=Þš² Ú³Þð¾¦Č=þŠÞþ×˛žþŁþÐ=ž˛×ČŠð¦=
¹þ¼×˛ÞČš²¹ČI=þŠÞ˛ðþ=ˇþÝšš=Þš=
þ²þˇ×˛Ž˛š²¹Č=¹=−þýþğşć=
¹Łš²þŠ¦þŠ˛K
NF

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁ˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NP Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛=y=·þ×Č₣˛Č=ŁþŠ˛
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>44



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKR =Ì˛×˛ýš²×Ş=łšÝ¦þðþÝÝšð²þ×˛NF

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²==Ì˛×˛ýš²×Ş=

łšÝ¦þðþÝÝšð²þ×˛=Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć=BFK

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=−š×š¼þŠ˛=ð=−³Þð²³=
Ì˛×˛ýš²×Ş=łšÝ¦þðþÝÝšð²þ×˛K
Ï²ð×þš²¹Č=ýšÞć=ÒÔÒfiÎÏ‡Ëfi=y=·„ÈÊÏËÏÈÈ„ËÒÏÓK

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ë˛ðþÐ=×šŽ¦ý=×˛ˇþ²Ş=
Þšþˇ¼þŠ¦ýþ=
−×¦ýšÞ¦²ş\

fiŁ²þý˛²¦₣š¹ð¦Ð=×šŽ¦ý=
−þ¹²þČÞÞþ=ŁðÝI=−þ¹²þČÞÞþ=
ŁŞðÝ

NF

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

Ë˛ð˛Č=ý˛ð¹¦ý˛ÝşÞ˛Č=
²šý−š×˛²³×˛=
Þ˛ðþ−¦²šÝČ=łšÝK=
³¹²˛ÞþŁð¦\

SM Œ`=
þ²=PM Œ`=Šþ=VM Œ`

NF

Î¦Žš=ð˛ðþÐ=
²šý−š×˛²³×Ş=Þš=ŠþÝŽÞ~=
Þš=ŠþÝŽÞ˛=−˛Š˛²ş=²šý−K=
Þ˛ðþ−¦²šÝČ\

‡ŞðÝ=
þ²=PM Œ`=Šþ=RQ Œ`I=ŁŞðÝ

NF

Ë˛ð˛Č=ý¦Þ¦ý˛ÝşÞ˛Č=
ýþğÞþ¹²ş=Þ˛¹þ¹˛\

PMB=
þ²=OMB=Šþ=NMMB

NF

Ò˛ˇK=NQ Þ˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ì˛×˛ýš²×Ş=łšÝ¦þðþÝÝšð²þ×˛

ÌþČ¹ÞšÞ¦Č=ð=³¹²˛ÞþŁð˛ý=‡Ş=Þ˛ÐŠ÷²š=Ł=Šþð³ýšÞ²˛¾¦¦=ýþŠ³ÝČ=
łšÝ¦þðþÝÝšð²þ×˛=pjNMK

Параметры котла
ГВС
Отопит. контур 1
Параметры гел.уст

СЕРВИС\УСТАНОВКИ

B

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>45



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKS Ë˛Ý¦ˇ×þŁð˛=o`PR

‡Ş×˛ŁÞ¦Ł˛Þ¦š=²šý−š×˛²³×Ş=Ł=−þýšğšÞ¦¦=Eð˛Ý¦ˇ×þŁð˛F

„¹Ý¦=ŁˇÝ¦ž¦=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Þ˛¼þŠ¦²¹Č=˛Ł²þÞþýÞŞÐ=²š×ýþýš²×I=ýþŽš²=
−þÝ³₣¦²ş¹Č=²˛ðI=₣²þ=þÞ=̌ ³Šš²=−þð˛žŞŁ˛²ş=²šý−š×˛²³×³I=þ²Ý¦₣Þ³ć=þ²=¦ÞŠ¦ð˛¾¦¦=
Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦ČK=Ô=−þýþğşć=Ć²þÐ=½³Þð¾¦¦=‡Ş=ýþŽš²š=¹ðþ××šð²¦×þŁ˛²ş=
žÞ˛₣šÞ¦Č=Þ˛=¦ÞŠ¦ð˛¾¦¦=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=¹=Š˛ÞÞŞý¦=²š×ýþýš²×˛=
E"ð˛Ý¦ˇ×þŁð˛"FK=
Ìš×šŠ=ðþ××šð²¦×þŁðþÐ=−þð˛ž˛Þ¦Č=²šý−š×˛²³×Ş=Þšþˇ¼þŠ¦ýþ=³₣¦²ŞŁ˛²ş=
¹ÝšŠ³ćğššW

– Êžýš×Čš²=Ý¦=²š×ýþýš²×=ˇþÝšš=²þ₣ÞþI=₣šý=−³Ýş²=³−×˛ŁÝšÞ¦Č\

– Î˛¼þŠ¦²¹Č=Ý¦=²š×ýþýš²×=Ł=Þš−þ¹×šŠ¹²ŁšÞÞþÐ=ˇÝ¦žþ¹²¦=þ²=−³Ýş²˛=
³−×˛ŁÝšÞ¦ČI=²˛ðI=₣²þ=Þ˛=þˇ˛=−×¦ˇþ×˛=ŠšÐ¹²Ł³ć²=þŠÞ¦=¦=²š=Žš=¦¹²þ₣Þ¦ð¦=
²š−ÝþŁþłþ=¦žÝ³₣šÞ¦Č=EÞ˛−×KI=¹þÝÞš₣Þþš=¦žÝ³₣šÞ¦šI=ð˛ý¦ÞF\

Ì×¦ýš×W=š¹Ý¦=²š×ýþýš²×=−þð˛žŞŁ˛š²=²šý−š×˛²³×³I=ˇþÝşĞ³ćI=₣šý=−þð˛ž˛Þ¦Č=
−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Þ˛=MIRŒ`I=ŁŁšŠ¦²š=Ł=ð˛₣š¹²Łš=žÞ˛₣šÞ¦Č=ð˛Ý¦ˇ×þŁð¦=?HMIR=h?K

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=Ë˛Ý¦ˇ×þŁð˛=o`PR=

Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć=BFK

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=ŁŞˇþ×˛=−³Þð²˛=Ë˛Ý¦ˇ×þŁð˛=
o`PRK
Ï²ð×þš²¹Č=ýšÞć=ÒÔÒfiÎÏ‡Ëfi=y=ËfiÈÊflÓÏ‡Ëfi=o`PRK=

Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=³¹²˛ÞþŁð˛=
ŁŞŠšÝšÞ=Ž¦×ÞŞý Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ë˛Ý¦ˇ×þŁð˛=
²šý−š×˛²³×Ş=Ł=ðþýÞ˛²šW

MKMh=
þ² -RKMh=Šþ=HRKMh

Ò˛ˇK=NR Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=Ë˛Ý¦ˇ×þŁð˛=o`PR

Ï²ŠšÝşÞþ=³¹²˛ÞþŁÝšÞÞŞÐ=²š×ýþýš²×=ýþŽš²=×š˛ł¦×þŁ˛²ş=Þ˛=
¦žýšÞšÞ¦Č=²šý−š×˛²³×Ş=ˇŞ¹²×šš=¦Ý¦=ýšŠÝšÞÞššI=₣šý=−³Ýş²=
³−×˛ŁÝšÞ¦ČK=

ÌþĆ²þý³=Þš=ðþ××šð²¦×³Ð²š=−þð˛ž˛Þ¦Č=−³Ýş²˛=³−×˛ŁÝšÞ¦Č=Łþ=Ł×šýČ=
½˛žŞ=−þÞ¦ŽšÞ¦Č=²šý−š×˛²³×Ş=¦Ý¦=−×¦=×˛žþł×šŁš=þ²þ−¦²šÝşÞþÐ=
³¹²˛ÞþŁð¦K

ГВС
Отопит. контур 1
Параметры гел.уст
Калибровка RC35

СЕРВИС\УСТАНОВКИ

B

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>46



Ò¹²˛ÞþŁð˛=þˇþ×³ŠþŁ˛Þ¦Č=EýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č=³¹²˛ÞþŁð˛ý¦F6 
SKT ËþÞ²˛ð²ÞŞš=¦Þ½þ×ý˛¾¦¦

ËþÞ²˛ð²ÞŞš=Š˛ÞÞŞš=ŁŞŁþŠČ²¹Č=Þ˛=Š¦¹−ÝšÐ=Ł=¹Ý³₣˛š=Þš¦¹−×˛ŁÞþ¹²¦=
˛Ł²þý˛²¦₣š¹ð¦K

‡ŁþŠ=Þ˛žŁ˛Þ¦Č=¹š×Ł¦¹ÞþÐ=½¦×ýŞ=¦=Þþýš×˛=²šÝš½þÞ˛

‡=×˛¹−þ×ČŽšÞ¦¦=Þ˛¼þŠČ²¹Č=ŠŁš=¹²×þð¦=−þ=ON=¹¦ýŁþÝ=EŠþ−³¹²¦ýŞ=ˇþÝşĞ¦š=
ˇ³ðŁŞI=¾¦½×Ş=¦=Þšðþ²þ×Şš=¹−š¾¦˛ÝşÞŞš=¹¦ýŁþÝŞFK

Òšð³ğ˛Č=−þž¦¾¦Č=ð³×¹þ×˛=ý¦ł˛š²=Eý˛×ð¦×þŁ˛Þ˛=¹=−þýþğşć="|"FK

NK ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=þŠÞþŁ×šýšÞÞþ=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č=
=¦=ŁŞˇ×˛²ş=Š×³łþÐ=¹¦ýŁþÝK

Ï²−³¹²¦²ş=ðÞþ−ð³W=¦žýšÞ÷ÞÞŞÐ=¹¦ýŁþÝ=¹þ¼×˛Þ¦²¹Č=Ł=−˛ýČ²¦K

OK Ó³₣ð³=³−×˛ŁÝšÞ¦Č=Ł×˛ğ˛²ş=Ł−×˛Łþ=¦Ý¦=ŁÝšŁþ= =ŠÝČ=¹ŠŁ¦ł˛=−þž¦¾¦¦=
ð³×¹þ×˛K

PK ‚ÝČ=³Š˛ÝšÞ¦Č=¹¦ýŁþÝ˛=ŁŁšŠ¦²š=−×þˇšÝK

QK Î˛Ž˛²ş=ðÞþ−ð³ =ŠÝČ=¹þ¼×˛ÞšÞ¦Č=Š˛ÞÞŞ¼=¦=ŁŞ¼þŠ˛=¦ž=ýšÞćK

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Š³²=ŁŞˇ×˛ÞŞ=ËþÞ²˛ð²ÞŞš=¦Þ½þ×ý˛¾¦¦=

Eý˛×ð¦×þŁ˛ÞŞ=¹=−þýþğşć=BFK

Î˛Ž˛²ş=ðÞþ−ð³= =ŠÝČ=−š×š¼þŠ˛=ð=−³Þð²³=
ËþÞ²˛ð²ÞŞš=¦Þ½þ×ý˛¾¦¦K
Ï²ð×þš²¹Č=ýšÞć=ÒÔÒfiÎÏ‡Ëfi=y=ËÏÎÒfiËÒK

Ì³Þð²=ýšÞć ‚¦˛−˛žþÞ=ŁŁþŠ˛ Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Î˛žŁ˛Þ¦š=¦=²šÝš½þÞ=
¹š×Ł¦¹ÞþÐ=½¦×ýŞW

|=|=|=|=|=|=|=|=|=|=|

|=|=|=|=|=|=|=|=|=|=|

Ò˛ˇK=NS Î˛Ł¦ł˛²þ×=ýšÞć=¹š×Ł¦¹˛=Ò¹²˛ÞþŁð˛ y=ËþÞ²˛ð²

Отопит. контур 1

СЕРВИС\УСТАНОВКИ

B

Параметры гел.уст
Калибровка RC35
Контактная информ.
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>47



‚¦˛łÞþ¹²¦ð˛7 
T ‚¦˛łÞþ¹²¦ð˛
ÍšÞć=¹š×Ł¦¹˛=‚¦˛łÞþ¹²¦ð˛=¹þŠš×Ž¦²=ýÞþŽš¹²Łþ=¦Þ¹²×³ýšÞ²þŁ=ŠÝČ=
Š¦˛łÞþ¹²¦ð¦W

– Ú³Þð¾¦þÞ˛ÝşÞŞÐ=²š¹²NI=O

– ÂÞ˛₣šÞ¦š=Þ˛=ýþÞ¦²þ×š==

– ÔþþˇğšÞ¦š=þˇ=þĞ¦ˇðšN

– Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č

– ‡š×¹¦¦

TKN Ú³Þð¾¦þÞ˛ÝşÞŞÐ=²š¹²NFI=OF

Ô=−þýþğşć=Ć²þłþ=ýšÞć=‡Ş=ýþŽš²š=¾šÝšÞ˛−×˛ŁÝšÞÞþ=³−×˛ŁÝČ²ş=þ²ŠšÝşÞŞý¦=
ðþý−þÞšÞ²˛ý¦=bjp=ŠÝČ=²š¹²¦×þŁ˛Þ¦Č=¦¼=×˛ˇþ²ŞK=‚þ¹²³−ÞŞš=½³Þð¾¦¦=¦=
ŁþžýþŽÞþ¹²¦=³¹²˛ÞþŁð¦=ž˛Ł¦¹Č²=þ²=³¹²˛ÞþŁð¦K

NK ˚²˛=½³Þð¾¦Č=ŁþžýþŽÞ˛=¹=þł×˛Þ¦₣šÞ¦Čý¦=Þ˛=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=a_^K
OK ˚²˛=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=Þ˛=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñK

ÏŠÞþŁ×šýšÞÞþ=Þ˛Ž˛²ş=ðÞþ−ð¦ =H= =H= =ŠÝČ=
þ²ð×Ş²¦Č=ýšÞć=Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝K

ÌþŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č= =ŁÝšŁþ=Šþ=²š¼=−þ×I=
−þð˛=Þš=ˇ³Šš²=ŁŞˇ×˛Þ=−³Þð²=‚¦˛łÞþ¹²¦ð˛==
Eý˛×ð¦×þŁ˛Þ=¹=−þýþğşć FK

Î˛Žý¦²š=Þ˛=ðÞþ−ð³= I=₣²þˇŞ=þ²ð×Ş²ş=ýšÞć==
Ô„Ó‡ÊÔ=y=‚Êfi·ÎÏÔÒÊËfiK

ÔÝšŠ¦²š=ž˛=²šýI=₣²þˇŞ=¦ÞŠ¦ð˛¾¦Č=þ²ŠšÝşÞŞ¼=−³Þð²þŁ=ýšÞć=ž˛Ł¦¹šÝ˛=
þ²=³¹²˛ÞþŁð¦K=

МЕНЮ ОБСЛУЖИВАНИЯ

Кратк. меню
Установки
Диагностика
Тех.обслуживание

B

Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>48



‚¦˛łÞþ¹²¦ð˛7 
TKO ÂÞ˛₣šÞ¦š=ýþÞ¦²þ×˛=

Ô=−þýþğşć=ýšÞć=ÂÞ˛₣šÞ¦š=ýþÞ¦²þ×˛=‡Ş=ýþŽš²š=−×þ¹ýþ²×š²ş=Ł¹š=
Þþý¦Þ˛ÝşÞŞš=¦=½˛ð²¦₣š¹ð¦š=žÞ˛₣šÞ¦Č=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K=Ì×¦=ŁŞŁþŠš=
žÞ˛₣šÞ¦Ð=Þ˛=ýþÞ¦²þ×š=þ²þˇ×˛Ž˛š²¹Č=¹Þ˛₣˛Ý˛=Þþý¦Þ˛ÝşÞþšI=˛=ž˛²šý=
½˛ð²¦₣š¹ðþš=žÞ˛₣šÞ¦šK=Ï²þˇ×˛Ž÷ÞÞŞš=žÞ˛₣šÞ¦Č=ž˛Ł¦¹Č²=þ²=³¹²˛ÞþŁð¦K

ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=ðÞþ−ð³ I=þŠÞþŁ×šýšÞÞþ=
−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=¦žýšÞ¦²ş=
³¹²˛ÞþŁð³W=
Þ˛−×KI=·ÏÓ„ÈËfi=‡˘ËÈK=¦žýšÞ¦²ş=Þ˛=·ÏÓ„ÈËfi=‡ËÈK
ÊžýšÞšÞ¦š=Ł¹²³−˛š²=Ł=¹¦Ý³=²þÝşðþ=−×¦=þ²−³¹ð˛Þ¦¦=

ðÞþ−ð¦ K

‡×˛ğ˛Ð²š=×³₣ð³=³−×˛ŁÝšÞ¦Č= I=₣²þˇŞ=−š×šÐ²¦=þ²=
þŠÞþłþ=¦žþˇ×˛ŽšÞ¦Č=ð=Š×³łþý³=E−×¦=½³Þð¾¦þÞ˛ÝşÞþý=
²š¹²šFK

Ò₣²¦²š=³ð˛ž˛Þ¦ČI=ðþ²þ×Şš=þ²þˇ×˛Ž˛ć²¹Č=Þ˛=Š¦¹−Ýšš=−×¦=−š×š¼þŠš=−þ=
ýšÞć=¦Ý¦=−×¦=ŁŞˇþ×š=³¹²˛ÞþŁþðK=Î˛Žý¦²š=Ýćˇ³ć=ðÞþ−ð³=¦Ý¦=
−þŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=−þŠ²Łš×Š¦²ş=³ð˛ž˛Þ¦šK

Îš=Šþ−³¹ð˛ć²¹Č=³¹²˛ÞþŁð¦I=ýþł³ğ¦š=−×¦Łš¹²¦=ð=−þŁ×šŽŠšÞ¦ć=
ðþý−þÞšÞ²þŁK=ÌþĆ²þý³=ýþŽš²=ˇŞ²ş=²˛ðI=₣²þ=þ−×šŠšÝ÷ÞÞŞš=³¹²˛ÞþŁð¦=
ˇ³Š³²=Þš=×˛ž×šĞšÞŞK

„¹Ý¦=ŠÝČ=žÞ˛₣šÞ¦ÐI=ðþ²þ×Şš=Þ³ŽÞþ=þ²þˇ×˛ž¦²şI=Þ˛=Š¦¹−Ýšš=Þš=¼Ł˛²˛š²=
ýš¹²˛I=þÞ¦=ŁŞŁþŠČ²¹Č=Ł=Ł¦Šš=¹−¦¹ð˛K=Ô−¦¹þð=ýþŽÞþ=−×þÝ¦¹²˛²ş=ŁŁš×¼=
¦Ý¦=ŁÞ¦žK

 Вентиль 1 + 2            закр

ФУНКЦ.ТЕСТ\КОТЕЛ

 Зажигание                откл.
 Пламя                        откл.
 Пламя          0.0µA
BГорелка          ВКЛ

 t котла                    60°C
ФУНКЦ.ТЕСТ\КОТЕЛ

 t воздуха                32°C
 t дымовых.газов   78°C
 Пламя          ВЫКЛ
BГорелка         ВЫКЛ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>49



‚¦˛łÞþ¹²¦ð˛7 
TKP Ô¦łÞ˛Ý=þĞ¦ˇð¦
‡=ýšÞć=Ô¦łÞ˛Ý=þĞ¦ˇð¦=‡Ş=ýþŽš²š=ž˛Š˛²ş=þ²þˇ×˛ŽšÞ¦š=−þ¹ÝšŠÞ¦¼=ŁþžÞ¦ðĞ¦¼=
Þš¦¹−×˛ŁÞþ¹²šÐ=¦ž=−˛ýČ²¦=Þš¦¹−×˛ŁÞþ¹²šÐI=Þ˛−×KI=₣²þˇŞ=ŁŞČŁ¦²ş=
Þš¦¹−×˛ŁÞþ¹²şK
Ó˛žÝ¦₣˛ć²=Þš¹ðþÝşðþ=ð˛²šłþ×¦Ð=þĞ¦ˇþðW
– Òšð³ğ¦š=Þš¦¹−×˛ŁÞþ¹²¦=Ć²þ=Ł¹š=Þš³¹²×˛Þ÷ÞÞŞš=Þš¦¹−×˛ŁÞþ¹²¦I=ðþ²þ×Şš=

š¹²ş=Ł=Š˛ÞÞŞÐ=ýþýšÞ²=Ł=³¹²˛ÞþŁðšK=˚²¦=Þš¦¹−×˛ŁÞþ¹²¦=ýþł³²=ˇŞ²ş=
¹ÝšŠ³ćğ¦¼=Ł¦ŠþŁW=Ú¦ð¹¦×³ćğ¦šI=flÝþð¦×³ćğ¦š=¦Ý¦=Îš¦¹−×˛ŁÞþ¹²¦=
³¹²˛ÞþŁð¦K

– Ú¦ð¹¦×³ćğ¦š=Þš¦¹−×˛ŁÞþ¹²¦NW=„¹Ý¦=Þš¦¹−×˛ŁÞþ¹²ş=³¹²×˛ÞšÞ˛I=²þ=Þ³ŽÞþ=
Ł×³₣Þ³ć=×˛žˇÝþð¦×þŁ˛²ş=þ²þ−¦²šÝşÞ³ć=³¹²˛ÞþŁð³K=‚ÝČ=Ć²þłþ=Þ˛Žý¦²š=Þ˛=
þ²þ−¦²šÝşÞþý=ðþ²Ýš=ðÞþ−ð³=oÉëÉíK

– flÝþð¦×³ćğ¦š=Þš¦¹−×˛ŁÞþ¹²¦NW=Ì×¦=ŁþžÞ¦ðÞþŁšÞ¦¦=ˇÝþð¦×³ćğ¦¼=
Þš¦¹−×˛ŁÞþ¹²šÐ=þ²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=˛Ł²þý˛²¦₣š¹ð¦=×˛ˇþ²˛š²=Š˛ÝşĞš=
−þ¹Ýš=³¹²×˛ÞšÞ¦Č=¹þ¹²þČÞ¦Č=þĞ¦ˇð¦K

– Îš¦¹−×˛ŁÞþ¹²¦=³¹²˛ÞþŁð¦=−×þ²þðþÝ¦×³ć²¹Č=Ł=o`PRI=ž˛=¦¹ðÝć₣šÞ¦šý=
Þš¦¹−×˛ŁÞþ¹²šÐ=ðþ²Ý˛=¦Ý¦=łþ×šÝð¦I=ðþ²þ×Şš=ČŁÝČć²¹Č="½¦ð¹¦×³ćğ¦ý¦"=¦Ý¦=
"ˇÝþð¦×³ćğ¦ý¦"K=Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=Ł=¹þ¹²þČÞ¦¦=þĞ¦ˇð¦=×˛ˇþ²˛š²I=
Þ˛¹ðþÝşðþ=ŁþžýþŽÞþI=Š˛ÝşĞšI=¹ˇ×þ¹=Þš=²×šˇ³š²¹ČK

‚Êfi·ÎÏÔÒÊËfi=y=
ÂÎfiı„ÎÊ„=ÍÏÎÊÒÏÓfi Ì×þ₣˛Č=¦Þ½þ×ý˛¾¦Č

Ëþ²÷ÝL·þ×šÝð˛ ÂÞ˛₣šÞ¦Č=Þ˛=ýþÞ¦²þ×š=þ²þˇ×˛Ž˛ć²¹Č=Ł=Ł¦Šš=¹−¦¹ð˛I=²KšK=
−×¦=Ł×˛ğšÞ¦¦=Þ˛=ýþÞ¦²þ×=ŁŞŁþŠČ²¹Č=Š×³ł¦š=žÞ˛₣šÞ¦ČK

·¦Š×˛ŁÝ¦₣š¹ð˛Č=
¹²×šÝð˛NF

NF ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=ÞšŁþžýþŽÞ˛=¦Ý¦=þ²¹³²¹²Ł³š²K

·þ×Č₣˛Č=ŁþŠ˛

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=N Ï²þˇ×˛Ž˛ć²¹Č=žÞ˛₣šÞ¦Č=ŠÝČ=Š×³ł¦¼=þ²þ−¦²šÝşÞŞ¼=
ðþÞ²³×þŁI=š¹Ý¦=þÞ¦=³¹²˛ÞþŁÝšÞŞ=Ł=¹¦¹²šýšK

·šÝ¦þðþÝÝšð²þ×NF

ÍþŠ³Ýş=rjNMNF ŠÝČ²Łš×Šþ²þ−Ý¦ŁÞþłþ=ðþ²Ý˛X=bsO=Z=ŁÞšĞÞČČ=ˇÝþð¦×þŁð˛=
EŁ¼þŠF

Ó˛Š¦þNF c_=Z=Þ˛−×ČŽ÷ÞÞþ¹²ş=−þÝČ=×˛Š¦þ¹¦łÞ˛Ý˛

Ëþý−þÞšÞ²=Ğ¦ÞŞNF

Ò˛ˇK=NT Î˛Ł¦ł˛²þ×=ýšÞć=ÂÞ˛₣šÞ¦š=Þ˛=ýþÞ¦²þ×š

NK ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=þ²¹³²¹²Ł³š²K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>50



‚¦˛łÞþ¹²¦ð˛7 
TKQ Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č

‡=ýšÞć=Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č=‡Ş=ýþŽš²š=−×þ¹ýþ²×š²ş=þ²þ−¦²šÝşÞŞš=ð×¦ŁŞš=
ðþÞ²³×þŁI=ŠšÐ¹²Ł³ćğ¦š=Ł=Þ˛¹²þČğ¦Ð=ýþýšÞ²I=Ł=ł×˛½¦₣š¹ðþý=−×šŠ¹²˛ŁÝšÞ¦¦K

TKR ‡š×¹¦¦

‡=ýšÞć=‡š×¹¦¦=‡Ş=ýþŽš²š=−×þ¹ýþ²×š²ş=Łš×¹¦¦=−×þł×˛ýýÞþłþ=þˇš¹−š₣šÞ¦Č=
ðþý−þÞšÞ²þŁ=þ²þ−¦²šÝşÞþÐ=³¹²˛ÞþŁð¦K

„¹Ý¦=¦Þ½þ×ý˛¾¦Č=Þš=ýþŽš²=ˇŞ²ş=ŁŞŁšŠšÞ˛=Þ˛=Š¦¹−ÝšÐ=Ł=Ł¦Šš=¹þþˇğšÞ¦ČW=
−þŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=þ²þˇ×˛ž¦²ş=¹ÝšŠ³ćğšš=¹þþˇğšÞ¦šK

Ìš×š₣šÞş=ˇÝþð¦×³ćğ¦¼=¦=ž˛−¦×˛ćğ¦¼=þĞ¦ˇþð=−×¦ŁšŠ÷Þ=Ł=
¹þþ²Łš²¹²Ł³ćğ¦¼=¦Þ¹²×³ð¾¦Č¼=−þ=ýþÞ²˛Ž³=¦=²š¼Þ¦₣š¹ðþý³=
þˇ¹Ý³Ž¦Ł˛Þ¦ć=þ²þ−¦²šÝşÞŞ¼=ðþ²ÝþŁK

ÌþŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=þ²þˇ×˛ž¦²ş=¹ÝšŠ³ćğšš=
¹þþˇğšÞ¦šK=

„¹Ý¦=³=³¹²˛ÞþŁð¦=Þš¹ðþÝşðþ=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁW=

−þŁš×Þ¦²š=×³₣ð³=³−×˛ŁÝšÞ¦Č= I=₣²þˇŞ=þ²þˇ×˛ž¦²ş=
þ²þ−¦²šÝşÞ³ć=ð×¦Ł³ć=¹ÝšŠ³ćğšłþ=ðþÞ²³×˛K

 90
ДИАГ.\ХАРАКТ-КА KO2

 21
Треб.t подающ.м   57°C
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>51



Òš¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦š8 
U Òš¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦šN

‡=ýšÞć=Òš¼þˇ¹Ý³Ž¦Ł˛Þ¦š=‡Ş=ýþŽš²š=ž˛Š˛²ş=¦Þ²š×Ł˛Ý=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦ČI=˛=
²˛ðŽš=þ²þˇ×˛ž¦²ş=¦=¹ˇ×þ¹¦²ş=²šð³ğ¦š=¹þþˇğšÞ¦Č=þ=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦¦K

ÏðþÞ₣˛Þ¦š=¦Þ²š×Ł˛Ý˛=ýþŽÞþ=³¹²˛ÞþŁ¦²ş=−þ=ðþÝ¦₣š¹²Ł³=þ²×˛ˇþ²˛ÞÞŞ¼=₣˛¹þŁ=
¦Ý¦=−×¦=Þ˛¹²³−ÝšÞ¦¦=þ−×šŠšÝ÷ÞÞþÐ=Š˛²ŞK=ÒþłŠ˛=Þ˛=−³Ýş²š=³−×˛ŁÝšÞ¦Č=o`PR=
−þČŁÝČš²¹Č=¹þþˇğšÞ¦š=þ=Þšþˇ¼þŠ¦ýþ¹²¦=−×þŁšŠšÞ¦Č=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦ČI=þ=₣šý=
ž˛ð˛ž₣¦ð=ŠþÝŽšÞ=−þ¹²˛Ł¦²ş=‡˛¹=Ł=¦žŁš¹²Þþ¹²şI=₣²þˇŞ=ŠþłþŁþ×¦²ş¹Č=þ=¹×þðšK

ÔþþˇğšÞ¦Č=þ=Þšþˇ¼þŠ¦ýþ¹²¦=−×þŁšŠšÞ¦Č=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦Č=þˇþžÞ˛₣šÞŞ=ðþŠþý=
eññI=Þ˛−×KI=eMTK

NK ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=½³Þð¾¦Č=þ²¹³²¹²Ł³š²K

Í„Î¸=ÏflÔÈÒ‰K=y=
Ò„ÛÏflÔÈÒ-
‰Ê‡fiÎÊ„ Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛=ŁŞŠšÝšÞ=
Ž¦×ÞŞý

Ì×þ₣˛Č=
¦Þ½þ×ý˛¾¦Č

ÊÞ²š×Ł˛Ý=
þˇ¹Ý³Ž¦Ł˛Þ¦Č

Ë˛ð¦ý=þˇ×˛žþý=
³Š˛ÝČ²ş=
¹þþˇğšÞ¦Č=þ=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦¦\

ÔþþˇğšÞ¦Č=Þš=
ŁŞŁþŠČ²¹ČI=−þ=Š˛²šI=
−þ=₣˛¹˛ý=×˛ˇþ²Ş

Ì×¦=ŁŞˇþ×š=þ−¾¦¦=
‚˛²˛=¦Ý¦=ı˛¹Ş=
×˛ˇþ²Ş=¹¦¹²šý˛=
˛Ł²þý˛²¦₣š¹ð¦=
−š×šÐŠ÷²=Ł=
¹þþ²Łš²¹²Ł³ćğ¦Ð=
−³Þð²=³¹²˛ÞþŁð¦K

−×¦=ŁŞˇþ×š=?−þ=
Š˛²š?W=„ŽšłþŠÞþš=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦šI=
Þ˛₣¦Þ˛Č=¹W

MNKMNKOMMM Ò¹²˛ÞþŁð˛=Š˛²ŞW
ÒŠš×Ž¦Ł˛Č=Þ˛Ž˛²þÐ=
ðÞþ−ð³ I=
þŠÞþŁ×šýšÞÞþ=
−þŁþ×˛₣¦Ł˛²ş=×³₣ð³=
³−×˛ŁÝšÞ¦ČK

−×¦=ŁŞˇþ×š=?−þ=
₣˛¹˛ý=×˛ˇþ²Ş?W=
ËþÝ-Łþ=×˛ˇþ₣¦¼=
₣˛¹þŁ=ðþ²Ý˛I=−þ¹Ýš=
ðþ²þ×þłþ=−þČŁ¦²¹Č=
¹þþˇğšÞ¦š=

NKMMM ₣

þ²=NKMMM ₣=Šþ=SKMMM ₣

ı¦¹Ýþ=₣˛¹þŁ=×˛ˇþ²Ş=¹=
ŁðÝć₣÷ÞÞþÐ=
łþ×šÝðþÐ

Ò˛ˇK=NU Î˛Ł¦ł˛²þ×=−þ=ýšÞć=Òš¼þˇ¹Ý³Ž¦Ł˛Þ¦š
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>52



Òš¼Þ¦₣š¹ðþš=þˇ¹Ý³Ž¦Ł˛Þ¦š8 
Òšð³ğ¦š=
¹þþˇğšÞ¦Č

ÔþþˇğšÞ¦š=H=ðþŠ ‡ŞŁþŠ=Š×³ł¦¼=
¹þþˇğšÞ¦ÐW=−þŁþ×þ²=
×³₣ð¦=³−×˛ŁÝšÞ¦ČK

Ôˇ×þ¹=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦Č

‡š×Þ³²ş=¹−¦¹þð=
¹þþˇğšÞ¦Ð=þ=²š¼K=
þˇ¹Ý³Ž¦Ł˛Þ¦¦\

Îš²I=Š˛ Ì×¦=ŁŞˇþ×š=Ł˛×¦˛Þ²˛=
‚˛=¹þþˇğšÞ¦Č=þ=
²š¼þˇ¹Ý³Ž¦Ł˛Þ¦¦=
¹ˇ×˛¹ŞŁ˛ć²¹ČK=
Ïˇ×˛²¦²š=ŁÞ¦ý˛Þ¦š=
Þ˛=¦Þ½þ×ý˛¾¦ć=Ł=
¹þþˇğšÞ¦¦K

Í„Î¸=ÏflÔÈÒ‰K=y=
Ò„ÛÏflÔÈÒ-
‰Ê‡fiÎÊ„ Ì³Þð²=ýšÞć

‚¦˛−˛žþÞ=ŁŁþŠ˛=
Â˛ŁþŠ¹ð˛Č=
³¹²˛ÞþŁð˛=ŁŞŠšÝšÞ=
Ž¦×ÞŞý

Ì×þ₣˛Č=
¦Þ½þ×ý˛¾¦Č

Ò˛ˇK=NU Î˛Ł¦ł˛²þ×=−þ=ýšÞć=Òš¼þˇ¹Ý³Ž¦Ł˛Þ¦š
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>53



Ôˇ×þ¹9 
V Ôˇ×þ¹
Ì³Þð²=ýšÞć=Í„Î¸=ÏflÔÈÒ‰Ê‡fiÎÊ˝yÔflÓÏÔ=−þžŁþÝČš²=ŁŞ−þÝÞ¦²ş=¹ˇ×þ¹W

– Ł¹š¼=−˛×˛ýš²×þŁ=Šþ=ž˛ŁþŠ¹ðþÐ=³¹²˛ÞþŁð¦NI

– ¹−¦¹ð˛=Þš¦¹−×˛ŁÞþ¹²šÐNI

– ¹þþˇğšÞ¦Č=þ=Þšþˇ¼þŠ¦ýþ¹²¦=²š¼Þ¦₣š¹ðþłþ=þˇ¹Ý³Ž¦Ł˛Þ¦ČO=¦

– ₣˛¹þŁ=×˛ˇþ²ŞOK

ÌþŁþ×˛₣¦Ł˛Ð²š=×³₣ð³=³−×˛ŁÝšÞ¦ČI=₣²þˇŞ=ŁŞˇ×˛²ş=ýšÞćI=Þ˛−×KI=Ô−¦¹þð=
þĞ¦ˇþðK=

Î˛Ž˛²ş=Þ˛=ðÞþ−ð¦ =ŠÝČ=−š×š¼þŠ˛=ð=¹þþˇğšÞ¦ćI=Þ˛−×KI=Ûþ²¦²š=¹ˇ×þ¹¦²ş=
¹−¦¹þð=þĞ¦ˇþð\

Î˛Ž˛²ş=Þ˛=ðÞþ−ð¦ =¦=−þŁš×Þ³²ş=×³₣ð³=³−×˛ŁÝšÞ¦Č=ŠÝČ=ŁŞˇþ×˛=¹þþˇğšÞ¦Č==
‚˛K
Ìþ¹Ýš=þ²−³¹ð˛Þ¦Č=ðÞþ−ð¦=ˇ³Šš²=ŁŞ−þÝÞšÞ˛=−š×šž˛ł×³žð˛K=
‡=²š₣šÞ¦š=−š×šž˛ł×³žð¦=Þ˛=Š¦¹−ÝšÐ=ŁŞŁþŠ¦²¹Č=¹þþ²Łš²¹²Ł³ćğšš=³ð˛ž˛Þ¦šI=
ðþ²þ×þš=˛Ł²þý˛²¦₣š¹ð¦=¹ÞþŁ˛=ž˛ð×ŞŁ˛š²¹ČK

Ìþ=þðþÞ₣˛Þ¦¦=−š×šž˛ł×³žð¦W=−þŠ²Łš×Š¦²š=−þŁ²þ×Þþš=³ð˛ž˛Þ¦š=Þ˛Ž˛²¦šý=
ÝćˇþÐ=ðÞþ−ð¦K

NK ‡=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^=¹ˇ×˛¹ŞŁ˛ć²¹Č=²þÝşðþ=Ł¹š=−˛×˛ýš²×Ş=o`PRI=Þþ=
Þš=−˛×˛ýš²×Ş=þ²þ−¦²šÝşÞþłþ=ðþ²Ý˛K

OK ˚²˛=½³Þð¾¦Č=Þš=×š˛Ý¦žþŁ˛Þ˛=Ł=þ²þ−¦²šÝşÞŞ¼=ðþ²Ý˛¼=¹=r_^NKñ=¦=a_^K

Ìþ¹Ýš=ŁþžŁ×˛²˛=ð=ž˛ŁþŠ¹ð¦ý=³¹²˛ÞþŁð˛ý=Þ³ŽÞþ=¹ÞþŁ˛=³¹²˛ÞþŁ¦²ş=
−˛×˛ýš²×Ş=Ł=¹þþ²Łš²¹²Ł¦¦=¹=ðþÞ½¦ł³×˛¾¦šÐ=³¹²˛ÞþŁð¦K
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>54
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NM Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ
‡=²˛ˇÝ¦¾š=Þš¦¹−×˛ŁÞþ¹²šÐ=−×¦ŁšŠšÞŞ=ŁþžýþŽÞŞš=Þš¦¹−×˛ŁÞþ¹²¦=³¹²˛ÞþŁð¦I=
²KšK=Þš¦¹−×˛ŁÞþ¹²¦=ðþý−þÞšÞ²þŁ=bjpK=Ï²þ−¦²šÝşÞ˛Č=³¹²˛ÞþŁð˛=−×¦=Þ˛Ý¦₣¦¦=
Þš¦¹−×˛ŁÞþ¹²¦=³¹²˛ÞþŁð¦=−×þŠþÝŽ˛š²=×˛ˇþ²˛²şI=Þ˛¹ðþÝşðþ=ŁþžýþŽÞþI=²KšK=
ýþŽÞþ=Þ˛ł×šŁ˛²ş=ŁþžŠ³¼=Ł=−þýšğšÞ¦¦=¦=Š˛ÝşĞšK

Ê¹−þÝşž³Ð²š=²þÝşðþ=þ×¦ł¦Þ˛ÝşÞŞš=Šš²˛Ý¦=½¦×ýŞ=fl³Šš×³¹K=fl³Šš×³¹=
Þš=Þš¹÷²=þ²Łš²¹²ŁšÞÞþ¹²¦=ž˛=−þŁ×šŽŠšÞ¦ČI=ŁþžÞ¦ðĞ¦š=Ł=×šž³Ýş²˛²š=
−×¦ýšÞšÞ¦Č=ž˛−˛¹ÞŞ¼=₣˛¹²šÐI=−þ¹²˛ŁÝšÞÞŞ¼=Þš=½¦×ýþÐ=fl³Šš×³¹K

Îš¦¹−×˛ŁÞþ¹²¦=ž˛Ł¦¹Č²=þ²=¦¹−þÝşž³šýþłþ=²¦−˛=ðþ²Ý˛K

Ê¹−þÝşž³šýŞš=¹þð×˛ğšÞ¦ČW

p` Z Ôš×Ł¦¹ðþŠX=ñ=Z=þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¹=Þþýš×þý=ñI=Þ˛−×KI=^OP=ŠÝČ=
þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛=P

c` Z ËþŠ=Þš¦¹−×˛ŁÞþ¹²¦

hlñ Z þ²þ−¦²šÝşÞŞÐ=ðþÞ²³×=¹=Þþýš×þý=ñ

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

^MN UMM ‚˛²₣¦ð=Þ˛×³ŽÞþÐ=
²šý−š×˛²³×Ş=
Þš¦¹−×˛ŁšÞK

Ì×¦Þ¦ý˛š²¹Č=
ý¦Þ¦ý˛ÝşÞ˛Č=
Þ˛×³ŽÞ˛Č=
²šý−š×˛²³×˛K

‚˛²₣¦ð=−þŠðÝć₣šÞ=
¦Ý¦=³¹²˛ÞþŁÝšÞ=
Þš−×˛Ł¦ÝşÞþK

Ïˇ×ŞŁ=¦Ý¦=
ðþ×þ²ðþš=
ž˛ýŞð˛Þ¦š=
−×þŁþŠ˛=Š˛²₣¦ð˛K

‚˛²₣¦ð=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
Š˛²₣¦ð˛=¦=šłþ=
−×þŁþŠK

Ì×þŁš×¦²ş=
³¹²˛ÞþŁð³=
Š˛²₣¦ð˛K

Ô×˛ŁÞ¦²ş=
žÞ˛₣šÞ¦š=
¹þ−×þ²¦ŁÝšÞ¦Č=¹=
¼˛×˛ð²š×¦¹²¦ðþÐ=
Š˛²₣¦ð˛K

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>55
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^MN UMU ‚˛²₣¦ð=łþ×Č₣šÐ=
ŁþŠŞ=N=Þš¦¹−×˛ŁšÞK

Îš=−×þ¦¹¼þŠ¦²=
Þ˛ł×šŁ˛=ŁþŠŞ=Ł=
¹¦¹²šýš=·‡ÔK

‚˛²₣¦ð=−þŠðÝć₣šÞ=
¦Ý¦=³¹²˛ÞþŁÝšÞ=
Þš−×˛Ł¦ÝşÞþK

Ïˇ×ŞŁ=¦Ý¦=
ðþ×þ²ðþš=
ž˛ýŞð˛Þ¦š=
−×þŁþŠ˛=Š˛²₣¦ð˛K

‚˛²₣¦ð=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
Š˛²₣¦ð˛=¦=šłþ=
−×þŁþŠK

Ì×þŁš×¦²ş=
³¹²˛ÞþŁð³=
Š˛²₣¦ð˛K

Ô×˛ŁÞ¦²ş=
žÞ˛₣šÞ¦š=
¹þ−×þ²¦ŁÝšÞ¦Č=¹=
¼˛×˛ð²š×¦¹²¦ðþÐ=
Š˛²₣¦ð˛K

^MN UMV ‚˛²₣¦ð=łþ×Č₣šÐ=
ŁþŠŞ=O=Þš¦¹−×˛ŁšÞK

^MN UNM ·‡Ô=þ¹²˛š²¹Č=
¼þÝþŠÞþÐK

Ìþ¹²þČÞÞŞš=−þ−Ş²ð¦=
ˇ˛ð˛�ŁþŠþÞ˛ł×šŁ˛²šÝČ=
Þ˛ł×š²ş=ŁþŠ³=Šþ=
ž˛Š˛ÞÞþÐ=
²šý−š×˛²³×ŞK

Ì×¦þ×¦²š²=
−×¦łþ²þŁÝšÞ¦Č=
łþ×Č₣šÐ=ŁþŠŞ=
þ²ðÝć₣˛š²¹Č=−þ¹Ýš=
−þČŁÝšÞ¦Č=¹þþˇğšÞ¦Č=
þ=Þš¦¹−×˛ŁÞþ¹²¦K

Ìþ¹²þČÞÞŞÐ=
ŁþŠþ×˛žˇþ×=¦Ý¦=
³²š₣ð˛K

Ò¹²×˛Þ¦²ş=³²š₣ð³I=
š¹Ý¦=¦ýšš²¹ČK

‚˛²₣¦ð=−þŠðÝć₣šÞ=
¦Ý¦=³¹²˛ÞþŁÝšÞ=
Þš−×˛Ł¦ÝşÞþK

Ïˇ×ŞŁ=¦Ý¦=
ðþ×þ²ðþš=
ž˛ýŞð˛Þ¦š=
−×þŁþŠ˛=Š˛²₣¦ð˛K

‚˛²₣¦ð=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
Š˛²₣¦ð˛=¦=šłþ=
−×þŁþŠK

Ì×þŁš×¦²ş=
³¹²˛ÞþŁð³=
Š˛²₣¦ð˛K

Ô×˛ŁÞ¦²ş=
žÞ˛₣šÞ¦š=
¹þ−×þ²¦ŁÝšÞ¦Č=¹=
¼˛×˛ð²š×¦¹²¦ðþÐ=
Š˛²₣¦ð˛K

Â˛ł×³žþ₣ÞŞÐ=Þ˛¹þ¹=
Þš−×˛Ł¦ÝşÞþ=
−þŠðÝć₣÷Þ=¦Ý¦=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=×˛ˇþ²³=
ž˛ł×³žþ₣Þþłþ=
Þ˛¹þ¹˛I=Þ˛−×¦ýš×I=
¹=−þýþğşć=
½³Þð¾¦þÞ˛ÝşÞþłþ=
²š¹²˛K

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>56
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^MN UNN Òš×ý¦₣š¹ð˛Č=
Ššž¦Þ½šð¾¦Č=Þš=
³Š˛Ý˛¹şK

Ì×š×Ł˛Þ˛=
²š×ý¦₣š¹ð˛Č=
Ššž¦Þ½šð¾¦ČK

ÔÝ¦Ğðþý=ŁŞ¹þð¦Ð=
ŁþŠþ×˛žˇþ×=Łþ=
Ł×šýČ=−×þŁšŠšÞ¦Č=
Ššž¦Þ½šð¾¦¦K

‡Şˇ×˛²ş=
−×þŁšŠšÞ¦š=
²š×ý¦₣š¹ðþÐ=
Ššž¦Þ½šð¾¦¦=Ł=
²˛ðþš=Ł×šýČI=
ðþłŠ˛=þ²=
−þ²×šˇ¦²šÝšÐ=Þš=
−þ¹²³−˛š²=
Šþ−þÝÞ¦²šÝşÞþłþ=
ž˛−×þ¹˛=Þ˛=²š−ÝþK

ÍþğÞþ¹²ş=ðþ²Ý˛=
ÞšŠþ¹²˛²þ₣Þ˛=ŠÝČ=
þŠÞþŁ×šýšÞÞþłþ=
þ²ˇþ×˛=²š−Ý˛=ŠÝČ=
Þš¹ðþÝşð¦¼=
−þ²×šˇ¦²šÝšÐ=
EÞ˛−×KFI=O�þÐ=
þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×FK

‚˛²₣¦ð=−þŠðÝć₣šÞ=
¦Ý¦=³¹²˛ÞþŁÝšÞ=
Þš−×˛Ł¦ÝşÞþK

Ïˇ×ŞŁ=¦Ý¦=
ðþ×þ²ðþš=
ž˛ýŞð˛Þ¦š=
−×þŁþŠ˛=Š˛²₣¦ð˛K

‚˛²₣¦ð=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
Š˛²₣¦ð˛=¦=šłþ=
−×þŁþŠK

Ì×þŁš×¦²ş=
³¹²˛ÞþŁð³=
Š˛²₣¦ð˛K

Ô×˛ŁÞ¦²ş=
žÞ˛₣šÞ¦š=
¹þ−×þ²¦ŁÝšÞ¦Č=¹=
¼˛×˛ð²š×¦¹²¦ðþÐ=
Š˛²₣¦ð˛K

Îš¦¹−×˛ŁšÞ=
ž˛ł×³žþ₣ÞŞÐ=
Þ˛¹þ¹K

Ì×þŁš×¦²ş=×˛ˇþ²³=
ž˛ł×³žþ₣Þþłþ=
Þ˛¹þ¹˛I=Þ˛−×¦ýš×I=
¹=−þýþğşć=
½³Þð¾¦þÞ˛ÝşÞþłþ=
²š¹²˛K

^MN UNS Îš²=ðþýý³Þ¦ð˛¾¦¦=
¹=r_^Lj`N=M=¦Ý¦=
a_^K

Ï²þ−¦²šÝşÞŞÐ=ðþ²šÝ=
ˇþÝşĞš=Þš=−þÝ³₣˛š²=
ž˛−×þ¹=Þ˛=−þð×Ş²¦š=
²š−ÝþŁþÐ=Þ˛ł×³žð¦I=
þ²þ−¦²šÝşÞ˛Č=
³¹²˛ÞþŁð˛=Þš=ł×šš²K

Ô¦¹²šý˛=bjp�_ìë=
−š×šł×³ŽšÞ˛K

‡Ş−þÝÞ¦²ş=¹ˇ×þ¹I=
ŠÝČ=₣šłþ=
ŁŞðÝć₣¦²ş=¦=
ŁðÝć₣¦²ş=
þ²þ−¦²šÝşÞ³ć=
³¹²˛ÞþŁð³K

ÒŁšŠþý¦²ş=
¹š×Ł¦¹Þ³ć=
¹Ý³Žˇ³K

r_^PLj`NM=¦Ý¦=
a_^=Þš¦¹−×˛ŁšÞK

^MN UOU ‚˛²₣¦ð=Š˛ŁÝšÞ¦Č=
ŁþŠŞ=Þš¦¹−×˛ŁšÞK

Ù¦½×þŁþÐ=Š˛²₣¦ð=
Š˛ŁÝšÞ¦Č=ŁþŠŞ=
Þš¦¹−×˛ŁšÞK

Â˛ýšÞ¦²ş=Š˛²₣¦ð=
Š˛ŁÝšÞ¦Č=ŁþŠŞK

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>57
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^MO UNS Îš²=ðþýý³Þ¦ð˛¾¦¦=
¹=_`NMK

Ò¹²˛ÞþŁð¦=_`NM=Þš=
−×¦Þ¦ý˛ć²¹Č=
ðþýÞ˛²ÞŞý¦=
×šł³ÝČ²þ×˛ý¦=o`ññK

ÌÝþ¼¦š=ðþÞ²˛ð²Ş=
Þ˛=_`NM=¦Ý¦=
Þš¦¹−×˛ŁÞŞÐ=
_`NMK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
_`NMK

Ì×¦=
Þšþˇ¼þŠ¦ýþ¹²¦=
ž˛ýšÞ¦²ş=_`NMK

^NN UMN ‡Þ³²×šÞÞČČ=
þĞ¦ˇð˛

Ï²þ−¦²šÝşÞ˛Č=
³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=Ł=
Ćð¹²×šÞÞþý=×šŽ¦ýšK

‡Þ³²×šÞÞČČ=
þĞ¦ˇð˛=Ł×šýšÞ¦=
×~ˇK=Þ˛=o`PRK

Â˛ýšÞ¦²ş=o`PRK

^NN UMO ‡×šýČ=Éğ÷=Þš=
³¹²˛ÞþŁÝšÞþK

Ïł×˛Þ¦₣šÞÞŞš=
½³Þð¾¦¦W

¥=Ł¹š¼=−×þł×˛ýý=
−š×šðÝć₣šÞ¦Č

¥=¹þþˇğšÞ¦Ð=þ=
Þš¦¹−×˛ŁÞþ¹²Č¼

Ï²¹³²¹²Ł³š²=
³¹²˛ÞþŁð˛=
Ł×šýšÞ¦I=
Þ˛−×¦ýš×=¦ž�ž˛=
ŠÝ¦²šÝşÞþłþ=
−š×š×ŞŁ˛=Ł=
−þŠ˛₣š=
ĆÝšð²×þĆÞš×ł¦¦K

‡Łš¹²¦=²šð³ğšš=
Ł×šýČK

^NN UMP ‚˛²˛=Éğ÷=Þš=
³¹²˛ÞþŁÝšÞ˛K

Ïł×˛Þ¦₣šÞÞŞš=
½³Þð¾¦¦W

¥=Ł¹š¼=−×þł×˛ýý=
−š×šðÝć₣šÞ¦Č

¥=−×þł×˛ýýŞ=Ï²−³¹ð

¥=¹þþˇğšÞ¦Ð=þ=
Þš¦¹−×˛ŁÞþ¹²Č¼

Ï²¹³²¹²Ł³š²=
³¹²˛ÞþŁð˛=Š˛²ŞI=
Þ˛−×¦ýš×¦ž�ž˛=
ŠÝ¦²šÝşÞþłþ=
−š×š×ŞŁ˛=Ł=
−þŠ˛₣š=
ĆÝšð²×þĆÞš×ł¦¦K

‡Łš¹²¦=²šð³ğ³ć=
Š˛²³K

^NN UMQ ‡Þ³²×šÞÞČČ=
þĞ¦ˇð˛K

Ï²þ−¦²šÝşÞ˛Č=
³¹²˛ÞþŁð˛=×˛ˇþ²˛š²=Ł=
Ćð¹²×šÞÞþý=×šŽ¦ýšK

‡Þ³²×šÞÞČČ=
þĞ¦ˇð˛=Ł×šýšÞ¦=
×~ˇK=Þ˛=o`PRK

Â˛ýšÞ¦²ş=o`PRK

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>58



Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ10 
^NN UMS ‚˛²₣¦ð=²šý−K=Ł=
−þýšğšÞ¦¦=
Þš¦¹−×˛ŁšÞK

Êž�ž˛=þ²¹³²¹²Ł¦Č=
¦žýš×šÞ¦Č=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş=Þš=
×˛ˇþ²˛ć²W

¥=‡þžŠšÐ¹²Ł¦š=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=E−×¦=
×šł³Ý¦×þŁ˛Þ¦¦=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=
−þłþŠÞŞ¼=³¹ÝþŁ¦ÐF

�=þ−²¦ý¦ž˛¾¦Č=Ł×šýšÞ¦=
−š×šðÝć₣šÞ¦Č

Ì×¦=×šł³Ý¦×þŁ˛Þ¦¦=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=³¹²˛ÞþŁð˛=
þ¹³ğš¹²ŁÝČš²¹Č=Šþ=
ý˛ð¹¦ý˛ÝşÞþÐ=
²šý−š×˛²³×Ş=
þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=hlñK

Îš¦¹−×˛ŁÞþ¹²ş=
Ł¹²×þšÞÞþłþ=
Š˛²₣¦ð˛=
²šý−š×˛²³×Ş=
−³Ýş²˛=
³−×˛ŁÝšÞ¦ČL
Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦Č=
þ²þ−¦²šÝşÞŞý=
ðþÞ²³×þýK

Â˛ýšÞ¦²ş=
Š¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦šK

^NN UNS Îš²=ðþýý³Þ¦ð˛¾¦¦

¹=o`PRK

o`OMLoc=Þš=ýþŽš²=
þ²−×˛Ł¦²ş=Š˛ÞÞŞš=Þ˛=
o`PRK=ÌþĆ²þý³=ŠÝČ=
þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=ÞšŁþžýþŽÞþ=
þ²×šł³Ý¦×þŁ˛²ş=
²šý−š×˛²³×³=Ł=
−þýšğšÞ¦¦K

Îš−×˛Ł¦ÝşÞŞÐ=
˛Š×š¹=o`OMLocK

Ì×þŁš×¦²ş=˛Š×š¹=
E−˛×˛ýš²×=mNF=Þ˛=
o`OMLocK

Ï²¹³²¹²Ł³š²=¦Ý¦=
Þš−×˛Ł¦ÝşÞþ=
−þŠðÝć₣šÞ=o`PRK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
o`PRK

^NO UNR ‚˛²₣¦ð=ýþŠ³ÝČ=
Þš¦¹−×˛ŁšÞK

‡þžýþŽÞþ=¹Þ¦ŽšÞ¦š=
²š−Ýþ¹Þ˛ˇŽšÞ¦Č=
þ²þ−¦²šÝşÞŞ¼=
ðþÞ²³×þŁI=²˛ð=ð˛ð=þÞ¦=
ýþł³²=Þš=−þÝ³₣¦²ş=
ž˛²×šˇþŁ˛ÞÞþš=
ðþÝ¦₣š¹²Łþ=²š−Ý˛K

‚˛²₣¦ð=−þŠðÝć₣šÞ=
¦Ý¦=³¹²˛ÞþŁÝšÞ=
Þš−×˛Ł¦ÝşÞþK

Ïˇ×ŞŁ=¦Ý¦=
ðþ×þ²ðþš=
ž˛ýŞð˛Þ¦š=
−×þŁþŠ˛=Š˛²₣¦ð˛K

‚˛²₣¦ð=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
Š˛²₣¦ð˛=¦=šłþ=
−×þŁþŠK

Ì×þŁš×¦²ş=
³¹²˛ÞþŁð³=
Š˛²₣¦ð˛K

Ô×˛ŁÞ¦²ş=
žÞ˛₣šÞ¦š=
¹þ−×þ²¦ŁÝšÞ¦Č=¹=
¼˛×˛ð²š×¦¹²¦ðþÐ=
Š˛²₣¦ð˛K

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>59



Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ10 
^NO UNS Îš²=ðþýý³Þ¦ð˛¾¦¦=
¹=ýþŠ³ÝšýK

Î˛¹þ¹=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛N=×˛ˇþ²˛š²=
−þ¹²þČÞÞþK

tjNM=¦Ý¦=Ğ¦Þ˛=
Þš−×˛Ł¦ÝşÞþ=
−þŠðÝć₣šÞŞ=¦Ý¦=
Þš¦¹−×˛ŁÞŞK

o`PR=Þš=
×˛¹−þžÞ˛š²=tjNMK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦Č=
tjNM=¦=Ğ¦ÞŞK

Â˛ýšÞ¦²ş=ýþŠ³Ýş=
¹²šÝð¦=tjNMK

^NU UOR ‚Ł˛=j~ëíÉê�ýþŠ³ÝČ=
³−×˛ŁÝšÞ¦Č=Ł=
¹¦¹²šýšK

Ïˇ˛=×šł³ÝČ²þ×˛=o`PR=
¦=o`OM=³−×˛ŁÝČć²=
þ²þ−¦²šÝşÞŞý=
ðþÞ²³×þý=N=¦=ðþÞ²³×þý=
·‡ÔK=Ï²þ−¦²šÝşÞ˛Č=
³¹²˛ÞþŁð˛=Þš=ýþŽš²=
−×˛Ł¦ÝşÞþ=×˛ˇþ²˛²ş=−þ=
ž˛Š˛ÞÞŞý=
þ²þ−¦²šÝşÞŞý=
−×þł×˛ýý˛ýI=
þˇš¹−š₣¦Ł˛Č=Þ³ŽÞŞš=
ðþýÞ˛²ÞŞš=
²šý−š×˛²³×ŞK

Îš−×˛Ł¦ÝşÞþ=×˛ˇþ²˛š²=
−×¦łþ²þŁÝšÞ¦š=
łþ×Č₣šÐ=ŁþŠŞK

o`OM=¦=o`PR=
ž˛Š˛ÞŞ=þˇ˛=ð˛ð=
łÝ˛ŁÞŞš=
³¹²×þÐ¹²Ł˛=
Ej~ëíÉêFK

ÊžýšÞ¦²ş=
−˛×˛ýš²×=mN=Ł=
o`OM=¦Ý¦=³Š˛Ý¦²ş=
o`PR=¹=Ğ¦ÞŞ=bjpK

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>60



Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ10 
^Oñ UMS ‚˛²₣¦ð=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=ŠÝČ=
hlñ=Þš¦¹−×˛ŁšÞK

Êž�ž˛=þ²¹³²¹²Ł¦Č=
¦žýš×šÞ¦Č=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş=Þš=
×˛ˇþ²˛ć²W

¥=‡þžŠšÐ¹²Ł¦š=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=E−×¦=
×šł³Ý¦×þŁ˛Þ¦¦=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=
−þłþŠÞŞ¼=³¹ÝþŁ¦ÐF

¥�þ−²¦ý¦ž˛¾¦Č=
Ł×šýšÞ¦=
−š×šðÝć₣šÞ¦Č

Ì×¦=×šł³Ý¦×þŁ˛Þ¦¦=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=
²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦=³¹²˛ÞþŁð˛=
þ¹³ğš¹²ŁÝČš²¹Č=Šþ=
ý˛ð¹¦ý˛ÝşÞþÐ=
²šý−š×˛²³×Ş=
þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=hlñK

Îš¦¹−×˛ŁÞþ¹²ş=
Ł¹²×þšÞÞþłþ=
Š˛²₣¦ð˛=
²šý−š×˛²³×Ş=
−³Ýş²˛=
³−×˛ŁÝšÞ¦ČL
Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦Č=
þ²þ−¦²šÝşÞŞý=
ðþÞ²³×þýK

Â˛ýšÞ¦²ş=
Š¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦šK

^Oñ UNS Îš²=ðþýý³Þ¦ð˛¾¦¦=
¹=þ×ł˛Þþý=
³−×˛ŁÝšÞ¦Č=hlñK

Êž�ž˛=þ²¹³²¹²Ł¦Č=
¦žýš×šÞ¦Č=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş=Þš=
×˛ˇþ²˛ć²W

¥=³₣š²=ŁÝ¦ČÞ¦Č=Þ˛=
ðþýÞ˛²Þ³ć=
²šý−š×˛²³×³

¥=þ−²¦ý¦ž˛¾¦Č=
Ł×šýšÞ¦=
−š×šðÝć₣šÞ¦Č

o`OM=Þš¦¹−×˛ŁšÞI=
Þš−×˛Ł¦ÝşÞ˛Č=
˛Š×š¹˛¾¦Č=¦Ý¦=
−þŠðÝć₣šÞ¦šK

ÍþŠ³Ýć=ocjOM=
šğ÷=Þš=−×¦¹ŁþšÞ=
þ²þ−¦²šÝşÞŞÐ=
ðþÞ²³×K

Ì×þŁš×¦²ş=˛Š×š¹=
Þ˛=o`OMK

Ì×þŁš×¦²ş=×˛ˇþ²³=
¦=−þŠðÝć₣šÞ¦š=
Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦ČK

Â˛ýšÞ¦²ş=
Š¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦šK

^Oñ UOV o`OMLoc=Ł=ð˛₣š¹²Łš=
Š¦¹²˛Þ¾¦þÞÞþłþ=
³−×˛ŁÝšÞ¦ČK

o`OM=Þš=ýþŽš²=
þ²−×˛Ł¦²ş=Š˛ÞÞŞš=Þ˛=
o`PRK=ÌþĆ²þý³=Ł=
Š˛ÞÞþý=þ²þ−¦²šÝşÞþý=
ðþÞ²³×š=
×šł³Ý¦×þŁ˛Þ¦š=
²šý−š×˛²³×Ş=ŁþžŠ³¼˛=
Ł=−þýšğšÞ¦¦=
ÞšŁþžýþŽÞþK

fiŠ×š¹=o`OMLoc=
ˇŞÝ=þ−×šŠšÝ÷Þ=Ł=
o`PR=Þš−×˛Ł¦ÝşÞþ=
¦Ý¦=Þš=ˇŞÝ=
³¹²˛ÞþŁÝšÞ=Ł=
o`PRK

Î˛¹²×þ¦²ş=
−˛×˛ýš²×=Ì³Ýş²=
³−×˛ŁÝšÞ¦Č=Ł=
o`PR=Þ˛=o`OMLocK

Ì×þŁš×¦²ş=
−×¦¹ŁþšÞ¦š
o`OMLocK

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>61



Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ10 
^Oñ UPM `šÝ˛=ˇ˛²˛×šÐð˛=
þ×łK=³−×˛ŁÝšÞ¦Č=
hlñK

Îš=¹ð˛žŞŁ˛š²¹Č=Þ˛=
×˛ˇþ²šI=š¹Ý¦=
ˇ˛²˛×šÐð³=ž˛ýšÞ¦²ş=
ŁþŁ×šýČK

`šÝ˛=ˇ˛²˛×šÐð˛=
o`OMoc=ŠÝČ=
þ²þ−¦²šÝşÞŞ¼=
ðþÞ²³×þŁ=hlñK

Â˛ýšÞ¦²ş=
ˇ˛²˛×šÐð¦K

^Oñ UPV Îš²=×˛Š¦þðþýý³Þ¦-
ð˛¾¦¦=¹=þ×ł˛Þþý=
³−×˛ŁÝšÞ¦Č=hlñK
Ó˛ž×ŞŁ=¹ŁČž¦K

Êž�ž˛=þ²¹³²¹²Ł¦Č=
¦žýš×šÞ¦Č=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş=Þš=
×˛ˇþ²˛ć²W

¥=³₣š²=ŁÝ¦ČÞ¦Č=Þ˛=
ðþýÞ˛²Þ³ć=
²šý−š×˛²³×³

¥=þ−²¦ý¦ž˛¾¦Č=
Ł×šýšÞ¦=
−š×šðÝć₣šÞ¦Č

ocjOM=×˛ˇþ²˛š²=−þ=
−þ¹ÝšŠÞ¦ý=
−˛×˛ýš²×˛ýI=
³¹²˛ÞþŁÝšÞÞŞý=Þ˛=
Š¦¹²˛Þ¾¦þÞÞþý=
³−×˛ŁÝšÞ¦¦K

ÍþŠ³Ýş=o`OMoc=
Þ˛¼þŠ¦²¹Č=ŁÞš=
žþÞŞ=−×¦÷ý˛=
¹¦łÞ˛Ý˛K

Ìš×šÞš¹²¦=
o`OMoc=Ł=žþÞ³=
−×¦÷ý˛=¹¦łÞ˛Ý˛K

Ï²þ−¦²šÝşÞ˛Č=
³¹²˛ÞþŁð˛=
ŁŞðÝć₣šÞ˛K

‡ðÝć₣¦²ş=
þ²þ−¦²šÝşÞ³ć=
³¹²˛ÞþŁð³K

Ì×¦=ž˛ýšÞš=ocjOM=
o`OMoc=Þš=
³¹²˛Þ˛ŁÝ¦Ł˛š²¹Č=
Þ˛=ÞþŁŞÐ=ocjOMK

Î˛¹²×þ¦²ş=
o`OMoc=
E¹ýK=Šþð³ýšÞ²˛¾¦ć=
ð=o`OMocFK

^Oñ= UQO= ‡Şˇ×˛Þ˛=ž˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦ČI=Þþ=ˇšž=
‚Ò=hlñK

Êž�ž˛=þ²¹³²¹²Ł¦Č=
¦žýš×šÞ¦Č=ðþýÞ˛²ÞþÐ=
²šý−š×˛²³×Ş=Þš=
×˛ˇþ²˛ć²W

�=³₣š²=ŁÝ¦ČÞ¦Č=Þ˛=
ðþýÞ˛²Þ³ć=
²šý−š×˛²³×³

�=þ−²¦ý¦ž˛¾¦Č=Ł×šýšÞ¦=
−š×šðÝć₣šÞ¦Č

bjp=×˛ˇþ²˛š²=−þ=
−þ¹ÝšŠÞ¦ý=
−˛×˛ýš²×˛ýI=
³¹²˛ÞþŁÝšÞÞŞý=Þ˛=
Š¦¹²˛Þ¾¦þÞÞþý=
³−×˛ŁÝšÞ¦¦K

Îš=−×¦¹ŁþšÞ=−³Ýş²=
³−×˛ŁÝšÞ¦ČL
Š¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦šI=¼þ²Č=
ž˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦Č=
³¹²˛ÞþŁÝšÞ˛=Þ˛=
²šý−š×˛²³×³=Ł=
ðþýÞ˛²šK

Ì×þŁš×¦²ş=
−˛×˛ýš²×=Ì³Ýş²=
³−×˛ŁÝšÞ¦ČK

Ì×¦=
Þšþˇ¼þŠ¦ýþ¹²¦=
³¹²˛ÞþŁ¦²ş=
ž˛ğ¦²³=þ²=
ž˛ýš×ž˛Þ¦Č=Þ˛=
Þ˛×³ŽÞ³ć=
²šý−š×˛²³×³K

^Oñ UQP mšł³Ý¦×þŁ˛Þ¦š=−þ=
ðþýÞK=²šý−K=Ł=Þþ=
ˇšž=‚Ò=hlñK

Îš=−×¦¹ŁþšÞ=−³Ýş²=
³−×˛ŁÝšÞ¦ČL
Š¦¹²˛Þ¾¦þÞÞþš=
³−×˛ŁÝšÞ¦šI=¼þ²Č=
³¹²˛ÞþŁÝšÞþ=
×šł³Ý¦×þŁ˛Þ¦š=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=
²šý−š×˛²³×Ş=Ł=
ðþýÞ˛²šK

Ì×þŁš×¦²ş=
−˛×˛ýš²×=Ì³Ýş²=
³−×˛ŁÝšÞ¦ČK

Ì×¦=
Þšþˇ¼þŠ¦ýþ¹²¦=
³¹²˛ÞþŁ¦²ş=Þ˛=
Óšł³Ý¦×þŁ˛Þ¦š=Ł=
ž˛Ł¦¹¦ýþ¹²¦=þ²=
Þ˛×³ŽÞþÐ=
²šý−š×˛²³×ŞK

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>62
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^Pñ UMT ‚˛²₣¦ð˛=hlñ=
Þš¦¹−×˛ŁšÞK

Î˛¹þ¹=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=−×þŠþÝŽ˛š²=
×˛ˇþ²˛²ş=−þ=ž˛Š˛ÞÞŞý=
−˛×˛ýš²×˛ýK

Ê¹−þÝÞ¦²šÝşÞŞÐ=þ×ł˛Þ=
þˇš¹²þ₣¦Ł˛š²¹Č=¦=
þ¹²˛š²¹Č=Ł=−þ¹ÝšŠÞšý=
−þÝþŽšÞ¦¦=EýþŽÞþ=
−š×šýšğ˛²ş=Ł×³₣Þ³ćFK

‚˛²₣¦ð=−þŠðÝć₣šÞ=
¦Ý¦=³¹²˛ÞþŁÝšÞ=
Þš−×˛Ł¦ÝşÞþK

Ïˇ×ŞŁ=¦Ý¦=
ðþ×þ²ðþš=
ž˛ýŞð˛Þ¦š=
−×þŁþŠ˛=Š˛²₣¦ð˛K

‚˛²₣¦ð=
Þš¦¹−×˛ŁšÞK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦š=
Š˛²₣¦ð˛=¦=šłþ=
−×þŁþŠK

Ì×þŁš×¦²ş=
³¹²˛ÞþŁð³=
Š˛²₣¦ð˛K

Ô×˛ŁÞ¦²ş=
žÞ˛₣šÞ¦š=
¹þ−×þ²¦ŁÝšÞ¦Č=¹=
¼˛×˛ð²š×¦¹²¦ðþÐ=
Š˛²₣¦ð˛K

^Pñ UNS Îš²=ðþýý³Þ¦ð˛¾¦¦=
¹=ýþŠ³Ýšý=
¹ýš¹¦²šÝČ=hlñK

Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×=
ñ=Þš=ýþŽš²=−×˛Ł¦ÝşÞþ=
×˛ˇþ²˛²şK==

jjNM=¦=
¦¹−þÝÞ¦²šÝşÞŞÐ=þ×ł˛Þ=
E¹ýš¹¦²šÝşF=×˛ˇþ²˛ć²=
¹˛ýþ¹²þČ²šÝşÞþ=Ł=
˛Ł˛×¦ÐÞþý=×šŽ¦ýšK

Î˛¹þ¹=þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=×˛ˇþ²˛š²=
−þ¹²þČÞÞþK

Ì˛×˛ýš²×Ş=Þ˛=
Š¦¹−Ýšš=o`PR=
ÞšŠšÐ¹²Ł¦²šÝşÞŞK

Îš²=¹þþ²Łš²¹²Ł¦Č=
˛Š×š¹þŁ=
þ²þ−¦²šÝşÞþłþ=
ðþÞ²³×˛=Þ˛=jjNM=¦=
o`PRK

Ì×þŁš×¦²ş=
ðþŠ¦×³ćğ¦Ð=
−š×šðÝć₣˛²šÝş=Þ˛=
jjNMK

jjNM=¦Ý¦=Ğ¦Þ˛=
Þš−×˛Ł¦ÝşÞþ=
−þŠðÝć₣šÞŞ=¦Ý¦=
Þš¦¹−×˛ŁÞŞK

o`PR=Þš=
×˛¹−þžÞ˛š²=jjNMK

Ì×þŁš×¦²ş=
−þŠðÝć₣šÞ¦Č=
jjNM=¦=Ğ¦ÞŞK

Â˛ýšÞ¦²ş=ýþŠ³Ýş=
¹ýš¹¦²šÝČ=jjNMK

eññ Ôš×Ł¦¹Þþš=
¹þþˇğšÞ¦šI=Þš=
ČŁÝČš²¹Č=−þŁ×šŽŠK=
³¹²˛ÞþŁð¦K

Ï²þ−¦²šÝşÞ˛Č=
³¹²˛ÞþŁð˛=−×þŠþÝŽ˛š²=
×˛ˇþ²˛²şI=Þ˛¹ðþÝşðþ=
ŁþžýþŽÞþK

Î˛−×¦ýš×I=¦¹²šð=
¦Þ²š×Ł˛Ý=²š¼K=
þˇ¹Ý³Ž¦Ł˛Þ¦ČK

Îšþˇ¼þŠ¦ýþ=
−×þŁš¹²¦=
²š¼Þ¦₣š¹ðþš=
þˇ¹Ý³Ž¦Ł˛Þ¦šI=¹ýK=
Šþð³ýšÞ²˛¾¦ć=Þ˛=
þ²þ−¦²šÝşÞŞÐ=ðþ²šÝK

Ì×¦=ŁþžÞ¦ðÞþŁšÞ¦¦=−þŁ×šŽŠšÞ¦¦=³¹²˛ÞþŁð¦=Þš=²×šˇ³š²¹Č=
þ¹³ğš¹²ŁÝČ²ş=¹ˇ×þ¹K=„¹Ý¦=‡Ş=Þš=ýþŽš²š=³¹²×˛Þ¦²ş=þĞ¦ˇð³I=
þˇ×˛²¦²š¹ş=Ł=þˇ¹Ý³Ž¦Ł˛ćğ³ć=‡˛Ğš=þˇ×³ŠþŁ˛Þ¦š=¹š×Ł¦¹Þ³ć=¹Ý³Žˇ³=
¦Ý¦=Ł=½¦Ý¦˛Ý=½¦×ýŞ=fl³Šš×³¹K=
‚×³ł¦š=Þš¦¹−×˛ŁÞþ¹²¦=−×¦ŁšŠšÞŞ=Ł=Šþð³ýšÞ²˛¾¦¦=Þ˛=³¹²˛ÞþŁÝšÞÞŞÐ=
þ²þ−¦²šÝşÞŞÐ=ðþ²šÝK

p` c`
ÔþþˇğšÞ¦š=þ=
Þš¦¹−×˛ŁÞþ¹²¦

Óš˛ð¾¦Č=¹¦¹²šýŞ=
³−×˛ŁÝšÞ¦Č

‡þžýþŽÞ˛Č=
−×¦₣¦Þ˛ Ò¹²×˛ÞšÞ¦š

Ò˛ˇK=NV Ò˛ˇÝ¦¾˛=Þš¦¹−×˛ŁÞþ¹²šÐ
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č>63
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bjp =K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==SI=OQ

‡
‡ŁþŠ=Ł=Ćð¹−Ý³˛²˛¾¦ćI=ˇŞ¹²×ŞÐ=K==K==K==K==KON
‡É×Å¦¦I=ýšÞć=þˇ¹Ý³ŽK=‚¦˛łÞçÅ²¦ð~K==K==KON
‡¦Š=−þÞ¦ŽšÞ¦Č=EÞþ₣Þþš=−þÞ¦ŽšÞ¦š=
²šý−š×˛²³×ŞF=K==K==K==K==K==K==K==K==K==K==K==K==K==K==KPV
‡¦Š=×šł³Ý¦×þŁ˛Þ¦Č=Ï²ðÝć₣šÞþ=K==K==K==K==KPO
‡þžŠšÐ¹²Ł¦š=²šý−K=Ł=−þýšğšÞ¦¦==K==K==K==KPS
‡ŞŁþŠ=¦ž=Ćð¹−Ý³˛²˛¾¦¦==K==K==K==K==K==K==K==K==KOQ
‡ŞðÝć₣šÞ¦š ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOQ

‚
‚šž¦Þ½šð¾¦ČI=²š×ý¦₣š¹ð˛Č =K==K==K==K==K QP¥QR
‚¦˛łÞþ¹²¦ð˛K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KRN
‚¦˛łÞþ¹²¦ð˛I=ýšÞć=þˇ¹Ý³ŽK =K==K==K==K==K==K==KQV
‚¦¹²˛Þ¾¦þÞÞþš=³−×˛ŁÝšÞ¦š =K==K==K==K==K==K==KNM

·
·þ×Č₣˛Č=ŁþŠ˛

� -ýšÞć=þˇ¹Ý³ŽK=³¹²˛ÞþŁð¦=K==K==K==K==K==K==KQP
� -Þþý¦Þ˛ÝşÞþš=žÞ˛₣šÞ¦š=K==K==K==K==K==K==K==KQP

-þł×˛Þ¦₣šÞ¦š=²šý−š×˛²³×Ş =K==K==K==K==K==KQP

Â
Â˛ýþ×þžð¦K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==Q
Â˛ğ¦²˛=þ²=ž˛ýš×ž˛Þ¦Č=K==K==K==K==K==K==K==K==K==KQN
ÂÞ˛₣šÞ¦š=ýþÞ¦²þ×˛I=ýšÞć=þˇ¹Ý³ŽK=
‚¦˛łÞþ¹²¦ð˛K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KRM

Ê
ÊÞŠ¦ð˛¾¦Č=ŠšÐ¹²Ł¦²šÝşÞŞ¼=žÞ˛₣šÞ¦Ð==KRM
ÊÞŠ¦ð˛¾¦Č=Þþý¦Þ˛ÝşÞŞ¼=žÞ˛₣šÞ¦Ð=K==K==KRM

h
Ë˛Ý¦ˇ×þŁð˛I=¦ÞŠ¦ð˛¾¦Č=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KQT
ËÝ˛−˛ÞŞ=²š×ýþ¹²˛²˛=Ł=×š½š×šÞ²Þþý=
−þýšğšÞ¦¦==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOQ
Ëþý−Ýšð²³ćğ¦š ==K==K==K==K==K==K==K==K==K==K==K==K==K==U
Ë×˛²ð¦Ð=þˇžþ×=³−×˛ŁÝKI=ýšÞć=þˇ¹Ý³ŽK==KON
Ë×˛²ðþŁ×šýšÞÞþš=ŁðÝK=Þ˛¹þ¹çŁ =K==K==K==K==KOQ
Ë×˛²ðþš=ýšÞćI=ýšÞć=þˇ¹Ý³ŽK =K==K==K==K==K==KNV

ËþÞ²˛ð²ÞŞš=Š˛ÞÞŞšI=ŁŁþŠ=K==K==K==K==K==K==K==KPV
ËþÞ²×˛¹²=Š¦¹−ÝšČK==K==K==K==K==K==K==K==K==K==K==K==KNV
Ë×¦Ł˛Č=¼˛×˛ð²š×¦¹²¦ð~I=ýšÞć=þˇ¹Ý³ŽK=
‚¦˛łÞþ¹²¦ð˛ K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KRO
Ë×¦Ł˛Č=¼˛×˛²š×¦¹²¦ð=þ²þ−ÝšÞ¦Č

-þ²þˇ×˛ŽšÞ¦ÉK==K==K==K==K==K==K==K==K==K==K==K==K==KRO

j
ÍšÞć=þˇ¹Ý³ŽKI=ŁŁþŠ ==K==K==K==K==K==K==K==K==K==K==KNR
ÍšÞć=þˇ¹Ý³ŽKI=þˇžþ×=ýšÞć ==K==K==K==K==K==K==KNT
jšÞć=þˇ¹Ý³ŽKI=Ò¹²˛ÞþŁð¦ =K==K==K==K==K==K==K==KOS
Í¦Þ¦ý˛ÝşÞŞš=×˛¹¹²þČÞ¦Č =K==K==K==K==K==K==K==K==V
Í¦Þ¦ý˛ÝşÞ˛Č=Þ˛×³ŽÞ˛Č=²šý−K K==K==K==K==K==KOT
ÍþŠ³ÝČ¾¦Č=Þ˛¹þ¹˛=ðþ²Ý˛ K==K==K==K==K==K==K==K==KOR
ÍþŠ³Ýş=ł¦Š×˛ŁK=¹²×šÝð¦=tjNM==K==K==K==K==K==U
ÍþŠ³Ýş=¹ýš¹¦²šÝČ=jjNMK==K==K==K==K==K==K==K==K==U
ÍþÞ²˛Ž==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KNN

Î
Î˛×³ŽÞ˛Č=²šý−š×˛²³×˛I=−þÞ¦ŽšÞÞ˛Č=K==KOS
Îš¦¹−×˛ŁÞþ¹²şI=ýšÞć=þˇ¹Ý³ŽK=‚¦˛łÞK K==KQO
Îþ₣Þþš=−þÞ¦ŽšÞ¦š=²šý−š×˛²³×Ş==K==K==K==KPV

Ï
�Ïˇİ÷ý=−þ¹²˛Łð¦ =K==K==K==K==K==K==K==K==K==K==K==K==K==S
Ï²ðÝć₣šÞ¦š K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KON
Ï²þˇ×K=˛×¼¦Ł˛=Þš¦¹−×˛ŁÞK =K==K==K==K==K==K==K==KQO
Ï²þˇ×˛ŽšÞ¦š=Łš×¹¦Ð K==K==K==K==K==K==K==K==K==K==KRO
Ï²þˇ×K=ŠšÐ¹²Ł¦²šÝşÞŞ¼=žÞ˛₣K =K==K==K==K==K==KQN
Ï²þˇ×˛ŽšÞ¦šL¹ˇ×þ¹=¹þþˇğšÞ¦Ð=ç=
Þšþˇ¼þŠ¦ýþ¹²¦=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦Č K==K==K==KRP
Ï²ðÝK=¦ÞŠ¦ð˛¾¦¦=×˛žþŁþÐ=ž˛ł×³žð¦ =K==K==KPS
l²ðÝK=ĆÝšð²×þ−¦²˛Þ¦Č =K==K==K==K==K==K==K==K==K==KOQ
Ï²þ−¦²šÝşÞ˛Č=ð×¦Ł˛Č

� -³ð˛ž˛Þ¦Č=−þ=³¹²˛ÞþŁðš=K==K==K==K==K==K==K==KPT
Ï²þ−¦²šÝşÞŞÐ=ðþÞ²³×

� -ýšÞć=þˇ¹Ý³ŽK=³¹²˛ÞþŁð¦=K==K==K==K==K==K==KOV
� -Þš¹ðþÝşðþ=þ²þ−¦²šÝşÞŞ¼=ðþÞ²³×þŁ==KNM

-³¹²˛ÞþŁð~ =K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOR

Ì
Ì˛×˛ýš²×Ş=łšÝ¦þðþÝÝšð²þ×˛I=ýšÞć=
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 64
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þˇ¹Ý³ŽK=³¹²˛ÞþŁð¦ =K==K==K==K==K==K==K==K==K==K==K==KQS
Ì˛×˛ýš²×Ş=ðþ²Ý˛I=ýšÞć=þˇ¹Ý³ŽK=
³¹²˛ÞþŁð¦=K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOU
Ì˛×˛ýš²×Ş=³¹²˛ÞþŁð¦I=ýšÞć=þˇ¹Ý³ŽK=
³¹²˛ÞþŁð¦=K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOR
Ìš×šŠ˛₣˛=þˇþ×³ŠþŁ˛Þ¦Č K==K==K==K==K==K==K==K==KOP
ÌþłþŠÞþš=×šł³Ý¦×þŁ˛Þ¦šK==K==K==K==K==K==K==K==KPS
ÌþŠðÝć₣šÞ¦š=K==K==K==K==K==K==K==K==K==K==K==K==K==K==KNN
ÌþÞ¦ŽšÞ¦š=Þ˛×³ŽÞþÐ=²šý−š×˛²³×ŞK==K==KOS
ÌþČ¹ÞšÞ¦Č=ð=¹¦ýŁþÝ˛ý K==K==K==K==K==K==K==K==K==K==R
Ì×š×Ł˛²ş=−þÞ¦ŽšÞ¦š=Ež˛ğ¦²˛=þ²=
ž˛ýš×ž˛Þ¦ČF K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KQN
Ì×¦ýšÞšÞ¦š=−þ=Þ˛žÞ˛₣šÞ¦ć=K==K==K==K==K==K==K==S
Ì×¦þ×¦²š²=−×¦łþ²þŁK=łþ×Č₣šÐ=ŁþŠŞ=K OV¥PR
Ì×þł×K=−š×šðÝć₣šÞ¦ČI=þ−²¦ý¦ž˛¾¦Č OV¥PR
Ì×þ¹ýþ²×=˛×¼¦Ł˛=Þš¦¹−×˛ŁÞþ¹²šÐ ==K==K==KRN
Ì³Ýş²=³−×˛ŁÝšÞ¦Č

� -þŠ¦Þ=Ł=¹¦¹²šýš==K==K==K==K==K==K==K==K==K==K==K==KNM
� -Þ˛ŁšĞ¦Ł˛Þ¦š=¦=¹ÞČ²¦š =K==K==K==K==K==K==K==KNO
� -ŠÝČ=þ²þ−¦²šÝşÞþłþ=ðþÞ²³×˛ ==K==K==K==K==KOV
� -−×¦¹ŁþšÞ¦š=Ł=−×þł×˛ýýš=K==K==K==K==K==K==KPS

Ì³¹ð=Ł=Ćð¹−Ý³˛²˛¾¦ć K==K==K==K==K==K==K==K==K==K==KNV

Ó
Ó˛¹₣š²Þ˛Č=²šý−š×˛²³×˛ =K==K==K==K==K==K==K==K==KPT
Óšł³Ý¦×þŁ˛Þ¦š=Ł=ž˛Ł¦¹¦ýþ¹²¦=þ²=
Þ˛×³ŽÞþÐ=²šý−š×˛²³×Ş ==K==K==K==K==K==K==K==K==KPM
Óšł³Ý¦×þŁ˛Þ¦=−×¦=³₣˛¹²¦¦=ŁÞšĞÞšÐ=
²šý−š×˛²³×Ş==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KPS
ÓšŽ¦ý=þ²ðÝć₣šÞ¦Č K==K==K==K==K==K==K==K==K==K==K==KPV
ÓšŽ¦ý=−þÞ¦ŽšÞÞþłþ=ĆÞš×łþ−þ²×šˇÝK =K==KPV
ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=Ł=
−þýšğšÞ¦¦==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KPV
ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=ŁÞÉ=
−þýšğšÞ¦Č ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KPV
ÓšŽ¦ý=−þ¹²þČÞÞþÐ=²šý−š×˛²³×Ş=
Þ˛×³ŽÞþłþ=ŁþžŠ³¼˛=K==K==K==K==K==K==K==K==K==K==K==KPO
Óš½š×ÉÞ²ÞçÉ=−þýšğšÞ¦É==K==K==K==K==K==K==K==K==V

Ô
Ôˇ×þ¹I=ýšÞć=þˇ¹Ý³Ž¦Ł˛Þ¦Č =K==K==K==K==K==K=RR
ÔŁš²þŠ¦þŠ=×˛žþłþ=þ²ðÝć₣šÞ¦Č==K==K==KOP¥QR
Ôýš¹¦²šÝşK==K==K==K==K==K==K==K==K==K==K==K==K==K==KOV¥PR
Ô³Ğð˛=−þÝ˛ =K==K==K==K==K==K==K==K==K==K==K==K==K==KOV¥PR

Ò
Òš−Ýçšýðþ¹²ş K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOS
Òš−Ýþ¦žþÝČ¾¦Č=žŠ˛Þ¦Č K==K==K==K==K==K==K==K==K==KOP
Ò¦−=žŠ˛Þ¦Č ==K==K==K==K==K==K==K==K==K==K==K==K==K==K==K==KOS
Òšý−š×˛²³×˛=−þŠ˛ćğšÐ=Ý¦Þ¦¦ ==K==K==K==K==KPT
Òš×ý¦₣š¹ð˛Č=Ššž¦Þ½šð¾¦Č ==K==K==K==K==KQP¥QR
Òš¹²¦×þŁ˛Þ¦š=ðþý−þÞšÞ²þŁ =K==K==K==K==K==K==KQV
Òš¼Þ¦₣š¹ð¦š=¼˛×˛ð²š×¦¹²¦ð¦==K==K==K==K==K==K==T
Òš¼Þ¦₣š¹ðçš=þˇ¹Ý³ŽKI=ýšÞć=þˇ¹Ý³ŽK =K==KRP

Ò
Òð˛ž˛Þ¦Č=−þ=²š¼Þ¦ðš=ˇšžþ−˛¹Þþ¹²¦ K==K==K==Q
Ò¹²˛ÞþŁð˛=ł¦Š×˛ŁÝ¦₣š¹ðþÐ=¹²×šÝð¦ ==K==KOR
Ò¹²˛ÞþŁð˛=¦Þ²š×Ł˛Ý˛=²š¼þˇ¹Ý³Ž¦Ł˛Þ¦ČRP
Ò¹²˛ÞþŁð˛=ýþŠ³ÝČ=łšÝ¦þðþÝÝšð²þ×˛==K==KOR
Ò¹²˛ÞþŁð˛=ČžŞð˛ =K==K==K==K==K==K==K==K==K==K==K==K==KOR
Ò¹²×˛ÞšÞ¦š=Þš¦¹−×˛ŁÞþ¹²šÐ K==K==K==K==K==K==KRS
Ò¹²×þÐ¹²Ł˛=Þ˛=Ğ¦Þš=bjp ==K==K==K==K==K==K==K==KOQ

Ú
Ú³Þð¾¦þÞ˛ÝşÞŞÐ=²š¹²I=ýšÞć=
þˇ¹Ý³ŽK‚¦˛łÞþ¹²¦ð˛==K==K==K==K==K==K==K==K==KQV¥RN

Û
Û˛×˛ð²š×¦¹²¦ð¦=²šý−K=Š˛²₣¦ð˛==K==K==K==K==K==T

ı
ıšð�Ý¦¹²I=−˛×˛ýš²×Ş=ŁŁþŠ˛=Ł=
Ćð¹−Ý³˛²˛¾¦ć =K==K==K==K==K==K==K==K==K==K==K==K==K==KOM

˚
˚ÝšýšÞ²Ş=³−×˛ŁÝšÞ¦ČI=þˇžþ× =K==K==K==K==K==KNQ

Ù
Ù¦×ð³ÝČ¾¦Č =K==K==K==K==K==K==K==K==K==K==K==K==K==KQP¥QR
Ì³Ýş²=³−×˛ŁÝšÞ¦Č=o`PR=�=Ï¹²˛ŁÝČšý=ž˛=¹þˇþÐ=−×˛Łþ=Þ˛=¦žýšÞšÞ¦Č> 65
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ÏÏÏ=…fl³Šš×³¹=Ï²þ−¦²šÝşÞ˛Č=Òš¼Þ¦ð˛Ÿ=

NNROMN=Íþ¹ðŁ˛I=³ÝK=Ëþ²ÝČðþŁ¹ð˛ČI=P
ÒšÝš½þÞ=EMVRF=RNM�PP�NM
Ú˛ð¹======EMVRF=RNM�PP�NN

NVUMVR=Ô˛Þð²�Ìš²š×ˇ³×łI=³ÝK=ˆŁš¾þŁ˛I=QNI=ðþ×−K=NR
ÒšÝš½þÞ=EUNOF=QQV=NT=RM
Ú˛ð¹======EUNOF=QQV=NT=RN

QOMMUT=Ë˛ž˛ÞşI=³ÝK=ÓþŠ¦Þ˛I=T
ÒšÝš½þÞ=EUQPF=OTR=UM=UP=
Ú˛ð¹======EUQPF=OTR=UM=UQ

SPMMNR=ÎþŁþ¹¦ˇ¦×¹ðI=³ÝK=·þłþÝČI=OOQ
ÒšÝš½þÞLÚ˛ð¹=EPUPF=OTV=PN=QU=

SOMMRM=„ð˛²š×¦Þˇ³×łI=³ÝK=ÍþÞ²˛ŽÞ¦ðþŁI=Q
ÒšÝš½þÞ=EPQPF=PTP�QU�NN
Ú˛ð¹======EPQPF=PTP�QU�NO

OT

=NP=
QQPMPM=Ô˛ý˛×˛I=³ÝK=Íš₣Þ¦ðþŁ˛I=ŠKNI=þ½¦¹=P
ÒšÝš½þÞLÚ˛ð¹=EUQSF=VOS�RS�TV=

PRMMMN=Ë×˛¹ÞþŠ˛×I=³ÝK=‡¦ĞÞČðþŁþÐI=NI=þ½¦¹
ÒšÝš½þÞLÚ˛ð¹=EUSNF=OSU=MV=QS
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